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HOW  TO  PREPARE  FOR  THE  RESONANCE FARWARD ADMISSION & SCHOLARSHIP TEST (RESONET) 

 

 
 For Class-X appearing / passed students  (Class-X to Class-XI Moving)  : 

 

 

 Study  thoroughly the books of Science (Physics & Chemistry) and Biology of Classes  

IX & X. (NCERT & Respective Board) 

 

 

  

 

 For Class-XI appearing / passed students (Class-XI to Class-XII Moving) :  

 

 1. Study thoroughly the books of Physics, Chemistry and Biology of Class XI (Respective 

Board). 

 

 2. Refer to the following books (only Class-XI syllabus) to increase the level of competence: 

 

   For Physics : Concepts of Physics by H.C. Verma Vol. I & II 

 

    For Chemistry : NCERT Books 

 

   For Biology : NCERT Books  

 

 For Class-XII appearing / passed students  (Class-XII to Class-XIII Moving) : 

 

 1. Study thoroughly the books of Physics, Chemistry and Biology of Classes XI & XII  

  (Respective Board). 

 

 

 2. Refer to the following books (Class-XI & Class-XII syllabus) to increase the level of  

  competence : 
 

 

     For Physics : Concepts of Physics by H.C. Verma Vol-I & II 

   For Chemistry : Physical Chemistry By R.K. Gupta, Organic Chemistry By  Morrison  

   & Boyd, Organic Chemistry By I. L. Finar, Inorganic Chemistry By J.D. Lee, Objective  

   Chemistry By Dr. P. Bahadur 

  For Biology : NCERT Books, Trumen’s Elementary Biology, USS Biology 
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GENERAL INSTRUCTIONS IN THE EXAMINATION HALL  
(ijh{kk Hkou ds fy, lkekU; funs Z'k )      

 
 

1. This booklet is your Question Paper. ¼;g iqfLrdk vkidk iz'u&i=k gS½ 

2. The Question Paper Code is printed on the top right corner of this sheet. ¼iz'u&i=k dksM bl i`"B ds Åij nk;sa dksus esa 

Nik gqvk gS½  

3. Blank papers, clip boards, log tables, slide rule, calculators, mobile or any other electronic gadgets in any form are 

not allowed to be used. ¼[kkyh dkxt] fDyi cksMZ] y?kqx.kd lkj.kh] LykbM :y] dSYdqysVj] eksckby ;k vU; fdlh bySDVªWkfud 

midj.k ds fdlh Hkh :i esa mi;ksx dh vkKk ugha gS½  

4. Write your Name & Application Form Number in the space provided in the bottom of this booklet. (bl i`"B ds uhps 

fn;s x;s fjDr LFkku esa viuk uke o vkosnu QkWeZ la[;k vo'; Hkjsa½ 

5. Before answering the paper, fill up the required details in the blank space provided in the Objective Response Sheet. 

(iz'u-i=k gy djus ls igys]ORS-'khV esa fn;s x;s fjDr LFkkuksa esa iwNs x;s fooj.kksa dks Hkjsa½ 

6. Do not forget to mention your paper code and Application Form Number neatly and clearly in the blank space 

provided in the Objective Response Sheet (ORS) / Answer Sheet. ¼mÙkj&iqfLrdk esa fn;s x;s fjDr LFkku esa vius iz'u&i=k 

dk dksM o viuk vkosnu QkWeZ la[;k Li"V :i ls Hkjuk uk Hkwysa½ 

7. No rough sheets will be provided by the invigilators. All the rough work is to be done in the blank space provided in the question 

paper.  ¼fujh{kd ds }kjk dksbZ jQ 'khV ugha nh tk;sxhA jQ dk;Z iz'u&i=k esa fn;s x;s [kkyh LFkku esa gh djuk gS½  

8. No query related to question paper of any type is to be put to the invigilator.  

 ¼fujh{kd ls iz'u&i=k ls lEcfU/kr fdlh izdkj dk dksbZ iz'u uk djsas½  
 

Question Paper Pattern & Marking Scheme (ç’'u&i=k dk izk:i ,oa vadu ;kstuk) 
 

9. Marks distribution of questions is as follows.  ¼iz'uksa ds izkIrkadks dk fooj.k fuEu izdkj ls gSA½ 
 

SAKSHAM (MA) 

S.No. Subject Nature of Questions 
Marks to be awarded 

No. of Questions Correct Wrong Total 

1 to 25 PART-I  (Biology) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 25 4 –1 100 

26 to 50 PART-II  (Maths) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 25 4 –1 100 

51 to 65 PART-III  (Physics) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 15 4 –1 60 

66 to 80 PART-IV (Chemistry) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 15 4 –1 60 

81 to 100 PART-V (Mental Ability) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 20 4 –1 80 

    Total 100   400 
 

SAMBHAV (MF) 

S.No. Subject Nature of Questions 
Marks to be awarded 

No. of Questions Correct Wrong Total 

1 to 40 PART-I  (Biology) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 40 4 –1 160 

41 to 60 PART-II (Physics) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 20 4 –1 80 

61 to 80 PART-III (Chemistry) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 20 4 –1 80 

81 to 100 PART-IV (Mental Ability) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 20 4 –1 80 

    Total 100   400 

 

SAMPOORN (MD) 

S.No. Subject Nature of Questions 
Marks to be awarded 

No. of Questions Correct Wrong Total 

1 to 40 PART-I (Biology) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 40 4 –1 160 

41 to 70 PART-II  (Physics) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 30 4 –1 120 

71 to 100 PART-III (Chemistry) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 30 4 –1 120 

    Total 100     400 

 

Name : ______________________   Application Form Number : _______________  
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     Syllabus of ResoNET 

  

 

CLASS X TO XI MOVING STUDENT  
 

CHEMISTRY (FROM CLASS – IX) 
Matter in our surroundings, is matter around us pure, Atoms and 

molecules, Structure of atom. 

 

BIOLOGY (FROM CLASS – IX) 
The Fundamental Unit of Life(Cell), Tissue, Improvement in Food 

Resources,, Diversity, Diseases, Natural Resurces 

 

PHYSICS (FROM CLASS – IX) 
Motion, Force and newton’s laws, Gravitation, Fluid, Work, energy 

and power, Wave motion and sound. 

 

MATHEMATICS (FROM CLASS – IX) 
Number system, Polynomials, Coordinate geometry, Lines and 

angles, Congruent triangles, Heron’s formula, Linear equation in 

two variables, Quadrilaterals, Area of parallelograms, Triangles, 

circles, Surface area and volume, Statistics, probability. 

 

MENTAL ABILITY 
Number-series, alphabet-series, Missing term in figures, Coding-

decoding, Direction, Sense test, Seating arrangement, Puzzle 

test, Syllogism, Calendar test, Dice test. 

 

CLASS XI TO XII MOVING STUDENT  

 

BIOLOGY (FROM CLASS - X) 
Nutrition in plants & Animals, Respiration in plants & Animals, 

Excretion in plants & Animals, Transportation in plants & Animals, 

Genetics (Heredity & Variation), Evolution, Ecology (our 

environment), Natural resources, Reproduction in plants & 

Animals. 

 

PHYSICS (FROM CLASS – X) 
Electricity, Magnetic Effect of Current and EMI, Light 

 

CHEMISTRY (FROM CLASS - X) 
Chemical Reactions and equations, Acids, Bases and Salts, 

Metals and Non-metals, Carbon and its compounds, Periodic 

classification of elements 

 

MENTAL ABILITY 
Number-Series, Alphabet-Series, missing term in figures, Coding-

Decoding, Direction Sense Test, Seating Arrangement, Puzzle 

Test, Syllogism, Calendar Test, Dice Test 

 

CLASS XII APPEARED/PASSED 

 
CLASS - X (CHEMISTRY) 

Basic : Cooling by evaporation. Absorption of heat. All things 
accupy space, possess mass. Definition of matter ; Elementary 
idea about bonding. 
 

Solid, liquid and gas : characteristics-shape, volume, density; 
change of state - melting, freezing, evaporation, condensation, 
sublimation. 
 

Elements, compounds and mixtures :Heterogeneous and 
homogeneous mixtures; Colloids and suspension. 
 

Mole concept : Equivalence - that x grams of A is chemically not 
equal to x grams of B ; Partical nature, basic units : atoms and 
molecules ; Law of constant proportions ; Atomic and molecular 
masses;Relationship of mole to mass of the particles and 
numbers ; Valency ; Chemical formulae of common compounds. 
 

Atomic structure : Atoms are made up of smaller particles : 
electrons, protons, and neutrons. These smaller particles are 
present in all the atoms but their numbers vary in different atoms. 
Isotopes and isobars. 
 

Gradations in properties : Mendeleev periodic table. 
 

Acids, bases and salts : General properties, examples and 
uses. 
Types of chemical reactions : Combination, decomposition, 
displacement, double displacement, precipitation, neutralisation, 
oxidation and reduction in terms of gain and loss of oxygen and 
hydrogen. 
 

Extractive metallurgy : Properties of common metals ; Brief 
discussion of basic metallurgical processes. 
 

Compounds of Carbon : Carbon compounds ; Elementary idea 
about bonding ; Saturated hydrocarbons, alcohols, carboxylic 
acids  (no preparation, only properties).Soap - cleansing action of 
soap. 
 

CLASS - X (BIOLOGY) 

Nutrition in plants & Animals, Respiration in plants & Animals, 
Excretion in plants & Animals, Transportation in plants & Animals, 
Genetics (Heredity & Variation), Evolution, Ecology (our 
environment), Natural resources, Reproduction in plants & 
Animals. 
 
CLASS - X (PHYSICS) 

Mechanics : Uniform and non-uniform motion along a straight 
line ; Concept of distance and displacement, Speed and velocity, 
accelaration and relation ship between these ; Distance-time and 
velcocity - time graphs. 
Newton’s Law of motion ; Relationship between mass, 
momentum, force and accelaration ; work done by a force ; Law 
of conservation of energy. 
Law of gravitation ; acceleration due to gravity. 
 
Electricity and magnetism : Ohm’s law ; Series and parallel 
combination of resistances ; Heating effect of current. 
 

Magnetic field near a current carrying straight wire, along the axis 
of a circular coil and inside a solenoid ; Force on current carrying 
conductor ; Fleming’s left hand rule ; Working of electric motor ; 
Induced potential difference and current  
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Electric generator : Principle and working ; Comparision of AC 
and DC ; Domestic electric circuits.  
 

Optics :  Rectilinear propagation of light ; Basic idea of 
concave mirror and convex lens ; Laws of refraction  ; Dispersion. 
 

CLASS - XI (CHEMISTRY) 
 

Some Basic Concepts of Chemistry : Particulate nature of 
matter, laws of chemical combination, Dalton’s atomic theory : 
concept of elements, atoms and molecules. 
Atomic and molecular masses. Mole concept and molar mass ; 
percentage composition and empirical and molecular formula ; 
chemical reactions, stoichiometry and calculations based on 
stoichiometry. 
Structure of Atom : Discovery of electron, proton and neutron ; 
atomic number, isotopes and isobars.  
Thompson’s model and its limitations, Rutherford’s model and its 
limitations, concept of shells and sub-shells, dual nature of matter 
and light, de Broglie’s relationship, Heisenberg uncertainty 
principle, concept of orbitals, quantum numbers, shapes of s, p, 
and d orbitals, rules for filling electrons in orbitals - Aufbau 
principle, Pauli exclusion principle and Hund’s rule, electronic 
configuration of atoms, stability of half filled and completely filleld 
orbitals. 
Classification of Elements and Periodicity in Properties : 
Significance of classification, brief history of the development of 
periodic table, trends in properties of elements - atomic radii, ionic 
radii, inert gas radii, ionization enthalpy, electron gain enthalpy, 
electronegativity, valence. 
 
Chemical Bonding and Molecular Structure : 
Valence electrons, ionic bond, covalent bond, bond parameters, 
Lewis structure, polar character of covalent bond, covalent 
character of ionic bond, valence bond theory, resonance, 
geometry of covalent molecules, VSEPR theory, concept of 
hybridization involving s, p and d orbitals and shapes of some 
simple molecules, 
molecular orbital theory of homonuclear diatomic molecules 
(qualitative idea only), hydrogen bond. 
 
States of Matter : Gases and Liquids : 
Three states of matter, intermolecular interactions, type of 
bonding, melting and boiling points, role of gas laws in elucidating 
the concept of the molecule, Boyle’s law, Charles’ law, Gay 
Lussac’s law, Avogadro’s law, ideal behavior, empirical derivation 
of gas equation, Avogadro’s number ideal gas equation, deviation 
from ideal behaviour, Liquefaction of gases, critical temperature. 
Liquid State - Vapour pressure, viscosity and surface tension  
(qualitative idea only, no mathematical derivations) 
Thermodynamics : 
Concepts of system, types of systems, surroundings, work, heat, 
energy, extensive and intensive properties, state functions. 
First law of thermodynamics - internal energy and enthalpy, heat 

capacity and specific heat, measurement of U and H, Hess’s 
law of constant heat summation, enthalpy of bond dissociation,  
combustion, formation, atomization sublimation, phase transition, 
ionization, and dilution. 
Introduction of entropy as a state function, free energy change for 
spontaneous and non-spontaneous process, equilibrium. 
  
Equilibrium : Equilibrium in physical and chemical processes,  
dynamic nature of equilibrium, law of mass action, equilibrium  
constant, factors affecting equilibrium - Le Chatelier’s principle ; 
ionic equilibrium - ionization of acids and bases, strong and weak 
electrolytes, degree of ionization concept of pH. Hydrolysis of 
Salts (elementary idea), buffer solutions, solubility product, 
common ion effect (with illustrative examples). 
Redox Reactions : Concept of oxidation and reduction, redox 
reactions, 
oxidation number, balancing redox reactions, applications of 
redox reaction. 
 

Hydrogen : Position of hydrogen in periodic table, occurrence, 
isotopes, preparation, properties and uses of hydrogen ; hydrides 
- ionic, covalent and interstitial ; physical and chemical properties 
of water, heavy water ; hydrogen peroxide - preparation, reactions 
and structure ; hydrogen as a fuel. 
 
s-Block Elements (Alkali and Alkaline Earth Metals) : 
Group 1 and Group 2 elements : 
General introduction, electronic configuration, occurrence, 
anomalous properties of the first element of each group, diagonal 
relationship, trends in the variation of properties (such as 
ionization enthalpy, atomic and ionic radii), trends in chemical 
reactivity with oxygen, water, hydrogen and halogens ; uses. 
  
Preparation and properties of some important compounds  
Sodium carbonate, sodium chloride, sodium hydroxide and 
sodium hydrogen carbonate  
CaO, CaCO

3
, and industrial use of lime and limestone, Ca. 

 
General Introduction to p-Block Elements : 
Group 13 elements : General introduction, electronic 
configuration, occurrence, variation of properties, oxidation 
states, trends in chemical reactivity, anomalous properties of first 
element of the group ;  
Boron - physical and chemical properties, some important 
compounds ; borax,  boric acids, boron hydrides. Aluminium : 
uses, reactions with acids and alkalies. 
Group 14 elements ; General introduction, electronic 
configuration, occurrence, variation of properties, oxidation 
states, trends in chemical reactivity, anomalous behaviour of first 
element. Carbon - catenation, allotropic forms, physical and 
chemical propeties ; uses of some important compounds : oxides. 
Important compounds of silicon and a few uses : silicon 
tetrachloride, silicones, silicates and zeolites. 
Principles of qualitative analysis : Determinantion of one anion 
and one cation in a given salt 
Cations - Pb2 + , Cu2+, As3+, Al3+, Fe3+, Mn2+, Ni2 +, Zn2+, Co2+, Ca2+, 
Sr2+, Ba2+, Mg2+,  
Anions -  (Note : Insoluble salts excluded) 
 

Organic chemistry - Some Basic Principles and Techniques  
General introduction, methods of purification, qualitative and  
quantitative analysis, classification and IUPAC nomenclature of  
organic compounds. 
Electronic displacements in a covalent bond : free radicals, 
carbocations, carbanions ; electrophiles and nucleophiles, types 
of organic reactions 
 
Classification of Hydrocarbons : Alkanes : Nomenclature,  
isomerism, conformations (ethane only), physical propeties,  
chemical reactions including free radical mechanism of  
halogenation, combustion and pyrolysis. 
 

Alkenes : Nomenclatures, structure of double bond (ethene),  
geometrical isomerism, physical properties, methods of 
preparation ; chemical reactions : addition of hydrogen, halogen, 
water, hydrogen halides (Markovnikov’s addition and peroxide 
effect),  
ozonolysis, oxidation, mechanism of electrophilic addition. 
 
Alkynes : Nomenclature, structure of triple bond (ethyne), 
physical properties, methods of preparation, chemical reactions : 
acidic  
character of alkynes, addition reaction of - hydrogen, halogens, 
hydrogen halides and water. 
 
Aromatic hydrocarbons : Introduction, IUPAC nomenclature ;  
Benzene : resonance, aromaticity ; chemical properties : 
mechanism of electrophilic substitution - nitration sulphonation, 
halogenation, Friedel Craft’s alkylation and acylation ; directive 
influence of functional group in mono-substituted benzene ; 
carcinogenicity and toxicity. 
 

mailto:contact@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


 

 

 

Reg. & Corp. Office :  CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 
 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH122 # 6 

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
 

SAMPLE TEST PAPER 
 

CLASS - XI (BIOLOGY) 

Zoology:  
Living world, Animal kingdom, Structural Organisation in Animals, 
Biomolecules, Digestion & Absorption, Breathing & Exchange of 
gases  
 
Body Fluids and Circulation, Excretory products and their 
Elimination, Locomotion and Movement, Neural control and 
coordination, Chemical coordination and Integration 

 
Botany:  
Biological Classification–Kingdom – Monera, Protista, Fungi, 
Virus, Plant Kingdom– Algae, Bryophytes, Pteridophytes, 
Gymnosperms, Angiosperms, Plant Morphology - Root , Stem , 
leaves, Inflorescence , Flower , Fruit,  Seed. Families - 
Solanaceae, Liliaceae , Fabaceae, Plant Anatomy - Anatomy of 
Tissues, Tissue system , Anatomy of Root , Stem , Leaves, 
Secondary Growth, Cell Biology — Cell Structure & Functions , 
Cell Division, Plant Physiology — Transport in Plants , Mineral 
nutrition , Respiration , Photosynthesis , Plant growth & 
development . 
 

CLASS - XI (PHYSICS) 
 

General : Units and dimensions, dimensional analysis; least 
count, significant figures; Methods of measurement and error 
analysis for physical quantities pertaining to the following 
experiments: Experiments based on using Vernier calipers and 
screw gauge (micrometer), Determination of g using simple 
pendulum, Young’s modulus by Searle’s method.  
 

Mechanics : Kinematics in one and two dimensions (Cartesian  
coordinates only), projectiles; Uniform Circular motion; Relative  
velocity.  
 

Newton’s laws of motion; Inertial and uniformly accelerated 
frames of reference; Static and dynamic friction; Kinetic and 
potential energy; Work and power; Conservation of linear 
momentum and mechanical energy.  
 

Systems of particles; Centre of mass and its motion; Impulse; 
Elastic and inelastic collisions.   
 

Law of gravitation; Gravitational potential and field; Acceleration 
due to gravity; Motion of planets and satellites in circular orbits; 
Escape velocity.  
 

Rigid body, moment of inertia, parallel and perpendicular axes  
theorems, moment of inertia of uniform bodies with simple  
geometrical shapes; Angular momentum; Torque; Conservation 
of angular momentum; Dynamics of rigid bodies with fixed axis of 
rotation; Rolling without slipping of rings, cylinders and spheres; 
Equilibrium of rigid bodies; Collision of point masses with rigid 
bodies.  
 
 

Linear and angular simple harmonic motions.  
 

Hooke’s law, Young’s modulus.  
 

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and 
surface tension, capillary rise; Viscosity (Poiseuille’s equation  
excluded), Stoke’s law; Terminal velocity, Streamline flow, 
equation of continuity, Bernoulli’s theorem and its applications.  
 

Waves : Wave motion (plane waves only), longitudinal and  
transverse waves, superposition of waves; Progressive and 
stationary waves; Vibration of strings and air 
columns;Resonance; Beats; Speed of sound in gases; Doppler 
effect (in sound).  
 

Thermal physics : Thermal expansion of solids, liquids and 
gases; Calorimetry, latent heat; Heat conduction in one 
dimension; Elementary concepts of convection and radiation; 
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and 
Cp for monoatomic and diatomic gases); Isothermal and adiabatic 
processes, bulk modulus of gases; Equivalence of heat and work; 

First law of thermodynamics and its applications (only for ideal 
gases);  Blackbody radiation: absorptive and emissive powers; 
Kirchhoff’s law; Wien’s displacement law, Stefan’s law.  
 

CLASS - XII (CHEMISTRY) 
 

Physical Chemistry 
General topics : Concept of atoms and molecules; Dalton’s 
atomic theory; Mole concept; Chemical formulae; Balanced 
chemical equations; Calculations (based on mole concept) 
involving common oxidation-reduction, neutralisation, and 
displacement reactions; Concentration in terms of mole fraction, 
molarity, molality and normality. 
 

Gaseous and liquid states : Absolute scale of temperature, ideal 
gas equation; Deviation from ideality, van der Waals equation; 
Kinetic theory of gases, average, root mean square and most 
probable velocities and their relation with temperature; Law of 
partial pressures; Vapour pressure; Diffusion of gases. 
Atomic structure and chemical bonding :  Bohr model, 
spectrum of hydrogen atom, quantum numbers; Wave-particle 
duality, de Broglie hypothesis; Uncertainty principle; Qualitative 
quantum mechanical picture of hydrogen atom, shapes of s, p and 
d orbitals; Electronic configurations of elements (up to atomic 
number 36); Aufbau principle; Pauli’s exclusion principle and 
Hund’s rule; Orbital overlap and covalent bond; Hybridisation 
involving s, p and d orbitals only; Orbital energy diagrams for 
homonuclear diatomic species;  Hydrogen bond; Polarity in 
molecules, dipole moment (qualitative aspects only); VSEPR 
model and shapes of molecules (linear, angular, triangular, 
square planar, pyramidal, square pyramidal, trigonal bipyramidal, 
tetrahedral and octahedral). 
 
Energetics : First law of thermodynamics; Internal energy, work 
and heat, pressure-volume work; Enthalpy, Hess’s law; Heat of 
reaction, fusion and vapourization; Second law of 
thermodynamics; Entropy; Free energy; Criterion of spontaneity. 
 
Chemical equilibrium :  Law of mass action; Equilibrium 
constant, Le Chatelier’s principle  
(effect of concentration, temperature and pressure); Significance 

of G and Go in chemical equilibrium; Solubility product, 
common ion effect, pH and buffer solutions;  Acids and bases 
(Bronsted and Lewis concepts); Hydrolysis of salts. 
 
Electrochemistry : Electrochemical cells and cell reactions; 
Standard electrode potentials; Nernst equation and its relation to 
DG; Electrochemical series, emf of galvanic cells; Faraday’s laws 
of electrolysis; Electrolytic conductance, specific, equivalent and 
molar conductivity, Kohlrausch’s law; Concentration cells. 
 
Chemical kinetics :  Rates of chemical reactions; Order of 
reactions; Rate constant; First order reactions; Temperature 
dependence of rate constant (Arrhenius equation).  
 
Solid state : Classification of solids, crystalline state, seven 
crystal systems (cell parameters a, b, c,  ), close packed structure 
of solids (cubic), packing in fcc, bcc and hcp lattices; Nearest 
neighbours, ionic radii, simple ionic compounds, point defects. 
 
Solutions : Raoult’s law; Molecular weight determination from 
lowering of vapour pressure, elevation of boiling point and 
depression of freezing point. 
 
Surface chemistry :  Elementary concepts of adsorption 
(excluding adsorption isotherms); Colloids: types, methods of 
preparation and general properties; Elementary ideas of 
emulsions, surfactants and micelles (only definitions and 
examples). 
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Nuclear chemistry :  Radioactivity: isotopes and isobars; 
Properties of  rays; Kinetics of radioactive decay (decay series 
excluded), carbon dating; Stability of nuclei with respect to proton-
neutron ratio; Brief discussion on fission and fusion reactions. 
 
Inorganic Chemistry 
 

Isolation/preparation and properties of the following non-
metals : Boron, silicon, nitrogen, phosphorus, oxygen, sulphur 
and halogens; Properties of allotropes of carbon  
(only diamond and graphite), phosphorus and sulphur. 
 

Preparation and properties of the following compounds : 
Oxides, peroxides, hydroxides, carbonates, bicarbonates, 
chlorides and sulphates of sodium, potassium, magnesium and 
calcium; Boron: diborane, boric acid and borax; Aluminium: 
alumina, aluminium chloride and alums; Carbon: oxides and 
oxyacid (carbonic acid); Silicon: silicones, silicates and silicon 
carbide;  Nitrogen: oxides, oxyacids and ammonia; Phosphorus: 
oxides, oxyacids (phosphorus acid, phosphoric acid) and 
phosphine; Oxygen: ozone and hydrogen peroxide; Sulphur: 
hydrogen sulphide, oxides, sulphurous acid, sulphuric acid and 
sodium thiosulphate; Halogens: hydrohalic acids, oxides and 
oxyacids of chlorine, bleaching powder; Xenon fluorides. 
 

Transition elements (3d series) : Definition, general 
characteristics, oxidation states and their stabilities, colour 
(excluding the details of electronic transitions) and calculation of 
spin (only magnetic moment), Coordination compounds: 
nomenclature of mononuclear coordination compounds, cis-trans 
and ionisation isomerisms, hybridization and geometries of 
mononuclear coordination compounds (linear, tetrahedral, square 
planar and octahedral). 
 

Preparation and properties of the following compounds : 
Oxides and chlorides of tin and lead; Oxides, chlorides and 
sulphates of Fe2+, Cu2+ and Zn2+; Potassium permanganate, 
potassium dichromate, silver oxide, silver nitrate, silver 
thiosulphate.  
 

Ores and minerals : Commonly occurring ores and minerals of 
iron, copper, tin, lead, magnesium, aluminium, zinc and silver.  
 

Extractive metallurgy : Chemical principles and reactions only 
(industrial details excluded); Carbon reduction method (iron and 
tin); Self reduction method (copper and lead); Electrolytic 
reduction method (magnesium and aluminium); Cyanide process 
(silver and gold). 
 
Principles of qualitative analysis : Groups I to V (only Ag+, Hg2+, 
Cu2+, Pb2+, Bi3+, Fe3+, Cr3+,  Al3+, Ca2+, Ba2+, Zn2+, Mn2+ and Mg2+); 
Nitrate, halides (excluding fluoride), sulphate and sulphide.  
 
Organic Chemistry 
 

Concepts : Hybridisation of carbon; Sigma and pi-bonds; Shapes of 
simple organic molecules; Structural and geometrical isomerism;  
Optical isomerism of compounds containing up to two asymmetric 
centres, (R,S and E,Z nomenclature excluded); IUPAC nomenclature 
of simple organic compounds (only hydrocarbons, mono-functional and 
bi-functional compounds); Conformations of ethane and butane 
(Newman projections); Resonance and hyperconjugation; Keto-enol 
tautomerism; Determination of empirical and molecular formulae of 
simple compounds (only combustion method); Hydrogen bonds: 
definition and their effects on physical properties of alcohols and 
carboxylic acids; Inductive and resonance effects on acidity and basicity 
of organic acids and bases; Polarity and inductive effects in alkyl 
halides; Reactive intermediates produced during homolytic and 
heterolytic bond cleavage;  Formation, structure and stability of 
carbocations, carbanions and free radicals.   
Preparation, properties and reactions of alkanes : 
Homologous series, physical properties of alkanes (melting 
points, boiling points and density); Combustion and halogenation 
of alkanes; Preparation of alkanes by Wurtz reaction and 
decarboxylation reactions. 
 

Preparation, properties and reactions of alkenes and alkynes : 
Physical properties of alkenes and alkynes (boiling points, density 
and dipole moments); Acidity of alkynes; Acid catalysed hydration of 
alkenes and alkynes (excluding the stereochemistry of addition and 
elimination); Reactions of alkenes with KMnO

4
 and ozone; Reduction 

of alkenes and alkynes; Preparation of alkenes and alkynes by 
elimination reactions; Electrophilic addition reactions of alkenes with 
X

2
, HX, HOX and H

2
O (X=halogen);  Addition reactions of alkynes; 

Metal acetylides. 
Reactions of Benzene : Structure and aromaticity; Electrophilic 
substitution reactions: halogenation, nitration, sulphonation, 
Friedel-Crafts alkylation and acylation; Effect of ortho, meta and 
para directing groups in monosubstituted benzenes.  
 

Phenols : Acidity, electrophilic substitution reactions 
(halogenation, nitration and sulphonation); Reimer-Tieman 
reaction, Kolbe reaction. 
 

Characteristic reactions of the following (including those 
mentioned above):  
 Alkyl halides: rearrangement reactions of alkyl carbocation, 
Grignard reactions,  nucleophilic substitution reactions;   
 

Alcohols: esterification, dehydration and oxidation, reaction with 
sodium, phosphorus halides, ZnCl2/concentrated HCl, 
conversion of alcohols into aldehydes and ketones; 
Ethers:Preparation by Williamson’s  Synthesis; Aldehydes and 
Ketones: oxidation, reduction, oxime and hydrazone formation; 
aldol condensation, Perkin reaction; Cannizzaro reaction; 
haloform reaction and nucleophilic addition reactions (Grignard 
addition);  Carboxylic acids: formation of esters, acid chlorides 
and amides, ester hydrolysis; Amines: basicity of substituted 
anilines and aliphatic amines, preparation from nitro compounds, 
reaction with nitrous acid, azo coupling reaction of diazonium 
salts of aromatic amines, Sandmeyer and related reactions of 
diazonium salts; carbylamine reaction; Haloarenes: nucleophilic 
aromatic substitution in haloarenes and substituted haloarenes 
(excluding Benzyne mechanism and Cine substitution). 
 

Carbohydrates: Classification; mono- and di-saccharides 
(glucose and sucrose); Oxidation, reduction, glycoside formation 
and hydrolysis of sucrose. 
 

Amino acids and peptides : General structure (only primary 
structure for peptides) and physical properties. 
 

Properties and uses of some important polymers : Natural 
rubber, cellulose, nylon, teflon and PVC. 
 

Practical organic chemistry : Detection of elements (N, S, 
halogens); Detection and identification of the following functional 
groups: hydroxyl (alcoholic and phenolic), carbonyl (aldehyde and 
ketone), carboxyl, amino and nitro; Chemical methods of 
separation of mono-functional organic compounds from binary 
mixtures. 
 

CLASS - XII (BIOLOGY) 

Zoology:  
Animal Reproduction – Human Reproduction, Reproductive 
Health , Evolution , Biology in Human Welfare–Human health and 
disease, Drug & Alcohol abuse, Medical Diagnostic technique , 
Biology in Human Welfare–Strategies for Enhancement in Food 
production  ,  Microbes in human welfare, Living world , Animal 
kingdom , Structural Organisation in Animals , Biomolecules, 
Digestion & Absorption, Breathing & Exchange of gases, Body 
Fluids and Circulation, Excretory products and their Elimination, 
Locomotion and Movement , Neural control and coordination, 
Chemical coordination and Integration. 
  

Botany:  
Reproduction in Flowering plants. Genetics – Heredity and variations. 
Genetics – Molecular basis of inheritance, Application Biology– Plant 
Breeding, Biotechnology Principles, Processes, applications, 
Ecology–Organism & its Environment  , Ecosystem, Ecology–
Environmental issues , Biodiversity & Conservation, Biological 
Classification–Kingdom – Monera, Protista, Fungi, Virus, Plant 
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Kingdom– Algae, Bryophytes, Pteridophytes, Gymnosperms, 
Angiosperms, Plant Morphology - Root , Stem , leaves, Inflorescence 
, Flower , Fruit,  Seed. Families - Solanaceae, Liliaceae , Fabaceae,  
Plant Anatomy - Anatomy of Tissues, Tissue system , Anatomy of 
Root , Stem , Leaves, Secondary Growth , Cell Biology — Cell 
Structure & Functions , Cell Division, Plant Physiology — Transport 
in Plants , Mineral nutrition,  Respiration , Photosynthesis , Plant 
growth & development. 
 

CLASS - XII (PHYSICS) 

General : Units and dimensions, dimensional analysis; least 
count, significant figures; Methods of measurement and error 
analysis for physical quantities pertaining to the following 
experiments: Experiments based on using Vernier calipers and 
screw gauge (micrometer), Determination of g using simple 
pendulum, Young’s modulus by Searle’s method, Specific heat of 
a liquid using calorimeter, focal length of a concave mirror and a 
convex lens using u-v method, Speed of sound using resonance 
column, Verification of Ohm’s law using voltmeter and ammeter, 
and specific resistance of the material of a wire using meter bridge 
and post office box.  
 

Mechanics : Kinematics in one and two dimensions (Cartesian 
coordinates only), Projectile Motion; Uniform Circular Motion; 
Relative Velocity.  
 

Newton’s laws of motion; Inertial and uniformly accelerated 
frames of reference; Static and dynamic friction; Kinetic and 
potential energy; Work and power; Conservation of linear 
momentum and mechanical energy.  
 

Systems of particles; Centre of mass and its motion; Impulse; 
Elastic and inelastic collisions.   
Law of gravitation; Gravitational potential and field; Acceleration 
due to gravity; Motion of planets and satellites in circular orbits; 
Escape velocity.  
 
Rigid body, moment of inertia, parallel and perpendicular axes  
theorems, moment of inertia of uniform bodies with simple 
geometrical shapes; Angular momentum; Torque; Conservation 
of angular momentum; Dynamics of rigid bodies with fixed axis of 
rotation; Rolling without slipping of rings, cylinders and spheres; 
Equilibrium of rigid bodies; Collision of point masses with rigid 
bodies.  
 

Linear and angular simple harmonic motions.  
 

Hooke’s law, Young’s modulus.  
 

Pressure in a fluid; Pascal’s law; Buoyancy; Surface energy and 
surface tension, capillary rise; Viscosity (Poiseuille’s equation 
excluded), Stoke’s law; Terminal velocity, Streamline flow, 
equation of continuity, Bernoulli’s theorem and its applications.  
 

Waves : Wave motion (plane waves only), longitudinal and 
transverse waves, superposition of waves; Progressive and 
stationary waves; Vibration of strings and air 
columns;Resonance; Beats; Speed of sound in gases; Doppler 
effect (in sound).  
 

Thermal physics : Thermal expansion of solids, liquids and 
gases; Calorimetry, latent heat; Heat conduction in one 
dimension; Elementary concepts of convection and radiation; 
Newton’s law of cooling; Ideal gas laws; Specific heats (Cv and 
Cp for monoatomic and diatomic gases); Isothermal and adiabatic 
processes, bulk modulus of gases; Equivalence of heat and work; 
First law of thermodynamics and its applications (only for ideal 
gases);  Blackbody radiation: absorptive and emissive powers; 
Kirchhoff’s law; Wien’s displacement law, Stefan’s law.  
 

Electricity and magnetism : Coulomb’s law; Electric field and 
potential; Electrical potential energy of a system of point charges 
and of electrical dipoles in a uniform electrostatic field; Electric 
field lines; Flux of electric field; Gauss’s law and its application in 
simple cases, such as, to find field due to infinitely long straight 
wire, uniformly charged infinite plane sheet and uniformly charged 
thin spherical shell.  

 

Capacitance; Parallel plate capacitor with and without dielectrics; 
Capacitors in series and parallel; Energy stored in a capacitor.  
 

Electric current; Ohm’s law; Series and parallel arrangements of 
resistances and cells; Kirchhoff’s laws and simple applications; 
Heating effect of current.  
 

Biot–Savart’s law and Ampere’s law; Magnetic field near a 
current-carrying straight wire, along the axis of a circular coil and 
inside a long straight solenoid; Force on a moving charge and on 
a current-carrying wire in a uniform magnetic field.  
Magnetic moment of a current loop; Effect of a uniform magnetic 
field on a current loop; Moving coil galvano- meter, voltmeter, 
ammeter and their conversions.  
Electromagnetic induction: Faraday’s law, Lenz’s law; Self and 
mutual inductance; RC, LR and LC circuits with d.c. and a.c. 
sources.  
 

Optics: Rectilinear propagation of light; Reflection and refraction 
at plane and spherical surfaces; Total internal reflection; 
Deviation and dispersion of light by a prism; Thin lenses; 
Combinations of mirrors and thin lenses; Magnification.   
 

Wave nature of light: Huygen’s principle, interference limited to 
Young’s double-slit experiment. 
 

Modern physics : Atomic nucleus; Alpha, beta and gamma 
radiations; Law of radioactive decay;  Decay constant; Half-life 
and mean life; Binding energy and its calculation; Fission and 
fusion processes; Energy calculation in these processes.  
Photoelectric effect; Bohr’s theory of hydrogen-like atoms; 
Characteristic and continuous X-rays, Moseley’s law; de Broglie 
wavelength of matter waves. 
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SAMPLE TEST PAPER 

(For Class-X Appearing / Passed Students) 

COURSE : SAKSHAM (MA) 01 
TARGET  AIIMS/NEET  

 
 

No. of 

Questions
Correct Wrong Total

1 to 25 PART-I  (Biology) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 25 4 –1 100

26 to 50 PART-II (Maths) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 25 4 –1 100

51 to 65 PART-III (Physics) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 15 4 –1 60

66 to 80 PART-IV  (Chemistry) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 15 4 –1 60

81 to 100 PART-V (Mental Ability) Single Choice Questions (SCQ)  (dsoy ,d fodYi lgh) 20 4 –1 80

S.No. Subject Nature of Questions
Marks to be awarded

 
 

 
 

PART - I (BIOLOGY)  Hkkx - I ¼tho foKku½ 
 

SECTION : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 


 This section contains TWENTY FIVE (25) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa iPphl (25)  iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 
 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS 

¼vFkkZr~ iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

1. ...............................is the main arena of cellular activities 

in both the plant and animal cells. Various chemical 

reactions occur in it to keep the cell in the living state.  

 (1) Nucelus   (2) Cell membrane  

 (3) Cytoplasm  (4) Deutoplasm 

 ikni rFkk tUrq dksf'kdkvksa rFkk nksuksa esas dksf'kdh; xfrfof/k;ksa 

dk eq[; LFky----------------------------------------------------------gSaA blesa gksus okyh 

fofHké jklk;fud vfHkfØ;k,sa dksf'kdk dks thfor voLFkk esa 

j[krh gSA  

 (1) dsUnzd   (2) dksf'kdk dyk  

 (3) dksf'kdk nzO;  (4) M~;wVksIykTe 

 
 

 

2. Reproductive cells (germinal epithelium) are made up of 

which of the following epithelial tissue  

 (1) Cuboidal  (2) Columnar  

 (3) Squamous      (4) Sensory  

 tuu dks’kk irZ fdl ,ihFkhfy;y Ård dh cuh gksrh gS  

 (1) ?kukdkj (Cuboidal) (2) LrEHkkdkj (Columnar)  

 (3) oxkZdkj (Circular)     (4) laosnh 
 

3. Common disease of silkworm are pebrine, is caused by 
 (1) Protozoan   (2) Virus  
 (3) Fungus   (4) Bacteria 

 js'ke dhV dk lkekU; jksx izsfcu blds }kjk gksrk gS&  

 (1) izksVktksvkWu  (2) fo"kk.kq   

 (3) QQ¡wn   (4) thok.kq  
 

4. Phylum whose organism are mostly endoparasites is  
 (1) Platyhelminthes (2) Annelida 
 (3) Arthropoda  (4) Mollusca 

 la?k ftlds vf/kdka'k tarq vUr%ijthoh gksrs gSa& 

 (1) IysVhgsfYeUFkht  (2) ,usfyMk  

 (3) vkFkzksZiksM+k   (4) EkksyLdk 
 

5.  Health is affected by 
 (1) Genetic disorders  (2) Infections   
 (3) Life style    
 (4) All 

 LokLF; izHkkfor fd;k tkrk gSA 

 (1) vuqokaf'kd fodkjksa }kjk  (2) laØe.kksa }kjk    

 (3) thoup;kZ }kjk  (4) LkHkh 
 

6. Sewage water can be purified by - 
 (1) Aquatic plant  (2) Micro organism  
 (3) Penicillin  (4) Fishes 

 lhost ty 'kqð fd;k tk ldrk gS & 

 (1) tyh; ikni }kjk (2) lw{e tho }kjk 

 (3) isfulhyhu }kjk  (4) eNyh }kjk 
 

7. 70S type of ribosomes are absent in    
 (1) Mitochondria  (2) Chlorplast 
 (3) Bacteria   (4) Rough endoplasmic reticulum 

 70S izdkj ds jkbckslksEl fdlesa vuqifLFkr gksrs gSaA 

 (1) ekbVksdkWfUMª;k  (2) DYkksjkIykLV  

 (3) cSfDVfj;k   (4) df.kdh; vUr%iznO;h tkfydk 
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8. Fluid part of blood after removal of corpuscles is   

 (1) Plasma   (2) Lymph  

 (3) Serum   (4) Vaccine 

 df.kdkvksa ds fudkyus ds ckn jä dk rjy Hkkx gksrk gS  

 (1) IykTek   (2) ylhdk  

 (3) lhje   (4) Vhdk 

9. Saccharum barberi and Saccharum officinarum are 

varieties of D 

 (1) sugar cane    (2) maize  

  (3) wheat      (4) rice   

 lsdsje ckjcsjh vkSj lsdsje vkWfQflusje fuEu dh fdLesa gSa % 

 (1) xUuk   (2) eDdk  

 (3) xsgw¡   (4) pkoy   

 

10. What is lacking in fungi 

 (1) Carotenoids  (2) Chlorophyll   

 (3) Both (1) & (2)   (4) None of these 

 dodksa esa D;k vuqifLFkr gksrk gSA   

 (1) dsjksfVukWbM~l   (2) DyksjksfQy    

 (3) mijksDr nksuksa   (4) buesa ls dksbZ ugha 

 

11. The diseases likely to  spread through blood transfusion are  

 (1) Hepatitis and AIDS   

 (2) Hay fever and AIDS  

 (3) Cholera and Hepatitis     

 (4) Diabetes mellitus and Malaria  

 jDr ds vknku&iznku (transfusion) ls gksrs gSa 

 (1) gsisVkbfVl o AIDS     

 (2) gs cq[kkj o AIDS  

 (3) dksysjk gsisVkbfVl     

 (4) MkbfcfVl eSykbVl o eysfj;k 

 

12. Major pollulant in Jet plane emission is – 

 tsV Iysu mRltZu esa eq[; iznw"kd gS & 

 (1) SO2 (2) CFC (3) CO (4) CCl4 
 

13. The cell theory states that   

 (1) All cells have nuclei     

 (2) All cells are totipotent 

 (3) Cells reproduce by mitosis    

 (4) Cells are the basic structrual units of living beings 

 dksf'kdk fl)kar }kjk lR;kfir gksrk gS 

 (1) lHkh dksf'kdkvksa esa ukfHkd ik;k tkrk gS   

 (2) lHkh dksf'kdkvksa VksVhiksVsUV gksrh gS   

 (3) dksf'kdk ekbVksfll }kjk mRié gksrh gS    

 (4) dksf'kdk tho/kkfj;ksa dh vk/kkjHkwr lajpukRed bdkbZ gS 

 

 

14. Which of the following is loose connective tissue   

 (1) Areolar   (2) Adipose  

 (3) Blood   (4) Nervous tissue 

 fuEu esa ls dkSulk <hyk la;ksth Ård gS           

 (1) ,fj;ksyj   (2) ,Mhikst  

 (3) jDr   (4) rfU=dk Ård 

 

15. "Jaya" and "Ratna" developed for green revolution in India 

are the varieties of    

 (1) Maize (2) Rice (3) Wheat (4) Bajra 

 "Hkkjro"kZ esa gfjr ØkWfr gsrq fodflr "t;k" ^rFkk* jRuk" fdldh 

fdldh fdLesa gSaA     

 (1) eDdk  (2) pkoy (3) xsg¡w  (4) cktjk  
 

16. Which one is called as horse tail    

 (1) Equisetum    (2) Pteridium    

 (3) Selaginella  (4) Isoetes 

 fdl ,d dks ?kksM+s dh iw¡N (horse tail) dgrs gSa l 

 (1) bDohlhVe   (2) VsfjfM;e   

 (3) flysftUkSyk   (4) vkblksbVht  
 

17.  Alcohol addiction is harmful because it causes 

 (1) Protein deposition in liver    

 (2) Deposition of extra fat in liver  

 (3) Rise in blood sugar level    

 (4) Cancer 

 'kjkc dk O;lu gkfudkjd gS D;ksafd blls    

 (1) ;d`r esa çksVhu dk HkaMkj.k gks tkrk gS   

 (2) ;d`r esa vfrfjDr olk dk Hk.Mkj.k gks tkrk gS  

 (3) jä esa 'kdZjk dk Lrj c<+ tkrk gS   

 (4) dSalj gks tkrk gS 
 

18. It is said that Tajmahal may be destroyed due to -  

 (1) Flood in Yamuna river          

 (2) Air pollutants released from oil refinery of Mathura 

 (3) Decomposition of marble as a result of high 

temperature  

 (4) All the above 

 ;g dgk tk jgk gSa fd rktegy u"V gks ldrk gS ftlds 

dkj.k & 

 (1) ;equk unh eas ck<+   

 (2) eFkqjk dh rsy fjQkbujh ls eqDr ok;q iznw"kdksa }kjk 

 (3) mPp rkieku ds ifj.kkeLo:i laxejej dk fo?kVu 

 (4) mijksDr lHkh 
 

19. Cell membrane's carbohydrates participate in   

 (1) Transporting substances across the membrane  

 (2) Cell to cell recognition 

 (3) Attaching the membrane to cytoskeleton  

 (4) Cell adhesion 

 dksf'kdk dyk esa mifLFkr dkcksZgkbMªsV~l Hkkx ysrs gSa  

 (1) dyk ls vkj – ikj inkFkksZa ds vkokxeu esa   

 (2) dksf'kdk ls dksf'kdk rd iquZfuekZ.k esa   

 (3) dksf'kdk dadky ls dyk ds tqM+us esa    

 (4) dksf'kdkvksa ds vk/kkj ls fpidus esa  
 

20. Inner surface of fallopian tubes, bronchi and bronchioles 

are lined by   

 (1) Squamous epithelium (2) Ciliated epithelium  

 (3) Columnar epithelium  (4) Cubical epithelium  

 Qsyksfi;u V~;wc] czksadh ,oa czksfUd;ksYl dk vkUrfjd Lrj fdlds 

}kjk vkLrfjr jgrk gS    

 (1) 'kYdh midyk Ård  (2) i{Hkh; midyk Ård  

 (3) LraHkkdkj midyk Ård (4) ?kukdkj midyk Ård 
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21. Virus free plants can be obtained through   

 (1) Shoot tip culture (2) Haploid culture  

 (3) Protoplast fusion (4) Embryo culture 

 okbjl eqDr ikni fdlds }kjk izkIr fd;s tkr ldrs gSA  

 (1) izjksg 'kh"kZ lao/kZu  (2) vxqf.kr lao/kZu   

 (3) izksVksIykWLV lay;u  (4) Hkzw.k lao/kZu 

 

22. Which is totally absent in gymnosperms  

 (1) Sieve cell  (2)  Tracheids   

 (3) Both (1) and (2) (4) Companion cells 

 dkSulk ftEuksLiElZ esa iw.kZr;k vuqifLFkr gksrk gSA  

 (1) pkyuh dksf'kdk  (2) okfgfudk,¡     

 (3) nksuksa (1) rFkk (2)  (4) lgdksf'kdk,¡  
 

23.  Passive immunity required by a person at the time of 

snake bite involves injection of- 

 (1) Antibiotics   (2) Antibodies   

 (3) Antigens   (4) Albumins 

 liZ }kjk dkVs tkus ij ,d O;fDr ds fy, vko';d fuf"Ø; 

izfrj{kk esa fdldk vUr%{ksi.k 'kkfey gksxk 

 (1) izfrtSfodks dk  (2) izfrjf{k;ksa dk   

 (3) izfrtuksa dk  (4) ,YcqfeUl dk  

 

24. Melting of the ice caps might result from - 

 (1) Depletionof ozone layer    

 (2) Excess CFC in atmosphere 

 (3) Excess CO2 in the atmosphere   

 (4) Excess water rain 

 cQhZyh Vksih;ksa dk fi?kyuk fdlds ifj.kke Lo:i gks 

ldrk gS& 

 (1) vkstksu ijr dk u"V gksuk    

 (2) ok;qe.My esa CFC dh vf/kd ek=k 

 (3) ok;qe.My esa CO2 dh vf/kd ek=k   

 (4) vf/kd ikuh dh o"kkZ 

 

25. Extranuclear DNA is found in   

 (1) Chloroplast, Mitochondria  

 (2) Ribosome   

 (3) Endoplasmic reticulum    

 (4) Golgi apparatus 

 vfrfjä ukfHkdh; DNA dgk¡ ik;k tkrk gS 

 (1) DYkksjksIykLV] ekbVksdkWfUMª;k  

 (2) jkbckslkse   

 (3) ,.MksIykfTed jsVhdqye    

 (4) xkWYxh ckWMh 

 

 

 

 

 

 

 

 

 

 

 

 

 

PART - II (MATHEMATICS)  Hkkx - II ¼xf.kr½ 
 

SECTION : (Maximum Marks : 100) 

[kaM  : (vf/kdre vad : 100) 
 This section contains TWENTY FIVE (25) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa ipkl (50)  iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

 

26. In figure, a square is inscribed in a circle of radius 28 cm. 

Then the length of the square is  

 fn;s x;s fp=k esa] ,d oxZ ,d òr ds vUnj fughr gS ftldh f=kT;k 

28 cm gSA rks ml oxZ dh yEckbZ gksxh & 
 

O 

A 

B 

C 

D 

28  

 
 (1) 16 cm   (2) 12 cm   
 (3) 10 cm   (4) 8 cm 
 

27. Arrange the given rational numbers in the ascending order  

 nh xbZ ifjes; la[;kvksa dks c<+rs Øe esa fy[ks % 

3

1
,

13

9
,

5

8
,

2

3




 

 (1) 1 9 3 8

3 13 2 5

 
  

 
 (2) 

8 3 9 1

5 2 13 3

 
  

 
 

 (3) 8 9 1 3

5 13 3 2

 
  
 

 (4) 8 3 1 9

5 2 3 13

 
  

 
 

 

28. The radii of two cylinders are in the ratio of 2:3 and their 
heights are in the ratio of 5 : 3. The ratio of their volumes 
is : 

 nks csyuksa dh f=kT;k,¡ 2:3 ds vuqikr esa gSa rFkk mudh Å¡pkbZ;ksa 

dk vuqikr 5 : 3 gSA muds vk;ruksa dk vuqikr gS & 

 (1) 10 : 17  (2) 20 : 27  (3) 17 : 27  (4) 20 : 37 
 

29. Let x  be the mean of x1, x2, …. , xn and y  the mean of 

y1, y2, … , yn. If z  is the mean of x1, x2, …, xn, y1, y2, …, 

yn, then z  is equal to  

 ;fn x1, x2, …. , xn dk ek/; x  gS] y1, y2, … , yn dk ek/; y  

gS rFkk x1, x2, …, xn, y1, y2, …, yn dk ek/; z  gS] rks z  

cjkcj gS & 

 (1) x  + y    (2) 
2

yx 
   

 (3) 
n

yx 
   (4) 

n2

yx   
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30. A card is drawn from a packet of 100 cards numbered 1 to 

100. The probability of drawing a number which is a perfect 
square is : 

 ;fn 1 ls 100 la[;k okys 100 iRrs okyh xM~Mh esa ls 1 iRrk 

pquk tk, rks mlds iw.kZ oxZ okyh la[;k vkus dh izkf;drk D;k 

gksxh & 

 (1) 1/100 (2) 2/100 (3) 1/10 (4) 2/10 
 

31. The value of [(32)2]–1 is : 

 [(32)2]–1 dk eku gksxk & 

 (1) 81  (2) –81 (3) –0.0123   (4) 0.0123 
 
32. If a + b + c = 9 and ab + bc + ca = 26, then the value of a3 

+ b3 + c3 – 3abc is : 

 ;fn a + b + c = 9 rFkk ab + bc + ca = 26, rc a3 + b3 + c3 – 

3abc dk eku gksxk & 

 (1) 8  (2) 27  (3) 64  (4) 216 
  
33. The distance of (–4,10) from (– 4, 15) is 

 fcUnq (–4,10) ls fcUnq (– 4, 15) dh nwjh gksxh 

 (1) 5    (2) 4    
 (3) 10    (4) 15 
 
34. The perimeter of a rhombus is 20 cm and one of its 

diagonal is 6 cm long. Find the length of the other 
diagonal.  

 ;fn leprqHkZqt dk ifjeki 20 cm gS rFkk mlds ,d fod.kZ dh 

yEckbZ 6 cm gS rks nwljs fod.kZ dh yEckbZ D;k gksxh& 

 (1) 8 cm (2) 9 cm (3) 10 cm (4) 11 cm 
 

35. In figure, Q > R, PA is the bisector of QPR and  

PM  QR. Then APM =  

 vkd`fr esa] Q > R, PA dks.k QPR dk lef}Hkktd gS rFkk 

PM  QR gSA rks APM = 

 

R 
 

 (1) 
4

1
 (Q – R)  (2) 

3

1
 (Q – R)  

 (3) 
2

1
 (Q – R)  (4) Q – R 

 
36. The number of triangles with any three of the lengths 1, 4, 

6 and 8 cm, are :  

  1, 4, 6 vkSj 8 lseh- esa ls dksbZ rhu yEckbZ;k ysdj fdrus f=kHkqt 

cuk;s tk ldrs gSA  

 (1) 4  (2) 2  (3) 1  (4) 0 
 
37. Given an isosceles trapezium ABCD in order with AB = 6, 

CD = 12 and area 36 sq. units. Length  of the side BC 
is : 

 fn;s x;s lef}ckgq leyac prqHkZqt ABCD esa AB = 6, CD = 12 

vkSj mldk {ks=kQy 36 oxZ bdkbZ gSSA Hkqtk BC dh yEckbZ 

gksxhA 

 (1) 6   (2) 5   (3) 4.5  (4) 5.5 
 

 

38. The two solutions of the lines x + y = 9. 

 js[kk x + y = 9 ds nks gy fuEu esa ls gksaxs & 

 (1) (0, 0), (0, 1)  (2) (0, 9), (9/, 0)  

 (3) (1/, 1), (–1/, –10) (4) (–1, 9), (1, 9+) 
 

39.  If bisectors of A and B of a quadrilateral ABCD 

intersect each other at P, of B and C at Q, of C and 

D at R and of D and A at S, then PQRS is a 
 (1) rectangle      
 (2) rhombus 
 (3) parallelogram   
 (4) quadrilateral whose opposite angles are 

supplementary 

 ;fn prqHkqZt ABCD ds A vkSj B ds lef}Hkktd ijLij P ij 

izfrPNsn djrs gSa] B vkSj C ds lef}Hkktd Q ij] C vkSj D 

ds R ij rFkk D vkSj A ds S ij izfrPNsn djrs gSa] rks PQRS 

gS ,d 

 (1) vk;r      

 (2) leprqHkqZt 

 (3) lekarj prqHkqZt      

 (4) prqHkqZt ftlds lEeq[k dks.k laiwjd gSaA 
 

40. PQRS is a square. T and U are respectively, the mid-

points of PS and QR. Find the area of OTS, if PQ = 8 
cm, where O is the point of intersection of TU and QS. 

 PQRS ,d oxZ gSA T vkSj U Øe'k% PS vkSj QR ds eè;&fcanq 

gSa ( OTS dk {ks=kiQy Kkr dhft,] ;fn PQ = 8 cm gS rFkk O 

js[kk[kaM TU vkSj QS dk izfrPNsn fcanq gSA 

 
 (1) 6 cm2   (2) 8 cm2   
 (3) 10 cm2   (4) 16 cm2 
 

41. The adjoining figure, AB is the diameter of the circle with 
centre O. A chord CD is bisected by the diameter at P. If 
OA = OB = 15 cm and OP = 9 cm. Then the length of 
chord AD is : 

 uhps fn, x;s fp=k esa] o`r ftldk O;kl AB rFkk dsUnz O gSA 

;fn O;kl] thok CD dks fcUnq P dks lfE}Hkkftr djrk gS vkSj 

OA = OB = 15 cm rFkk OP = 9 cm gS rks thok AD dh yEckbZ 

gksxh & 

 A 

C D 

B 

O 

15 cm 

9 cm 

P 

 

 (1) 12 cm    (2) 12 5 cm   

 (3) 13 cm    (4) 13 5 cm 
 

42. The value of the following is : 2 2 2

2 2 2

(0.44) (0.06) (0.024)

(0.044) (0.006) (0.0024)

 

 

 

 
2 2 2

2 2 2

(0.44) (0.06) (0.024)

(0.044) (0.006) (0.0024)

 

 

 dk eku gksxk 

 (1) 0.100    (2) 0.01    

 (3) 100    (4) None of these (buesa ls dksbZ ugha) 
 

43. The number of planks of dimensions (4m×50cm×20 cm) 
that can be stored in a pit which is 16 m long, 12m wide 
and 4 m deep is : 

 16m yacs] 12m pkSM+s vkSj 4m xgjs ,d xM~<s esa j[ks tk ldus 

okys 4 m × 50 cm × 20cm foekvksa okys r[rksa dh la[;k gS 

 (1) 1900 (2) 1920  (3) 1800  (4) 1840 
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44. The following observations are arranged in ascending 

order : 

 fuEufyf[kr vk¡dMs+ vkjksgh Øe esa O;ofLFkr gS : 

 36, 49, 51, 55, x, x + 2, 72, 75, 85, 92 
 If the median is 65, find the value of x. 

 ;fn budk ekè;d 65 gS] rks x dk eku Kkr dhft,A 

 (1) 60  (2) 54  (3) 64  (4) 68 
 

45. In a cricket match a batswoman hits a boundary 6 times 
out of 30 balls she plays. The probability that she did not 
hit a boundary is : 

 fØdsV [ksy esa ,d efgyk f[kykM+h 30 xsanks ij 6 ckj xsan dks lhek 

ij igqpkrh gSA rks mldh xsan dks lhek ij uk igqapkus dh izf;drk 

gksxh & 

 (1) 
5

3
 (2) 

5

4
 (3) 

5

2
 (4) 

5

1
 

 

46. 7x2 – 5x2 is a : 
 (1) binomial   (2) Trinomial   
 (3) monomial  (4) None of these 

 7x2 – 5x2 gS & 

 (1) f}ifn;   (2) f=kifn;   

 (3) ,difn;   (4) buesa ls dksbZ ugha 
 

47. A rectanglular tank of length 10 m, breadth 5 m and depth 
6 m is full of water. How much water must be taken out of 
the tank to reduce the level of water in the tank by one 
metre ? 

 10 m yEch] 5 m pkSM+h vkSj 6 m xgjh ,d vk;rkdkj Vadh 

ikuh ls iw.kZ :i ls Hkjh gSA bl Vadh esa ls fdruk ikuh fudky 

fy;k tk, fd Vadh esa ikuh dk Lrj ,d ehVj de gks tk, ? 

 (1) 30 m3 (2) 60 m3 (3) 50 m3 (4) 100 m3 

 

48. A class consists of 50 students out of which 30 are girls. 
The mean of marks scored by girls in a test is 73 (out of 
100) and that of boys is 71. Determine the mean score of 
the whole class. 

 ,d d{kk esa 50 fo|kFkhZ gSa] ftuesa ls 30 yM+fd;k¡ gSaA ,d VsLV 

esa yM+fd;ksa }kjk (100 esa ls½ izkIr fd, x, vadksa dk ekè; 73 

rFkk yM+dkssa dk 71 gSA laiw.kZ d{kk ds ekè; izkIrkad Kkr 

dhft,A 

 (1) 78.2   (2) 72.2    

 (3) 74.2  (4) None of these (buesa ls dksbZ ugha) 
 

49. In the adjoining figure, in circle with centre O. BDC = 40º, 

Then ACB is : 

 fn;s x;s fp=k esa fcUnq O o`r dk dsUnz gSA ;fn BDC = 40º gS 

rks ACB dk eku gksxk & 

 
 (1) 40º (2) 45º (3) 50º (4) 90º 
 

 

50. The diameter of a sphere is decreased by 25%. By what 
percent does its curved surface area decrease? 

 ,d xksys ds O;kl esa 25% dh deh gks tkrh gSA mldk oØ 

i`"Bh; {ks=kiQy fdrus izfr'kr de gks x;k gS \ 

 (1) 43.75 %   (2) 47.25 %   
 (3) 46.25 %   (4) 42.75 % 
 
 
 

 

PART - III (PHYSICS) Hkkx - III ¼HkkSfrd foKku½ 

SECTION : (Maximum Marks : 60) 

[kaM  : (vf/kdre vad : 60) 


 This section contains FIFTEEN (15) questions 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa iUnzg (15) iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 
 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

51. Which of the following options is correct for the object 
having a straight line motion represented by the following 
graph 

 fdlh oLrq dh ,d ljy js[kh; xfr tks fn, x, xzkQ esa çnf’kZr 

gS] ds fy;s fuEu esa ls dkSu lk fodYi lgh gS 
 

s 

t 

D 

C 

B 

A 

O 

 
 

 (1) The object moves with constantly increasing velocity 
from  O to A and then it moves with constant velocity. 

 oLrq fcUnq O ls A rd fu;r :i ls c<+rs gq,s osx ls xfr djrh  

 gS rFkk fQj fu;r osx ls xfr djrh gS 

 (2) Velocity of the object increases uniformly 

       oLrq dk osx ,d leku #i ls c<+rk gS 

 (3) Average velocity is zero  

       oLrq dk vkSlr osx ’'kwU; gS  

 (4) The graph shown is impossible 

       n’'kkZ;k x;k xzkQ lEHko ugha gS 

52. A pendulum bob of mass 50 gm is suspended from the 
ceiling of an elevator. The tension in the string if the 
elevator goes up with uniform velocity is approximately 

 fdlh ljy yksyd dks ,d fy¶V dh Nr ls yVdk;k x;k gSA ljy 

yksyd ds xksyd dk nzO;eku 50 gm gSA ;fn fy¶V ,d leku osx ls 

Åij dh vksj xfreku gks rks yksyd dh Mksjh esa ruko gS] yxHkx  

 (1) 0.30 N (2) 0.40 N (3) 0.42 N (4) 0.50 N 
 

53. The value of ‘g’ at a particular point is 9.8 m/s2. Suppose 
the earth suddenly shrinks uniformly to half its present 
size without losing any mass. The value of ‘g’ at the same 
point (assuming that the distance of the point from the 
centre of earth does not shrink) will now be 

 i`Foh ij fdlh fo’'ks"k fcUnq ij ‘g’ dk eku 9.8 m/s2 gSA ekuk 

fd vc i`Foh fcuk nzO;eku {kfr ds ,d leku :i ls çkjfEHkd 

vkdkj ds vk/ks vkdkj esa fldqM+ tkrh gS rks blh fcUnq ij ‘g’ 

dk eku gksxk ¼ekuk fd bl fcUnq dh nwjh] i`Foh ds dsUnz ds 

lkis{k ugha fldqM+h gS½ 

 (1) 4.9 m/sec2  (2) 3.1 m/sec2   
 (3)  9.8 m/sec2  (4) 19.6 m/sec2  
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54. A hemispherical bowl just floats without sinking in a liquid 

of density 1.2×103kg/m3. If outer diameter and the density 
of the bowl are 1 m and 2×104 kg/m3 respectively, then the 
inner diameter of the bowl will be  

 ,d v/kZxksykdkj dVksjk 1.2×103kg/m3 ?kuRo ds æo esa iwjh rjg 

ls voxeu fcuk Mwcs rSj jgk gSA dVksjs dk cká O;kl o ?kuRo 

Øe'k% 1 m  2×104 kg/m3 gSA dVksjs dk vkarfjd O;kl gksxk 

 (1) 0.94 m (2) 0.97 m (3) 0.98 m (4) 0.99 m 
 

55. Two identical cylindrical vessels with their bases at same level 
each contains a liquid of density . The height of the liquid in 
one vessel is h1 and that in the other vessel is h2. The area of 
either base is A. The work done by gravity in equalizing the 
levels when the two vessels are connected, is  

 nks ,d leku csyukdkj ik=ksa ds vk/kkj leku ry ij gSa rFkk 

çR;sd ik=k dk vk/kkj {ks=kQy A gSA çR;sd ik=k esa leku ?kuRo 

dk æo vyx-vyx Å¡pkb;ksa h1 rFkk h2 rd Hkjk gqvk gSA ;fn 

nksuksa ik=ksa dks ,d nwljs ls tksM+ fn;k tk, rc nksuksa ik=ksa esa 

æo dk ry leku djus gsrq xq#Ro }kjk fd;k x;k dk;Z gksxk 

 (1) ghh )( 21    (2) gAhh )( 21     

 (3) gAhh 2
21 )(

2

1
  (4) gAhh 2

21 )(
4

1
  

 

56. Ultrasonic, Infrasonic and audible waves travel through a 
medium with speeds Vu , Vi and Va respectively, then 

 (1) Vu , Vi  and Va are nearly equal    
 (2)  Vu  Va  Vi  
 (3) Vu  Va  Vi        
 (4) Va  Vu and Vu  Vi  
 ijkJ`O; (Ultrasonic), viJ`O; (Infrasonic) rFkk J`O; (Audible) 

rjaxsa ek/;e esa Øe’'k% iu VV ,  rFkk aV  osx ls xeu djrh gSa] rks 

 (1) Vu , Vi vkSj Va yxHkx leku gSa     

 (2) Vu  Va  Vi  
 (3) Vu  Va  Vi         
 (4) Va  Vu vkSj Vu  Vi 
 

57. Two boys are standing at the ends A and B of a ground 
where AB = a. The boy at B starts running in a direction 

perpendicular to AB with velocity .1v  The boy at A starts 

running simultaneously with velocity v  and catches the 
other boy in a time t, where t is 

 nks yM+ds tehu ds nks fdukjksa A o B ij bl çdkj [kM+s gSa fd 

aAB  gSA B ij [kM+k yM+dk 1v osx ls AB ds yEcor~ 

nkSM+uk '’kq: djrk gS mlh le; A ij [kM+k yM+dk v osx ls 

nkSM+uk çkjaHk djrk gS rFkk nwljs yM+ds dks t le; esa idM+ 

ysrk gS, tgk¡ t  gS  

 (1) 2
1

2/ vva    (2) )/( 2
1

22 vva     

 (3) )/( 1vva    (4) )/( 1vva   
 

58. A force of 10 Newton acts on a body of mass 20kg for     
10 seconds.  Change in its momentum is 

 10 N dk ,d cy] 20 kg æO;eku dh ,d oLrq ij 10 sec rd 

dk;Z djrk gSA blds laosx esa ifjorZu gS 

 (1) 5 kg m/s   (2)  100 kg m/s   
 (3) 200 kg m/s  (4) 1000  kg m/s  
 

59. A body weighs 700 gm wt on the surface of the earth. How 
much will it weigh on the surface of a planet whose mass 

is 
7

1
 and radius is half that of the earth 

 ,d oLrq dk i`Foh ry ij Hkkj 700 xzke Hkkj gSA ml xzg ds 

ry ij bldk Hkkj D;k gksxk ftldk nzO;eku i`Foh ds nzO;eku 

dk
7

1
xquk rFkk f=T;k 1/2 xquh gS 

 (1) 200 gm wt  (2) 400 gm wt   
 (3) 50 gm wt  (4) 300 gm wt 
 
 
 
 

60. A solid sphere of density ( > 1) times lighter than water is 
suspended in a water tank by a string tied to its base as shown in 
fig. If the mass of the sphere is m then the tension in the string is 
given by 

,d Bksl xksyk ftldk ?kuRo ty ds ?kuRo ls  ( > 1) xquk de gSA 

xksyk, fp=kuqlkj ,d Mksjh dh lgk;rk ls fdlh ik=k ds ryh ls 

layXu gSA ;fn xksys dk æO;eku m gks, rks Mksjh esa ruko gksxk
 

 

 (1) 
m g









 



 1   (2) mg   

 (3) 
1

mg    (4) mg)1(   

61. If the increase in the kinetic energy of a body is 22%, then 
the increase in the momentum will be 

 ;fn fi.M dh xfrt ÅtkZ 22% c<+k nh tk, rks mlds laosx esa 

o`f) gksxh 

 (1) 22% (2) 44% (3) 10% (4) 300% 
 

62. The frequency of a tunning fork is 384 per second and 
velocity of sound in air is 352 m/s. How far the sound has 
traversed while fork completes 36 vibration 

,d Lofj=k dh vkòfÙk 384 çfr lsd.M gS] rFkk ok;q esa /ofu dk osx 352 

m/s Lofj=k d 36 dEiu iw.kZ gksus ij /ofu }kjk r; dh xbZ nwjh gS 

 (1) 3 m (2) 13 m (3) 23 m (4) 33 m 
 
 

63. Consider the acceleration, velocity and displacement of a 
tennis ball as it falls to the ground and bounces back. 
Directions of which of these changes in the process   

 (1) Velocity only    
 (2) Displacement and velocity  
 (3) Acceleration, velocity and displacement   
 (4) Displacement and acceleration 

,d Vsful dh xsan fdlh Å¡pkbZ ls fxjrh gS rFkk i`Foh ls 

Vdjkdj okil ykSVrh gSA bl çfØ;k esa Roj.k] osx rFkk 

foLFkkiu esa ls dkSulh jkf’k;ksa esa ifjorZu gksrk gS 

 (1) dsoy osx        (2) foLFkkiu rFkk osx   

 (3) Roj.k] osx rFkk foLFkkiu  (4) foLFkkiu rFkk Roj.k 
 

64. A ball of mass 400 gm is dropped from a height of 5m. A 
boy on the ground hits the ball vertically upwards with a 
bat with an average force of 100 newton so that it attains a 
vertical height of 20 m. The time for which the ball remains 
in contact with the bat is [g = 10m/s2] 

 400 xzke nzO;eku dh ,d xsan 5 eh Å¡pkbZ ls uhps fxjk;h tkrh 

gSA i`Foh ry ij [kM+k gqvk ,d yM+dk xsan ij cYys ls m/okZ/kj 

Åij dh vksj 100 N ds vkSlr cy ls izgkj djrk gSA izgkj ds 

i'pkr~~ ;fn xsan }kjk izkIr m/okZ/kj Å¡pkbZ 20 eh gS] rks og 

le; tc xsan cYys ds laidZ esa jgrh gS] gksxk [g = 10m/s2]  

 (1) 0.12s (2) 0.08 s (3) 0.04 s (4) 12 s 
 

65. The gravitational potential energy of a body of mass ‘m’ at 

the earth’s surface emgR . Its gravitational potential 

energy at a height eR  from the earth’s surface will be 

(Here eR  is the radius of the earth 

 m nzO;eku ds fi.M dh i`Foh ry ij xq#Roh; fLFkfrt ÅtkZ 

emgR  gSA i`Foh ry ls eR  Å¡pkbZ ij bldh xq#Roh; 

fLFkfrt ÅtkZ gksxh ¼;gk¡ eR  i`Foh dh f=T;k gS½ 

 (1) 
emgR2  (2) 

emgR2  (3) 
emgR

2

1   (4) 
emgR

2

1
  
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PART - IV (CHEMISTRY) Hkkx - IV ¼jlk;u foKku½ 

 Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 

14, O = 16, F = 19, Na = 23, Mg = 24, Al = 27, Si = 28, P = 31, 

S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, 

Cu = 63.5,  Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  

Ba = 137, Hg = 200, Pb = 207] 

SECTION : (Maximum Marks : 60) 

[kaM  : (vf/kdre vad : 60) 
 This section contains FIFTEEN (15) questions 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 
 bl [kaM esa iUnzg (15) iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS 

¼vFkkZr~ iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

66.  The boiling point of alcohol is 78 ºC. What will be the value 
of this temperature in Kelvin scale ? 

 ,Ydksgy dk DoFkukad 78 ºC gSA dsfYou iSekus ij ;g rki 

gksxk \ 

 (1) 373 K (2) 351 K (3) 341 K (4) 78 K 
 
67.  We can separate a pure solid from its solution by -   
 (1) evaporation  (2) sedimentation  
 (3) crystallization  (4) None of these 

 'kq) Bksl inkFkZ dks mlds foy;u ls i`Fkd fd;k tkrk gS & 

 (1) ok"iu }kjk  (2) ry N~Vhdj.k }kjk  

 (3) fØLVyhdj.k }kjk (4) buesa ls dksbZ ugha 

 

68. Present unit of atomic mass is - 
 (1) weight of a proton    
 (2) weight of a neutron 
 (3) weight of a hydrogen atom  

 (4) 
12

1
 th of the weight of C-12 atom 

 v.kqHkkj dh orZeku bdkbZ D;k gS & 

 (1) izksVksu dk Hkkj  (2) U;wVªksu dk Hkkj 

 (3) gkbMªkstu dk Hkkj (4) dkcZu C-12 dk 
12

1
 ok¡ Hkkx 

 
 

69. Mass of 2 electron is -       

 2 ijek.kq bysDVªkWu dk Hkkj gS % 

 (1) 1.66 × 10–24 g   (2) 6.023 × 10–23 g  
 (3) 18.2 × 10–28 g  (4) 9.1 × 10–25 g 
 

70. Boiling point of a substance - 
 (1) decreases with decreasing the pressure   
 (2) decreases with increasing the pressure  
 (3) increases with decreasing the pressure  
 (4) All of these  

 inkFkZ dk DoFkukad& 

 (1) nkc ds ?kVusa ds lkFk ?kVrk gS   

 (2) nkc ds c<+usa ds lkFk ?kVrk gS 

 (3) nkc ds ?kVusa ds lkFk c<+rk gS   

 (4) mijksDr lHkh  
 

71. What difference in the property of two miscible liquids 
enables their separation by fractional distillation ? 

 (1) Boiling point   (2) Melting point   
 (3) Viscosity   (4) Density 

 nks feJ.k okys nzo ftudks vyx ugha dj ldrs mudks fdl 

vyx&vyx xq.kksa ds vk/kkj vkaf'kd vklou }kjk vyx fd;k tkrk gS? 

 (1) DoFkukad   (2) xyukad   

 (3) fpifpikiu   (4) ?kuRo 
 

72. How many types of atoms are present in a molecule of acetic 
acid ? 

 'kDdj ds v.kq esa fdrus izdkj ds ijek.kq mifLFkr gksrs gS \ 

 (1) 49  (2) 3  (3) 8  (4) 11  
 

73. The absolute value of charge on the electron was determined by - 
 (1) J.J. Thomson  (2) R.A. Milikan   
 (3) Rutherford   (4) Chadwick 

 bysDVªkWu ds Åij ik;s tkus okys vkos'k dh ifj'kq) x.kuk fdlus dh ? 

 (1) J.J. FkkWelu  (2) R.A. fefydu   

 (3) jnjQksMZ   (4) psMohd 
 

74. A gas can be best liquefied  
 (1) by increasing the temperature  
 (2) by lowering the pressure  
 (3) by increasing the pressure and reducing the 

temperature  
 (4) none of these is correct 

 xSl dk lcls vPNk nzfod`r djk tk ldrk gS  

 (1) rkieku c<+kdj       

 (2) nkc dks de djds 

 (3) nkc c<+kdj o rki ?kVk dj    

 (4) buesa ls dksbZ ugha  
 

75. Sublimation property is shown by -  
 (1) ice    (2) sugar (3) benzoic acid (4) alum 

 Å/oZikru dk xq.k iznf'kZr djrk gS 

 (1) cQZ  (2) 'kDdj (3) csUtksbZd vEy (4) fQVdjh 
 

76. Nitric acid is -          
 ukbfVªd vEy gS & 

 (1) H2SO4  (2) HCl (3) HNO3  (4) Na2CO3  
 

77. The mass of a proton at rest is -  
 (1) zero   (2) 1.67 × 10–35 kg  
 (3) one amu   (4) 9 × 10–31 kg 
 fLFkj voLFkk esa izksVksu dk Hkkj gksrk gS -    

 (1) 'kwU;   (2) 1.67 × 10–35 kg  

 (3) ,d amu   (4) 9 × 10–31 kg 
 
 

78. The temperature at which a liquid starts  converting into 
solid without any rise in temperature is called –  

 (1) melting point  (2) boiling point   
 (3) freezing point  (4) None of these   
 nzo dh Bksl voLFkk esa ftl rki ij cny tkrk gSA fcuk fdlh 

rjg dk rki c<+k;s mls dgrs gSaA  

 (1) xyukad   (2) DoFkukad   

 (3) teko fcUnw  (4) buesa ls dksbZ ugha  
 
 

79. The cream can be separated from the milk by the process of  
 (1) filtration   (2) evaporation   
 (3) centrifugation  (4) decantation 
 Øhe dks nw/k ls fdlh fof/k }kjk vyx fd;k tk ldrk gS :  

 (1) Nkuuk   (2) ok"iu   

 (3) vidsUnzhdj.k  (4) fuLrkj.k 
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80. The element capable of gaining as well as losing an 

electron is - 

 rRo tks fd bysDVªkWu xzg.k rFkk iznku djus esa l{ke gS & 

 (1) Hg  (2) Ca  (3) Ag  (4) H 

 

PART - V (MENTAL ABILITY) Hkkx - V ¼ekufld ;ksX;rk½ 

SECTION : (Maximum Marks : 80) 

[kaM  : (vf/kdre vad : 80) 


 This section contains TWENTY (20) questions. 

 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  

 For each question, darken the bubble corresponding to the 

correct option in the ORS  

 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 

the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 

 bl [kaM esa chl (20) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 

 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

Direction (81 to 83) Find the mising term. 

funsZ'k (Q.81 to 83) % yqIr in Kkr djsaA 

81. 2, 6, 14, 26, ? 
 (1) 92  (2) 54  (3) 44  (4) 42 
 

82. BAC, DEF, FIJ, HOO, ? 
 (1) JVV (2) JUV (3) JUU (4) JVT 
 

83. 
12 16 258 7 21

80 207 ?

 

 (1) 184   (2) 210   
 (3) 241   (4) 425 
 
84. If SPECIAL is coded as KZHBDOR then ORDINARY would 

be ? 

 ;fn SPECIAL dks KZHBDOR dksM fd;k tkrk gS] rc 

ORDINARY gksxk & 

 (1) ZQBMHCSX  (2) XQZOHCQN  
 (3) XQZMHCQN  (4) ZQBHOBQZ 
 

Directions : (85) Read the following information carefully and 
answer the questions given below it : 

 (1) There are five friends. 
 (2) They are standing in a row facing South. 
 (3) J is to the immediate right of A. 
 (4) P is between B and S. 
 (5) S is between J and P. 

funsZ'k % (85) fuEu lqpukvksa dks /;kuiwoZd i<+dj buds uhps fn;s x;s 

iz'uksa ds mÙkj nhft;sA 

 (1) ik¡p fe=k ,d iafä esa nf{k.k dh vkSj e¡qg djds [kMs+ gSA 

 (2) jes'k] vkyksd ds rqjUr nk;ha vksj gSA 

 (3) izeksn] Hkxr vkSj lqcks/k ds e/; esa gSA 

 (4) lqcks/k] jes'k vkSj izeksn ds e/; esa gSA 

Note: The boys are standing facing south. So, consider ‘left’ and 
‘right’ accordingly. 

uksV : ik¡pks fe=k nf{k.k dh vkSj eqag djds [kMs+ gSA vr% ck;ka vkSj 

nk;ka buds vuqlkj ysrs gSA  

 vr% budk Øe fuEu izdkj gksxkA  

 J is to the right of A that is, J, A. 
 P is between B and S that is, B,  P,  S. 
 S is between J and P. 
 So, the sequence is : 
85. Who is at the extreme left end ? 

 muds vuqlkj ck;sa fljs ds vUr esa dkSu gS \ 

 (1) A   (2) B    
 (3) S   (4) Data inadequate 
 
Directions (86) : In the question below are given two 

statements followed by two conclusions numbered I and 
II. You have to take the given two statements to be true 
even if they seem to be at variance from commonly known 
facts. Read the conclusion and then decide which of the 
given conclusions logically follows from the two given 
statements, disregarding commonly known facts.  

 uhps fn;s x;s iz'u esa nks dFku vkSj muds ckn nks fu"d"kZ fn;s 

gq, gSA dFkuksa ds vuqlkj dkSuls fu"d"kZ lgh gksaxsA 

 
86.  Statements  :Some kings are queens. All queens are 

beautiful.  
 Conclusions  : I. All kings are beautiful.   

   II. All queens are kings.  
 (1) if only conclusion I follows     
 (2) if only conclusion II follows 
 (3) if neither conclusion I nor  II  follows   
 (4) if both conclusions  I and II follow. 

 dFku % dqN  jktk jkuh] lkjh jkuh lqUnj gSA 

 fu"d"kZ % I. lHkh jkuh lqUnj gSaA  II. lHkh jkfu;k¡ jktk gSaA 

 (1) dsoy I fu"d"kZ lgh gSA   

 (2) dsoy II  fu"d"kZ  ”lgh gSA 

 (3) dksbZ Hkh fu"d"kZ lgh ugha gSA    

 (4) nksuks fu"d"kZ lgh gSA 
 

Directions : (87) These questions are based on the following 
statements Ram and Shyam are good in Computer and 
Hindi. Deepa and Ram are good in Hindi and English. 
Shyam and Bharat are good in Cricket and Computer. 
Mohan, Bharat and Ravi are good in English and Cricket 
Ravi and Mohan are good in English and Drawing. 

funsZ'k % (87) fuEufyf[kr dFkuksa ds vk/kkj ij iwNs x;s iz'uksa ds mÙkj 

nhft;s& 

 jke rFkk ';ke dEi;wVj rFkk fgUnh esa vPNs gSA nhik rFkk jke 

fgUnh rFkk vaxzsth esa vPNs gSA ';ke rFkk Hkjr fØdssV o 

dEi;wVj esa vPNs gSA eksgu] Hkjr rFkk jfo vaxzsth o fØdssV esa 

vPNs gSA jfo rFkk eksgu vaxzsth o dyk esa vPNs gSA 
 

87. Who is good in English, Cricket, Hindi and Drawing ? 
 (1) Ram   (2) Bharat   
 (3) Shyam   (4) None of these 

 fuEu esa ls dkSu vaxzsth] fØdssV] fgUnh rFkk MªkbZax esa vPNh gS ? 

 (1) jke   (2) Hkjr   

 (3) ';ke   (4) buesa ls dksbZ ugha 

 
88. Pankaj met his friend three days ago. He told his friend 

that he had his last exam five days later. He met his friend 
again, three days after the exam. 6 days after he met his 
friend after the exam they left for a vacation. The day on 
which they left for a vacation is Saturday. What is today ? 

 (1) Tuesday   (2) Monday 
 (3) Saturday  (4) Wednesday 
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 iadt vius fe=k ls rhu fnu igys feyrk gSA og vius fe=k dks 

crkrk gS fd mldh vafre ijh{kk dk fnu ik¡p fnu ckn gS A ijh{kk 

[kRe gksus ds rhu fnu ckn] og vius fe=k ls nksckjk feyrk gSA 

ijh{kk [kRe gksus ds ckn esa fe=k ls feyus ds ckn okys fnu ds 6 fnu 

ckn oks NqfV~;ksa ds fy, tkrs gSA ftl fnu oks NqfV~;ksa ij tkrs gS ml 

fnu 'kfuokj Fkk] rks vkt dk fnu dkSulk Fkk \ 

 (1) eaxyokj   (2) lkseokj  

 (3) 'kfuokj   (4) cq/kokj 

 
Directions : (89) The figure (X) given below is the unfolded 

position of a cubical dice. In each of the following 

questions this unfolded figure is followed by four 

different figures of dice. You have to select the figure 

which is identical to the figure (X). 

funsZ'k : (89) vkd`fr (X) ,d ?kuh; ikls ds lHkh Qydks dks [kksydj 

fn[kk;k x;k gSA fuEu izR;sd iz'u esa ikls dh ;g [kqyh vkd`fr 

pkj fofHkUu iklks dks iznf'kZr djrh gSA vkidks ml ikls dk 

pquko djuk gS tks vkd`fr (X) vuqlkj lgh gksA 

 

89. J  

 (1)        (2) 
J

    

 (3)        (4)    

 

Direction (90 to 92) : Find the missing term ?  

funsZ'k (90 ls 92) % fuEu Js.kh esa yqIr in D;k gksxk \ 

 

90. 2, 3, 4, 6, 12, ?, 156 

 (1) 36  (2) 42  (3) 24    (4) 27  

 

91. 1 BR, 2 EO, 6 HL, 15 KI, ? 

 (1) 22 NF (2) 31 NF (3) 31 NE (4) 28 NF 

 

92. 

(i) (ii) (iii)

109

5

6

216 53

21

15

4822 ?

51

13

19 17  

 (1) 7  (2) 25  (3) 129 (4) 625 

 

93. If watch is called room, room is called bag, bag is called 

rain, rain is called air and air is called water, Which is 

used to carry the books ? 

 (1) room (2) bag (3) rain (4) air 

 ;fn ?kM+h dks dejk dgk tk,] dejs dks FkSyk dgk tk;] FkSys 

dks o"kkZ dgk tk,] o"kkZ dks gok vkSj gok dks ikuh dgk tk;] 

rks fdldk mi;ksx fdrkcs ys tkus ds fy;s fd;k tkrk gSA 

 (1) dejk (2) FkSyk (3) o"kkZ  (4) gok 

94. In question no. 85  Who is in the middle ? 

 e/; esa dkSu cSBk gqvk gS \ 

 (1) B ¼Hkxr½    (2) J ¼jes'k½  

 (3) P ¼izeksn½   (4) S ¼lqcks/k½ 
 

95.  Statements: Some books are tables. Some tables are 
mirrors.  

 Conclusions : I. Some mirrors are books. II. No book is 

mirror.  

 (1) if only conclusion I follows;  

 (2) if only conclusion II follows;  

 (3) if neither conclusion I nor II  follows;  

 (4) if both conclusions  I and II follow.  

 dFku : dqN fdrkcsa est gSaA dqN est vkbuk gSaA 

 fu"d"kZ: I.dqN vkbus fdrkcsa gSaA II. dksbZ Hkh fdrkc vkbuk ugha gS 

 (1) dsoy I fu"d”"kZ lgh gSA 

 (2) dsoy II  fu"d”"kZ  ”lgh gSA 

 (3) dksbZ Hkh fu"d”"kZ lgh ugha gSA 

 (4) nksuks fu"d”"kZ lgh gSA  
 

96. In question no. 87 Who is good in English, Cricket and 

Computer ? 

 (1) Asha (2) Bharat (3) Charu (4) Ravi 

 iz'u la[;k 87 esa  fuEu esa ls dkSu lkekftd foKku] lkekU; 

Kku rFkk xf.kr esa vPNh gS ? 

 (1) vk'kk (2) chuk (3) pk: (4) jfo 
 

97. If in leap year it was Monday on 1 January than, the leap 

year can have the maximum Saturdays are. 

 fdlh yhi o"kZ dh 1 tuojh dks lkseokj Fkk rks mlesa vf/kdre 

fdrus 'kfuokj gks ldrs gSA 

 (1) 51  (2) 52  (3) 53  (4) 54 
 

98.  

 

  

   (i)    (ii)    (iii)    (iv) 

 Which number is opposite to number 5 ? 

 la[;k 5 ds foifjr dkSulh la[;k gS \ 

 (1) 4  (2) 6  (3) 1  (4) 3 
 

99. If Y = 50 and BAT = 46 then GOA will be equal to  

 ;fn Y = 50 rFkk BAT = 46 rc GOA = ? 

 (1) 39  (2) 46  (3) 48  (4) 44 
 

Directions (100) : 

 Eight friends A, B, C, D, E, F, G and H are sitting in a 

circle facing the centre. B is sitting between G and D. H is 

third to the left of B and second to the right of A. C is 

sitting between A & G and B & E are not sitting opposite to 

each other. 

 vkB nksLr A, B, C, D, E, F, G rFkk H ,d ?kSjs esa chp esa eqg 

fd;s cSBs gSaA B, G rFkk D ds chp esa cSBk gSA H, B ds ck¡;h 

vksj rhljs LFkku ij rFkk A ds nk¡;h vksj nwljs LFkku ij cSBk 

gSA C, A o G ds chp esa rFkk B o E ,d&nwljs ds foifjr ugha 

cSBs gSaA 
 

100. Who is third to the left of D ? 

 D ds ck¡;h vksj rhljs LFkku ij dkSu cSBk gS \ 

 (1) F    (2) E    

 (3) A    (4) Can’t be determined 

           fu/kkZfjr ugha fd;k tk ldrk 
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ANSWER KEY TO SAMPLE TEST PAPER-1 

 
1. (3)  2. (1) 3. (1)  4. (1) 5.  (4) 
6. (2)  7. (4) 8. (1) 9. (1) 10. (2) 
11. (1)  12. (2) 13. (4) 14. (1) 15. (2) 
16. (1)   17.  (2) 18. (2) 19. (2)  20. (2) 
21. (1)  22. (4)  23.  (2)  24. (3) 25. (1) 
26. (1)  27. (2) 28. (2) 29. (2) 30. (3) 
31. (4)  32. (2) 33. (1) 34. (1) 35. (3) 
36. (3)  37. (2) 38. (2) 39.  (4) 40. (2) 
41. (2)  42. (3) 43. (2) 44. (3) 45. (2) 
46. (3)  47. (3) 48. (2) 49. (3) 50. (1) 
51. (3)  52. (4) 53. (3)  54. (3) 55. (4) 
56. (1)  57. (2) 58. (2) 59. (2) 60. (4) 
61. (3)  62. (4) 63. (2) 64. (1) 65. (4) 
66.  (2)  67.  (3) 68. (4) 69. (3) 70. (1)  
71. (1)  72. (2)  73. (2) 74. (3)  75. (3) 
76. (3)   77. (3) 78. (3)  79. (3) 80. (4) 
81. (4)  82. (3) 83. (1) 84. (3) 85. (1) 
86. (3)  87. (4) 88. (1) 89. (4) 90.  (1)  
91.  (2)  92. (2) 93. (3) 94. (4) 95.  (3) 
96. (2)  97. (2) 98. (3) 99. (2) 100. (1)  
  

HINTS & SOLUTIONS TO SAMPLE TEST PAPER-1 
 

26.  

   
ABCD is a square inscribed in a circle with centre O. 

Radius = OA = 8 2  cm. Join OB. Angle subtended by 

the side of the square at the centre is 90°, therefore  

 In triangle AOB 

 AOB = 90º 

 AB2 = AO2 + OB2 

 AB2 = (8 2 )2 + (8 2 )2 = 128 + 128 = 256 

 AB = 256  = 16 cm. 
 

30. E = {1, 4, 9, 16, 25, 36, 49, 64, 81, 100} n(E) = 10 

 S = {1, 2, ..., 100} 

 n(S) = 100 

 P(E) = 10/100 = 1/10. 

 

32. We know that x3 + y3 + z3 – 3xyz = (x + y + z)(x2 + y2 + z2 – 

xy – yz – zx). 

Hence, a3 + b3 + c3 - 3abc = (a + b + c)(a2 + b2 + c2 - ab - 

bc - ca)  

= 9(a2 + b2 + c2 - 26). 

Now, we know that (x + y + z)2  

= x2 + y2 + z2 + 2xy + 2yz + 2zx. 

Hence,  

a2 + b2 + c2 = (a + b + c)2 - 2(ab + bc + ca)  

                       = (9)2 - 2(26)  

                       = 81 - 52  

                        = 29. 

Hence, 

 a3 + b3 + c3 – 3abc = 9(a2 + b2 + c2 – 26)  

                                = 9(29 – 26)  

                                = 9(C)  

                                 = 27. 

36. Possible length of triangle are 4, 6, 8 so required number 
of triangle is 1. 

 
37.  

 

12 cm6 cm 6 cm
D C

E

A B6 cm
12 cm6 cm 6 cm

D C
E

A B6 cm  
 Construction : AE || BC 
 So, AE = BC = AD 
 or, DE = AB = 6 unit. 

 Area of trapezium =
1

2
 h(a + b) = 36 

 
1

2
h(6 + 12) = 36 

 h × 9 = 36 

 h = 4 cm.  
 If AE = a = AD 

 Area of AED =  
1

2
× 6 × 4   

  = (a 3)(a 3 a)(a 3 a)(a 3 6)        

 12 = 3 (a 3)(a 3)   

 a2 – 9 = 16 

 a2 = 25 
 a = 5 
 So, BC = 5 cm. 
 
38. px + y = 9 
 0 + y = 9 (0, 9) is a solution 

 x + 0 = 9 

 x = 9/ 

 (9/, 0) is a solution. 
 
41. Join OC and AD 
 OA = OB = OC = 15cm (radii) 

  
 In right angled OCP 

 OC2 = OP2 + CP2 

 In right angled OCP 

 CP2 = OC2 – OP2 = (15)2 – (9)2 

 = 225 – 81 = 144 

 CP = 144 cm = 12 cm 

 CP = PD = 12 cm 

 Now in right angled APD 

 PD = 12 cm AP = AO + OP = 15 + 9 = 24 cm 

 AD2 = AP2 + PD2 = (24)2 + (12)2 = 576 + 144 = 720 

 AD = 720 cm = 12 5 cm 
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42. 
2 2 2

2 2 2

(0.44) (0.06) (0.024)

(0.044) (0.006) (0.0024)

 

 
  

           = 
2 2 2

2 –2 2 –2 2 –2

(0.44) (0.06) (0.024)

(0.44) 10 (0.06) 10 (0.024) 10

 

    

 

 = 

 

2 2 2

–2 2 2 2

(0.44) (0.06) (0.024)

10 (0.44) (0.06) (0.024)

 

 

 

 = 
–2

1

10
 = 102 = 100 

 

46. 7x2 – 5x2 = 2x2  

 So it contains only one term so it is a monomial. 

 

47. Volume of the given tank = 10 × 5 × 6 = 300 m3 

 If height of the water level is 1 less than the 

 previous then, new volume is = 10 × 5 × 5 = 250 m3 

 So, volume of water which is takeout is  

 300 – 250 = 50m3 

 

49. CDB and CAB are on the same arc so they are equal 

CDB = CAB = 40º 

 In triangle ACB = ABC = 90° [Angle in a semi circle is 

90°]   

 ACB = 180° – CBA – CAB  

 = 180 – 90º – 40° = 50° 

 

66.  temperature in kelvin = temperature in ºC + 273 

 = 78 + 273  

 = 351  

 dsfYou esa rki = ºC esa rki + 273  

 = 78 + 273  

 = 351 K 

 

81. (D) The pattern is (izk:i gS) +4, +8, +12, ....... 

 

82. Second letters are vowels in the order A, E, I, O, ? first 

letter of every term moved two steps forward and third 

letter of every term are moved + 3, + 4, + 5, ..... steps 

letters forward. 

 

83. (A) The lower number is the difference of the squares of 

the upper two numbers. Thus,  

 In figure (A), 122 – 82 = 80. 

 In figure (B), 162 – 72 = 207. 

  In figure (C), missing number 

 = 252 – 212 = 625 – 441 = 184. 

 

84. The letters in the word are reversed and each letter has 

preceding letter as code. 

 ORDINARY  Y R A N I D R O 

  

 X Q Z M H C Q N 

 

94. (D) S is in the middle. 

 lqcks/k e/; esa cSBk gqvk gSA 
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SAMPLE TEST PAPER 

(For Class-X Appearing / Passed Students) 

COURSE : SAMBHAV(MF) 02 
TARGET  AIIMS/NEET  

 

No. of 

Questions
Correct Wrong Total

1 to 40 PART-I (Biology) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 40 4 –1 160

41 to 60 PART-II (Physics) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 20 4 –1 80

61 to 80 PART-III (Chemistry) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 20 4 –1 80

81 to 100 PART-IV (Mental Ability) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 20 4 –1 80

S.No. Subject Nature of Questions
Marks to be awarded

 
 

PART - I (BIOLOGY)  Hkkx - I ¼tho foKku½ 
 

SECTION : (Maximum Marks : 160) 

[kaM  : (vf/kdre vad : 160) 

 This section contains FOURTY (40) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 
 bl [kaM esa pkyhl (40)  iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad  % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0 ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

1.  Wavelength of PAR is 

 PAR dh rajxnS/;Z gSA 

 (1) 200 – 400 nm   (2) 400 – 700 nm     
 (3) 700 – 900 nm  (4) 100 – 200 nm  
 

2. The breakdown of oxyhaemoglobin into oxygen and 
haemoglobin in the tissue will be increased if 

 (1) Blood pH increases     
 (2) CO2 in blood increases 
 (3) Decreasing quantity of free fatty acids in blood  
 (4) Blood pH decreases 

 Årdksa esa vkWDlh&gheksXyksfcu dk vkWDlhtu rFkk gheksXyksfcu 

esa fo[k.Mu c<+ ldrk gS ;fn 

 (1) :f/kj dk pH c<+ tk,     

 (2) :f/kj dk CO2 c<+ tk,    

 (3) :f/kj esa Lora=k olk vEyksa dh ek=kk ?kVus ij  

 (4) :f/kj dk pH ?kV tk,A 

 
 

 
3. What is wrong about facilitated diffusion.   
 (1) It is highly selective   
 (2) It shows uphill transport 
 (3) It requires carrier protein    
 (4) It proceeds according to concentration gradient with 

out expenditure of energy  

 lqlk/; folj.k ds ckjs esa D;k xyr gS -  

 (1) ;g vR;f/kd p;ukRed gksrk gS  

 (2) ;g vifgy ifjogu dks n'kkZrk gS  

 (3) blds fy;s okgd izksVhu dh vko';drk gksrh gS  

 (4) ;g mikip;h ÅtkZ dks [kpZ fd;s fcuk lkUnzrk izo.krk ds 

vuqlkj gksrk gS 
 

4. Waste products of protein metabolism which are excreted 
in urine by man 

 (1) Uracil, ammonia, urea  
 (2) Urea, uric acid, sodium chloride   
 (3) Urea, melanin, guanin   
 (4) Urea, uric acid, creatinine 

 euq"; ds ew=k esa izksVhu mikip; ds QyLo:i cus oT;Z inkFkZ gksrs gS 

 (1) ;wjsfly] veksfu;k] ;wfj;k   

 (2) ;wfj;k] ;wfjd vEy] lksfM;e DyksjkbM   

 (3) ;wfj;k] ;wfjd vEy] xqvkfuu   

 (4) ;wfj;k] ;wfjd vEy] fØ,fVfuu 
 

5. A man is admitted to a hospital. He is suffering from an 
abnormally low body temperature, loss of appetite, and 
exterme thirst.His brain scan would probably show a tumor in   

 (1) Pons    (2) Cerebellum   
 (3) Hypothalamus  (4) Medulla oblonggata   

 ,d O;fDr vLirky esa HkrhZ gS og de 'kjhj rki] Hkw[k dh deh 

vkSj cgqr vf/kd I;kl ls ihfM+r gS mlds efLr"d dk LdSu 

fdl Hkkx esa V;wej fn[kk ldrk gSa    

 (1) ikWUl    (2) vuqefLr"d   

 (3) gkbiksFkSysel   (4) esMqyk vksCykasxsVk 

 

6. Which of the following does not require pollinator   
 (1) Ornithophily  (2) Anemophily  
 (3) Cleistogamy  (4) Hydrophily 

 fuEu esa ls fdlesa ijkxd vko';d ugha gSA  

 (1) vkWfuZFkksfQyh   (2) ,fueksfQyh 

 (3) DyhLVksxseh   (4) gkbMªksfQyh 
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7. If the blood group of son of a couple is 'O' and its mother's 

blood group is 'B'. Which of the following blood group will 
not present in its father.      

 ;fn ,d nEirh ds iq=k dk :f/kj lewg 'O' gS rFkk bldh ekrk 

dk lewg 'B' gSA fuEu esa ls dkSulk :f/kj lewg blds firk esa 

mifLFkr ugha gksxkA 

 (1) O   (2) A  (3) B  (4) AB 
 

8. Human is considered as Omnivorous. Which of the 
following animal is also involved in this category 

 (1) Frog (2) Hawk (3) Crow (4) Fish            

 euq"; dks lokZgkjh ekuk tkrk gS] fuEu esa ls dkSulk tUrq Hkh 

bl Js.kh esa 'kkfey gS -     

 (1) esa<d  (2) ckt  (3) dkSvk  (4) eNyh 
 

9. Ex situ conservation is carried out in: 
 (1) Sanctuary  (2) National park  
 (3) biosphere reserve (4) Zoo  

 mLFkkus laj{k.k (Ex situ conservation) fdlesa fd;k tkrk gS  

 (1) vHk;kj.;   (2) jk"Vªh; m|ku  

 (3) tSo e.My fjtoZ  (4) tUrqvky;  

10.  Light reaction in stroma lamellae of the chlorplast results 
in the formation of  

 gfjryod dh LVªksek iVfydkvksa esa gksus okyh izdk'k vfHkfØ;k 

ds ifj.kkeLo:i D;k curk gSA  

 (1) NADPH2  (2) ATP + NADPH2  
 (3) ATP    (4) O2 
 

11. Diaphram during inspiration 
 (1) Contracts  (2) Expands   
 (3) Remains unchanged (4) None of them 

 fu'olu dh voLFkk esa Mk;ÝkWe 

 (1) fldqM+rk gS  (2) QSyrk gS   

 (3) vifjofrZr jgrk gS (4) buesa ls dksbZ ugha 
 

12. Osmotic pressure of a solution is      
 (1) More than that of pure solvent   
 (2) Less than that of pure solvent 
 (3) Variable depending upon concentration  
 (4) Equal to that of pure solvent 

 ,d foy;u dk ijklj.k nkc gSA    

 (1) 'kq) foyk;d ls vf/kd    

 (2) 'kq) foyk;d ls de  

 (3) ifjorZu 'khy] lkUærk ij fuHkZj   

 (4) 'kq) foyk;d ds cjkcj  

13. Maximum reabosorption of sodium and water occurs in 
 (1) Proximal convoluted tubule    
 (2) Distal convoluted tubule   
 (3) Loop of Henle     
 (4) All of them 

 lksfM;e rFkk ty dk lokZf/kd vo'kks"k.k dgk¡ gksrk gS 

 (1) lehiLFk dq.Mfyr ufydk  

 (2) nwjLFk dq.Mfyr ufydk 

 (3) gsuys dk ywi    

 (4) ;s lHkh 

 

14. Body co-ordination is exhibited by  
 (1) Blood vascular system  
 (2) Nervous system 
 (3) Endocrine system   
 (4) Nervous and endocrine system 

 'kjhj ds leUo; rU=k gSa    

 (1) #f/kj ifjlapj.k rU=k   

 (2) rfU=kdk rU=k 

 (3) vUr%ókoh rU=k    

 (4) rfU=kdk ,oa vUr%ókoh rU=k 

 

15.   Carrying of male gametes by pollen-tube is called  
 (1) Porogamy   (2) Zoodiogamy  
 (3) Siphonogamy  (4) Chalazogamy 

 ijkxuyh }kjk uj ;qXedksa dks ys tkuk dgykrk gSA  

 (1) iksjksxseh     (2) twfM;ksxseh   

 (3) lkbQksuksxseh   (4) dsystksxseh  
 

16. It Anitrrhinum majus, red (RR) flowered plant is crossed with 
white (rr) flowered plants. On selfing  of F1 generation, F2 
generation obtained. How many phenotypes produced & what 
was the %  production of red flowered plants respectively 
in F2 generation.   

 (1) 2, 50%   (2) 3, 25%  
 (3) 3, 50%   (4) 25% 

 ,UVhfjue eStl esa yky (RR) iq"i/kkjh ikni dks 'osr iq"i/kkjh 

(rr) ikni ds lkFk ØkWl djk;k x;k gS F1 ih<+h ds Loijkx.k ls 

F2 ih<+h izkIr gksrh gSA F2 ih<+h esa Øe'k% fdrus y{k.k iz:i 

mRié gq, rFkk yky iq"i/kkjh ikniksa  dk fdrus % mRiknu 

gqvkA 

 (1) 2, 50%   (2) 3, 25%  
 (3) 3, 50%   (4) 25% 
 

17. The breakdown of detritus in to smaller particles by 
detrivores. Which of the following is not detrivore? 

 (1) Earthworm  (2) Bacteria  
 (3) Fungi   (4) Sparrow 

 vijngkjh }kjk vijn dk vi?kVu lw{e d.kksa esa gksrk gS fuEu 

esa dkSu vijngkjh ugh gS\ 

 (1) dSapqvk   (2) thok.kq  

 (3) dod   (4) xkSjS;k   

 
18. Which of the following is most dangerous to wild life? 
 (1) Over exploitation   
 (2) Man made forest 
 (3) Habitat destruction   
 (4) Introduction of foreign species  

 fuEu esa ls dkSulk oU; thoksa ds fy, lcls vf/kd [krjukd gS  

 (1) vfr'kks"k.k   (2) ekuo fufeZr ou   

 (3) vkokl fo?kVu   (4) cká tkfr;ksa dk iqjLFkkiu 
 

19.  Leaves appear green because they     
 (1) Reflect green light    
 (2) Absorb green light  
 (3) Both reflect and absorb green light   
 (4) None of the above  

 ifÙk;k¡ gjh fn[kkbZ nsrh gSa] D;ksafd os  

 (1) gjs izdk'k dks ijkofrZr djrh gSA   

 (2) gjs izdk'k dks vo'kksf"kr djrh gSA  

 (3) gjs izdk'k dks ijkofrZr vkSj vo'kksf"kr nksuksa djrh gSA  

 (4) buesa ls dksbZ ugha  
 

20. Which structures are end part of the branch of trachea and 
take part in the exchange of gases  

 (1) Tracheoles  (2) Respiratory branchioles 
 (3) Terminal branchiole (4) Alveoli 

 fuEu esa ls dkSulh jpuk Qq¶Qql ds foHkktu dk vfrae Hkkx gS 

rFkk xSlh; fofue; dk LFkku gS 

 (1) Vªsfd;ksy   (2) ok;q dwidk,¡   

 (3) 'olfudk,¡  (4) ok;q dksf"Bdk 
 

21. Diffusion is very important to plants since it is the only 
means for .................    

 (1) Water translocation in root    
 (2) Gaseous exchange within plants 
 (3) Mineral translocation in root    
 (4) transport from phloem to sink 

mailto:contact@resonance.ac.in


 

 

 

 Reg. & Corp.Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH122MF # 22 

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
    

SAMPLE TEST PAPER 
 
 

02 

 
 folj.k ikni ds fy, egRoiw.kZ izfØ;k gS D;ksafd ;g ..........dh 

,d ek=k ;qfDr gS 

 (1) ewy esa ty ifjogu dh     

 (2) ikni esa xSlh; vknku&iznku dh  

 (3) ewy esa [kfut ifjogu dh    

 (4) ¶yks;e ls dqaM esa 'kdZjk ds ifjogu dh  
 

22. Which part of nephron is not situated in the cortical region 
of the kidney.    

 (1) Malpighian corpuscle (2) PCT   
 (3) DCT   (4) Loop of Henle 

 usÝksu dk dkSulk Hkkx òô ds oYdqVh; {ks=k esa fLFkr ugha gksrk gS& 

 (1) eSYih/kh nsgk.kq  (2) PCT    

 (3) DCT   (4) gsuys dk ywi 
 

23. If a person has lost his memory in an accident, the 
following part of the brain have got injured   

 (1) Diencephalon  (2) Medulla oblongata 
 (3) Cerebellum  (4) Cerebrum 

 fdlh O;fä dh ,d nq?kZVuk esa Le`fr [kRe gks tkrh gS rks fuEu 

esa ls ,d vax nq?kZVukxzLr gqvk gksxk] og gS &  

 (1) Mkb,uflQsykWu   (2) esM~;qyk vkWCyksaxsVk  

 (3) lsjhcsye   (4) lsjhcze   
  

24. How does Amoeba reproduce?  
 (1) Binary fission   (2) Budding   
 (3) Fragmentation  (4) Both (1) and (3) 

 vehck] tuu fdl izdkj djrk gS ? 

 (1) f}foHkktu }kjk  (2) eqdqyu }kjk  

 (3) fo[k.Mu }kjk  (4) (1) rFkk (3) nksuksa 
 

25. Analogous organs are     
 (1) Simlilar in function (2) Similar in structure 
 (3) Non functional    
 (4) Similar both in structure and function 

 le:i vax gksrs gSa 

 (1) dk;Z ds leku  (2) jpuk esa leku   

 (3) dk;Zfoghu      

 (4) dk;Z ,oa jpuk nksuksa esa leku 
 

26. Which of the following shows most functional 
characteristics of an ecosystem ?   

 (1) Pyramid of energy  (2) Pyramid of number  
 (3) Pyramid of biomass (4) All of the above 

 fuEu esa ls dkSulk ,d ikfjfLFkfrd rU=k dk çeq[k fØ;kRed 

y{k.k gS \ 

 (1) ÅtkZ dk fijkfeM   (2) la[;k dk fijkfeM  

 (3) tSo Hkkj dk fijkfeM  (4) mijksDr lHkh 
 

27. Soil erosion can be prevented by - 
 (1) Over grazing    
 (2) Removal of vagetation  
 (3) Afforestation (Plantation)  
 (4) Increasing bird population 

 e`nk vijnu jksdk tk ldrk gS & 

 (1) vfrpkj.k }kjk (over grazing) 

 (2) ouLifr dks gVkdj 

 (3) o`{kkjksi.k }kjk   

 (4) if{k;ksa dh lef"V;ka (population) c<+kdj 
 

28. Physiological calorific value of protein, fat, carbohydrate is 
respectively   

 izksVhu olk rFkk dkcksZgkbMsªV dh dkf;Zdh dSyksjh ewY; Øe'k% gSA  

 (1) 4 k.cal ; 7 k.cal ; 4 k.cal  
 (2) 5.65 k.cal ; 7 k.cal ; 4 k.cal 
 (3) 4 k.cal ; 9 k.cal ; 4 k.cal  
 (4)  4 k.cal ; 5.65 k.cal ; 4 k.cal 

29. How many molecules of oxygen (O2) are used during the 
glycolysis of one glucose molecule? 

 (1) 0   (2) 1   (3) 36  (4) 8 

 ,d Xywdkst v.kq ds Xykbdksfyfll ds nkSjku vkWDlhtu ds 

fdrus v.kq mi;ksx fd;s tkrs gSa & 

 (1) 0   (2) 1   (3) 36  (4) 8 
 

30. Which of the following has the thickest walls ?  
 (1) Right ventricle  (2) Left ventricle   
 (3) Right auricle   (4) Left auricle   

 fuEu es ls fdldh fHkfÙk lokZf/kd eksVh gksrh gS \ 

 (1) nka;s fuy;    (2) cka;s fuy;     

 (3) nka;s vkfyUn    (4) cka;s vkfyUn  
 

31. Main excretory product in the urine of frog   
 (1) Urea   (2) Ammonia   
 (3) Allantoin   (4) Uric acid 

 esa<d ds ew=k esa eq[; mRlthZ inkFkZ gksrk gS 

 (1) ;wfj;k   (2) veksfu;k   

 (3) ,sysUVkW;u   (4) ;wfjd vEYk 
 

32. Which one of the following growth regulators is known as 
stress hormone?   

 (1) Abscissic acid   (2) Ethylene  
 (3) GA3    (4) Indole acetic acid  

 fuEufyf[kr esa ls dkSu&lk o`f) fu;=kd çfrcy gkeksZu ds uke 

ls tkuk tkrk gS\       

 (1) ,Clhfld vEy   (2) ,fFkfyu   

 (3) GA3    (4) baMksy ,lhfVd vEy 
 

33. Cells of Leydig are found in     
 (1) Connective tissue of testes    
 (2) Kidneys    
 (3) Seminiferous tubules    
 (4) Islets of Langerhans 

 yhfMx dksf'kdk,¡ dgk¡ fLFkr gksrh gS 

 (1) o`"k.k dk la;ksth Ård     

 (2) o`ô    

 (3) lsehfuQsjl ufydk     

 (4) ySxajgSal }hi lewg 
 

34. Which of the following exhibit analogy 
 (1) Paddles of whale and hands of man   
 (2) Wings of pigeon and  wings of butterfly 
 (3) Wings of birds and wings of butterfly   
 (4) None of them 

 fuEu esa ls dkSu letkrrk iznf'kZr djrs gSa 

 (1) àsy ds pIiw o euq"; ds gkFk  

 (2) dcwrj ds ia[k o pexknM+ ds ia[k  

 (3) i{kh ds ia[k o frryh ds ia[k    

 (4) buesa ls dksbZ ugha 
 

35. Which of following cannot place at specific trophic level in 
a food chain?   

 (1) Quaternary consumers  
 (2) Saprophytes  
 (3) Parasites    
 (4) (2) & (3) both    

 fuEu esa ls dkSuls [kk| J`a[kyk esa fdlh fof'k"V iks"k Lrj ij 

ugha j[ks tk ldrs gSa\  

 (1) prqFkZd miHkksDrk    

 (2) e`rksithoh  

 (3) ijthoh      

 (4) (2) rFkk (3) nksuksa  
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36. Which method is most effective in controlling floods  
 (1) Digging deep canals  (2) Reforestation  
 (3) Deforestation   (4) Constructing dams 

 ck<+ dks fu;af=kr djus esa lcls vf/kd izHkkoh dkSulh fofèk gS & 

 (1) xgjh dsuky [kksnuk (2) iqu% ouhdj.k (Reforestation) 

 (3) vouhdj.k (deforestation) (4) cka/kksa dk fuekZ.k djuk 
 

37. If we take food rich in lime juice then  
 (1) Action of ptyalin on starch is enhanced  
 (2) Action of plyalin on starch is reduced  
 (3) Action of plyalin on starch is unafected  
 (4) Action of plyalin on starch is stopped.  

 ;fn ge Hkkstu esa uhacw ikuh dk mi;ksx djs rks D;k gksxk \ 

 (1) LVkpZ ij VkbZfyu dh fØ;k c<+ tk,xhA  

 (2) LVkpZ ij VkbZfyu dh fØ;k ?kV tk,xhA 

 (3) LVkpZ ij VkbZfyu dh fØ;k ogh jgsxhA  

 (4) LVkpZ ij VkbZfyu dh fØ;k :d tk,xhA 
 

38. What is the ratio of CO2 liberation between anaerobic and 
aerobic respiration   

 vok;oh; rFkk ok;oh; 'olu ds chp CO2 foeqfDr dk vuqikr 

D;k gSA 

 (1) 3 : 1 (2) 2: 4 (3) 2 : 2 (4) 1 : 3 
 

39. Enucleated blood cell is/are–  
 (1) RBC (2) WBC (3) Platelets (4) (1) & (3) both 

 fodsUnzhÑr(Enucleated) jä dksf'kdk gS@gSa& 

 (1) RBC (2) WBC (3) IysVysV~l (4) (1) rFkk (3) nksuksa 
 

40. In diuresis 
 (1) Quantity of urine Increases    
 (2) Quantity of urine decreases     
 (3) Urine becomes concentrated   
 (4) Urine contains extra sugar 

 Mkblqjhfll¼ew=kyrk½ esa D;k gksrk gS 

 (1) ew=k dh ek=kk c<+ thrh gS    

 (2) ew=k dh ek=kk de gks tkrh gS   

 (3) ew=k dh lkUnzrk c<+ tkrh gS    

 (4) ew=k esa 'kdZjk dh ek=kk c<+ tkrh gS 

 

PART - II (PHYSICS) Hkkx - II ¼HkkSfrd foKku½ 
 

SECTION : (Maximum Marks : 80) 
[kaM  : (vf/kdre vad : 80) 



 This section contains TWENTY (20) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 
 bl [kaM esa chl (20) iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

41. In the given circuit, the potential of the point E is  

 layXu fp=k esa fcUnq E dk foHko gksxk 

 

B 
C 

D 
E 1 

5 

A 
+ – 

8V 

 
 (1) Zero  ¼'kwU;½  (2) V8    

 (3) –4/3 V   (4) 4/3 V 
 

42.  At a certain place, the horizontal component of earth's 

magnetic field is 3 times the vertical component. The 

angle of dip at that place is 

 fdlh LFkku ij Hkw-pqEcdh; {kSfrt ?kVd dk Å/okZ/kj ?kVd ls 

3 xquk gS] rks ml LFkku ij ueu dks.k gksxk 

 (1) 60º (2) 45º (3) 90º (4) 30º 
 

43. Two plane mirrors are at 45° to each other. If an object is 
placed between them, then the number  of images will 
be 

 nks lery niZ.k ijLij 45° dk dks.k cukrs gSa] buds e/; ,d 

oLrq j[k nh tkrh gS] rks cuus okys dqy çfrfcEcksa dh la[;k 

gksxh  

 (1) 5  (2) 9  (3) 7  (4) 8 
 

44. When a piece of aluminium wire of finite length is drawn 
through a series of dies to reduce its diameter to half its 
original value, its resistance will become 

 (1) Two times  (2) Four times   
 (3) Eight times  (4) Sixteen times 

 ,d fuf’pr yEckbZ ds ,sY;qehfu;e ds rkj dks [khapdj mldk 

O;kl vk/kk dj fn;k tkrk gS] rks mldk izfrjks/k gks tk;sxk 

 (1) nksxquk   (2) pkj xquk   

 (3) vkB xquk   (4) lksyg xquk 
 

45. Two equal bar magnets are kept as shown in the figure. 
The direction of resultant magnetic field, indicated by 
arrow head at the point P is (approximately) 

 nks ,d tSls NM+ pqEcd fp=kuqlkj j[ks gq;s gSa A fcUnq P ij 

ifj.kkeh pqEcdh; {ks= dh fn'kk] ftls rhj dk 'kh"kZ n'kkZrk gS] 

gksxh (yxHkx) 

 

P 
• 

S N 

S 

N 

 

 (1)   (2)     (3)    (4)  

 
  

 
46. If an observer is walking away from the plane mirror with 

./6 secm  Then the velocity of the image with respect to 

observer will be 

 fdlh fLFkj lery niZ.k ds lkeus dksbZ çs{kd 6 ehVj@lSd.M 

dh pky ls niZ.k ls nwj tk jgk gSA rc çs{kd  

 ds lkis{k blds çfrfcEc dk osx gksxk 

 (1) secm /6   (2) secm /6    

 (3) secm /12   (4) secm /3  
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47.  In a neon discharge tube 
 Ne18109.2  ions move to 

the right each second while 
18102.1   electrons move to 

the left per second. Electron charge is C19106.1  . The 

current in the discharge tube  
 (1) 1 A towards right  (2) 0.66 A towards right  
 (3) 0.66 A towards left (4) Zero 

 ,d fu;ksu foltZu uyh esa 
 Ne18109.2  vk;u çfr 

lSd.M nk;ha rjQ ,oa 
18102.1   bysDVªkWu çfr lSd.M ck;ha 

rjQ pyrs gSaA bysDVªkWu ij vkos’k 
19106.1   dwykWe gSA 

foltZu uyh esa /kkjk dk eku gksxk 

 (1) 1 ,sfEi;j nk;ha vksj  (2) 0.66 ,sfEi;j nk;ha vksj  

 (3) 0.66 ,sfEi;j ck;ha vksj  (4) 'kwU; 
 

48. A long magnet is cut in two parts in such a way that the 
ratio of their lengths is 2 : 1. The ratio of pole strengths of 
both the section is 

 (1) Equal   (2) In the ratio of 2 : 1  
 (3) In the ratio of 1 : 2 (4) In the ratio of 4 : 1 

 ,d yEcs pqEcd dks nks Hkkxksa esa bl çdkj rksM+k tkrk gS fd 

mudh yEckb;ksa dk vuqikr 2 : 1 gksrk gS A nksuksa Hkkxksa ds /kzqo 

çkcY; gkasxs 

 (1) cjkcj   (2) 2 : 1 ds vuqikr esa  

 (3) 1 : 2 ds vuqikr esa (4) 4 : 1 ds vuqikr esa 
 

49.  The focal length of a concave mirror is f and the distance 
from the object to the principle focus is x.  The ratio of the 
size of the image to the size of the object is 

 ,d vory niZ.k dh Qksdl nwjh f  gS rFkk eq[; Qksdl 

(Principle focus) ls oLrq dh nwjh x  gSA çfrfcEc ds  

 vkdkj  rFkk oLrq ds vkdkj esa fu"ifÙk gksxh 

 (1) 
f

xf 
 (2) 

x

f
 (3) 

x

f
 (4) 

2

2

x

f
 

 

50. In the figure shown, the total resistance between A and B is  

 fn;s x;sa fp=k esa A  vkSj B  ds chp dqy izfrjks/k gksxk 

 

A 

B 

2 1 1 1 1 1 

2 1 1 1 1 1 

8 8 4 

D 

C 

 

 (1) 12  (2) 4  (3) 6  (4) 8  

51. In the case of bar magnet, lines of magnetic induction 

 (1) Start from the north pole and end at the south pole 

 (2) Run continuously through the bar and outside 

 (3) Emerge in circular paths from the middle of the bar 

 (4) Are produced only at the north pole like rays of light 

from a bulb 

 n.M pqEcd ds fy, pqEcdh; çsj.k dh cy js[kk,¡ 

 (1) mÙkjh /kzqo ls fudyrh gasS rFkk nf{k.kh /kzqo ij lekIr gksrh gSa 

 (2) n.M pqEcd ds Hkhrj vkSj ckgj lrr jgrh gSa 

 (3) mlds dsUnz ls o`Ùkh; iFk ij fudyrh gSa 

 (4) mÙkjh /kzqo ls dsoy mRlftZr gksrh gSa] tSls çdk'k cYc ls 

çdk'k fdj.ksa 
 

52. In a concave mirror experiment, an object is placed at a 

distance 1x  from the focus and the image is formed at a 

distance 2x  from the focus. The focal length of the mirror 

would be 

 ;fn ,d vory niZ.k ds Qksdl ls 1x  nwjh ij fLFkr oLrq dk 

çfrfcEc Qksdl ls 2x  nwjh ij curk gS rks  

 niZ.k dh Qksdl nwjh gksxh  

 (1) 21 xx  (2) 21 xx   (3) 
2

21 xx 
 (4) 

2

1

x

x
 

53. In hydrogen atom, the electron makes 15106.6   
revolutions per second around the nucleus in an orbit of 

radius m10105.0  . It is equivalent to a current nearly  

 gkbMªkstu ijek.kq esa bysDVªkWu] ukfHkd ds pkjksa vksj izfr lSd.M 

m10105.0   pôj iw.kZ djrk gSA mlds d{k dh f=T;k 

10105.0  eh gSA blds rqY;kad dh oS|qr /kkjk yxHkx gksxh 

 (1) 1 A (2) 1 mA (3) A1  (4) A19106.1   
 

54. The magnet can be completely demagnetized by  
 (1) Breaking the magnet into small pieces   
 (2) Heating it slightly 
 (3) Droping it into ice cold water    
 (4) A reverse field of appropriate strength 

 PkqEcd dks iwjh rjg fopqEcfdr fd;k tk ldrk gS  

 (1) pqEcd dks NksVs-NksVs VqdM+ksa esa rksM+dj     

 (2) bls FkksM+k lk xeZ djds 

 (3) bls cQZ ds BaMs ty esa Mkydj     

 (4) mfpr {kerk dks ,d foijhr {ks=k ds }kjk 
 

55. How much water should be filled in a container 21 cm in 
height, so that it appears half filled when viewed from the 

top of the container  (given that 3/4a ) 

 (1) 8.0 cm   (2) 10.5 cm   
 (3) 12.0 cm   (4) None of the above 

 21 lseh Å¡ps crZu esa fdl ÅWpkbZ rd ikuh Hkjk tk;s fd crZu 

Åij ls ns[kus ij vk/kk Hkjk çrhr gks (fn;k gS 3/4a ) 

 (1) 8.0 lseh   (2) 10.5 lseh   

 (3) 12.0 lseh   (4) mijksä esa ls dksbZ ugha 

56. n equal resistors are first connected in series and then 
connected in parallel. What is the ratio of the maximum to 
the minimum resistance 

 n  ,d leku izfrjks/k igys Js.khØe esa tksMs+ tkrs gSa fQj lekUrj 

Øe esa rks vf/kdre ,oa U;wure izfrjks/k dk vuqikr gksxk 

 (1) n  (2) 
2

1

n
 (3) 

2n  (4) 
n

1
 

57. A ray of light is incident at an angle i from denser to rare 
medium. The reflected and the refracted rays are mutually 
perpendicular. The angle of reflection and the angle of refraction 
are respectively r and r’, then the critical angle will be 

 ,d çdk’k dh fdj.k l?ku ek/;e ls fojy ek/;e ij i dks.k ls 

vkifrr gksrh gSA ijkofrZr ,oa viofrZr fdj.ksa ijLij yEcor~ 

gSaA ijkorZu ,oa viorZu dks.k Øe’k% r rFkk r  gSaA rc Øakfrd 

dks.k ¼pje dks.k½ gksxk 

 

r
1 

r
 i

 

 

 (1) )(sinsin 1 r
  (2) )'(tansin 1 r

   

 (3) )(tansin 1 i
  (4) )(sintan 1 i
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58. The reading of the ammeter as per figure shown is           

(T-grouping)  : fp=k esa vehVj dk ikB gksxk 

 

2 

2 

2 

2 

2V 

A 

 

 (1) A
8

1
 (2) A

4

3
 (3) A

2

1
 (4) 2 A  

59. A beam of light is converging towards a point I  on a 

screen. A plane glass plate whose thickness  in the 

direction of the beam = t , refractive index =  , is 

introduced in the path of the beam. The  convergence 
point is shifted by 

 ,d çdk’k fdj.k iq¡t insZ ij fdlh fcUnq I ij vfHklfjr gks jgh 

gSA ,d lery dk¡p dh lekUrj IysV ftldh eksVkbZ t rFkk 

viorZukad   gS, dks fdj.k iq¡t ds iFk esa j[kk tkrk gS rks 

vfHklkjh fcUnq foLFkkfir gks tk;sxk 

 (1) 













1
1t  away  nwj (2) 














1
1t  away  nwj 

 (3) 













1
1t  nearer ikl (4) 














1
1t  nearer  ikl 

60. The magnetism of magnet is due to  
  (1) The spin motion of electron     (2) Earth 
 (3) Pressure of big magnet inside the earth  
 (4) Cosmic rays 

 pqEcd esa pqEcdRo dk dkj.k gS 

 (1) bysDVª¡ku dh ?kw.khZ; xfr   (2) Ik`Foh  

 (3) Ik`Foh esa Hkkjh pqEcdh; nkc ds dkj.k   

 (4) dkWfLed fdj.kas 

 

PART - III (CHEMISTRY) Hkkx - III ¼jlk;u foKku½ 

 Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 

14, O = 16, F = 19, Na = 23, Mg = 24, Al = 27, Si = 28, P = 31, 
S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, 
Cu = 63.5,  Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  
Ba = 137, Hg = 200, Pb = 207] 

SECTION : (Maximum Marks : 80) 

[kaM  : (vf/kdre vad : 80) 

 This section contains TWENTY (20) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 
 bl [kaM esa chl (20) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 
 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

61. ________ is a physical change where surface molecules 
of a liquid escape. 

 (1) evaporation  (2) condensation  
 (3) foaming   (4) None of these 

 ____ HkkSfrd ifjorZu es nzo ds lrg okys v.kq mM+ tkrs gS & 

 (1) ok"iu   (2) la?kuu   

 (3) >kx cuuk  (4) buesa ls dksbZ ughs 
 

62. Formalin is 40 % solution of - 
 (1) methanol  (2) methanal  
 (3) methanoic acid  (4) none of these 

 QkseZyhu ?kksy esa 40 % Hkkx gksrk gS & 

 (1) esFksuksy dk  (2) esFksuky dk  

 (3) esFksuksbd vEy dk (4) buesa ls dksbZ ughs 
 

63. Which of the following is a ferrous alloy ? 
 (1) Solder    (2) Invar    
 (3) Brass    (4) Magnalium 

 fuEu esa ls dkSulh ykSg feJ/kkrq gSa & 

 (1) lksYMj     (2) buoj   

 (3) czkl    (4) eSXusfy;e 
 

64. Methane is insoluble in - 
 (1) ether    (2) water    
 (3) alcohol   (4) carbon tetrachloride 

 esFksu fuEu esa vfoys; gksrk gS & 

 (1) bZFkj    (2) ty    

 (3) ,Ydksgy   (4) dkcZu VsVªkDyksjkbM 
 

65. Which of the following is a correct pair according to 
increasing atomic number ? 

 dkSulk tksM+k ijek.kq Øekad ds c<+rs gq, Øe esa gS & 

 (1) Db, Ta    (2) Au, Ag   
 (3) Mt, Ds    (4) Bi, Te 
 

66. Oxidation is a process which involves : 
 (1) Addition of oxygen   
 (2) Removal of hydrogen  
 (3) Loss of electrons      
 (4) All are correct 

 vkWDlhdj.k og izØe gS ftlesa &  

 (1) vkWDlhtu dk la;ksx gksrk gS    

 (2) gkbMªkstu dk fo;ksx gksrk gS  

 (3) bysDVªkWu dk R;kx gksrk gS    

 (4) lHkh dFku lR; gSA 
 

67. Some substances are given below : 
 (a) magnesium oxide  (b) carbon dioxide  
 (c) sulphur dioxide  (d) calcium oxide  
 Which of the above substances, when dissolved in water, 

turn blue litmus to red ? Select the correct alternative. 
 (1) (a) and (b)  (2) (b) and (c)  
 (3) (b) and (d)  (4) (a) and (d) 

 (a) eSXus'kh;e vkDlkbM  (b) dkcZu MkbZvkWDlkbM (c) lYQj 

MkbZvkWDlkbM (d) dsY'kh;e vkWDlkbM 

 Åij fn, x;s inkFkZ esa dkSuls ikuh es ?kqydj fyVel dks uhys 

ls yky es ykrk gSA lgh fodYi pqfu,A 

 (1) (a) vkSj (b)  (2) (b) vkSj (c)  

 (3) (b) vkSj (d)  (4) (a) vkSj (d) 
 

68. Most of the jewellery is made up of : 
 (1) 22 carats gold (2) 18 carats gold (3) 20 carats gold (4) 

24 carats gold 

 T;knkrj tsoj fdlds cus gksrs gS \ 

 (1) 22 dSjV lksuk  (2) 18 dSjV lksuk  

 (3) 20 dSjV lksuk  (4) 24 dSjV lksuk 
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69. Graphite is used : 
 (1) as a lubricant  (2) in pencil lead 
 (3) purification of water  (4) (1) & (2) both 

 xzsQkbM dk bLrseku fd;k tkrk gS \ 

 (1) Lusgd ds :i esa  (2) iSUlhy ysM esa  

 (3) ikuh ds 'kqf)dj.k esa (4) (1) o (2) nksuksa 
 

70. Which of the following properties does not match to the 
elements of halogen family ? 

 (1) They have seven electrons in their valence shells. 
 (2) They are diatomic in their molecular form. 
 (3) They are highly reactive chemically . 
 (4) They are metallic in nature 

 fuEu esa ls dkSuls xq.k gSykstu ifjokj ds rRoksa ds leku gS &  

 (1) muds laeksthdks"k esa 7 e– gksrs gSA 

 (2) muds vk.fod :i esa f}ijekf.kd gksrs gSA 

 (3) os jklk;fud :i ls cgqr T;knk fØ;k'khy gksrs gSA 

 (4) os /kkfRod izd`fr ds gksrs gSA 
 

71. In the reaction PbO + C  Pb + CO 
 (1) PbO is oxidized.    
 (2) C acts as oxidsing agent. 
 (3) C acts as a reducing agent.   
 (4) This reaction does not represent redox reaction. 

 PbO + C  Pb + CO  

 nh x;h vfHkfØ;k esa 

 (1) PbO vkWDlhd`r gksrk gSA     

 (2) C ,d vkWDlhdkjd dh rjg dk;Z djrk gSA  

 (3) C ,d vipk;d rjg dh dk;Z djrk gSA  

 (4) ;g vfHkfØ;k fjMkWDl vfHkfØ;k ugha gSA 
 

72. Which of the following sentences is not a characteristic 
of acid ? 

 (1) Sour in taste      
 (2) When they react with base, salt is formed  
 (3) They have replacable hydrogen   
 (4) None of these  

 fuEu okD;ksa esa ls dkSulh vEyksa dh fo'ks"krk ugha gS \ 

 (1) [kêk Lokn      

 (2) {kkj ds lkFk fØ;k djds yo.k cukrs gSA 

 (3) foLFkkiu ;ksX; gkbMªkstu j[krs gSA   

 (4) buesa ls dksbZ ugha 
 

73. Which of the following metals is a component of stainless 
steel ? 

 fuEu esa ls dkSulk /kkrq taxjks/kh bLikr dk ?kVd gS \ 

 (1) Mn (2) Cr  (3) Hg  (4) Sn 
 

74. When ethyl alcohol is heated with conc. H2SO4 the product 
formed is: 

 tc bFkkbZy ,Ydksgy dks lkanz lY¶;wfjd vEy ds lkFk xeZ 

fd;k tkrk gS rks mRikn feyrk gS & 

 (1) C4H8 (2) C2H4       (3) C3H4 (4) C2H2 
 

75. Choose the correct order of atomic radii of Fluorine and 
Neon (in pm) out of the options given below : 

 uhps fn;s x, foDYiksa esa ls Qyksjhu rFkk fuvkWu dh ijekf.od 

f=T;k ( pm esa) ds lgh Øe dks pqfu;s &  

 (1) 72, 160   (2) 160, 160  
 (3) 72, 72   (4) 160, 72 
 

76. The gas produced from thermal decomposition of 
(NH4)2Cr2O7 is : 

  (1) oxygen    (2) nitric oxide    
 (3) ammonia   (4) nitrogen 

 (NH4)2Cr2O7 ds Å"eh; fo?kVu ls mRiUu xSl gS & 

  (1) vkWDlhtu  (2) ukbZfVªd vkWDlkbM  

 (3) veksfu;k   (4) ukbVªkstu 
 

77. A solution reacts with crushed egg-shells to give a gas 
that turns lime water milky. The solution contains -   

 ,d foy;u v.Ms ds fNyds ls fØ;k djds ,slh xSl mRiUu 

djrk gS tks pwus ds ikuh dks nwf/k;k cuk nsrh gSA bl foy;u 

esa mifLFkr gksrk gS &  

 (1) NaCl (2) HCl (3) LiCl (4) KCl 
 

78. Which of the following will give displacement reaction ? 
 (1) NaCl solution and copper metal   
 (2) MgCl2 solution and silver metal  
 (3) FeSO4 solution and silver metal   
 (4) AgNO3 solution and copper metal 

 buesa ls dkSulh foLFkkiu vfHkfØ;k gS & 

 (1) ued dk ?kksy vkSj rk¡ck    

 (2) esfXuf'k;e dk ?kksy vkSj pk¡nh 

 (3) Qsjl lYQsV dk ?kksy vkSj pk¡nh    

 (4) flYoj ukbVªsV vkSj rk¡ck  
 

79. Charring of sugar in concentrated sulphuric acid is due to 
 (1) Oxidation of sugar (2) Reduction of sugar 
 (3) Hydrolysis of sugar (4) Dehydration of sugar 

 lkUnz lYQ;wfjd esa phuh dk tydj dkyk iM+ tkus dk dkj.k gS & 

 (1) phuh dk vkWDlhdj.k (2) phuh dk vip;u 

 (3) phuh dk tyvi?kVu (4) phuh dk futZyhdj.k 
 

80. Which of the following represents the electronic 
configuration of d-block elements ? 

 fuEu esa ls dkSulk d-CykWd ds bysDVªfud foU;kl dks n'kkZrk gS &  

 (1) (n–1)s2 nd1–10  (2) (n–1)d1–10ns0-2  
 (3) (n–1)d1–10 ns2p4 (4) (n–1)p4ns2 
 

PART - IV (MENTAL ABILITY) Hkkx - IV (ekufld ;ksX;rk) 
 

SECTION : (Maximum Marks : 80) 

[kaM  : (vf/kdre vad : 80) 


 This section contains TWENTY (20) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa chl (20) iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 
 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad %   0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS 

¼vFkkZr~ iz'u vuqÙkfjr gS½A 

 _.k vad  % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

Direction (81 to 83) Find the mising term. 

funsZ'k (Q.81 ls 83) % yqIr in Kkr djsaA 

81. 7, 19, 55, 163, _ 
 (1) 387   (2) 329  
 (3) 527   (4) 487 
 
82. KTE, SBM, AJU, IRC, ? 
 (1) KZQ   (2) ZRL  
 (3) QZK   (4) LYJ 
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83.  

 (1) 125   (2) 216  
 (3) 121   (4) 225 

 
84. If SPECIAL is coded as KZHBDOR then ORDINARY 

would be ? 

 ;fn SPECIAL dks KZHBDOR dksM fd;k tkrk gS] rc 

ORDINARY gksxk & 

 (1) ZQBMHCSX  (2) XQZOHCQN  
 (3) XQZMHCQN  (4) ZQBHOBQZ 
 
Directions : (85) Five persons are sitting in a row. One of the 

two persons at the extreme ends is intelligent and other 

one is fair. A fat person is sitting to the right of a weak 

person. A tall person is to the left of the fair person and 

the weak person is sitting between the intelligent and the 

fat person. 

funsZ'k % (85) ikap O;fä ,d iafä esa bl izdkj cSBs gS fd iafä ds 

vfUre fljks ij cSBs nks O;fDr;ksa esa ls ,d cqf)eku rFkk nwljk 

xksjk gSA ,d eksVk O;fDr] detksj O;fDr ds nka;s vkSj cSBk gSA 

,d yEck O;fDr] xksjs O;fDr ds ck;sa gS rFkk detksj O;fDr] 

cqf)eku vkSj eksVs O;fDr ds e/; es cSBk gqvk gSA  

85. Tall person is at which place counting from right ? 

 (1) First (2) Second (3) Third (4) Fourth 

 yEck O;fDr nka;s ls dkSuls LFkku ij gSA  

      (1) igys  (2) nwljs (3) rhljs  (4) pkSFks 

 

Directions (86) : In the question below are given two 

statements followed by two conclusions numbered I and 

II. You have to take the given two statements to be true 

even if they seem to be at variance from commonly known 

facts. Read the conclusion and then decide which of the 

given conclusions logically follows from the two given 

statements, disregarding commonly known facts.  

funsZ'k (86) % 

 uhps fn;s x;s iz'u esa nks dFku vkSj muds ckn nks fu"d”"kZ fn;s 

gq, gSA dFkuksa ds vuqlkj dkSuls fu"d"kZ lgh gksaxsA 

86.  Statements :  Some doctors are fools. Some fools are rich. 

 Conclusions :  I. Some doctors are rich.  

       II. Some rich are doctors. 

 (1) if only conclusion I follows     

 (2) if only conclusion II follows 

 (3) if neither conclusion I nor II follows   

 (4) if both conclusions  I and II follow.  

 dFku % dqN MkWDVj ew[kZ gSaA dqN ew[kZ vehj gSaA 

 fu"d”"kZ % I. dqN MkWDVj vehj gSaA II. dqN vehj MkWDVj gSaA 

 (1) dsoy I fu"d”"kZ lgh gSA    

 (2) dsoy II  fu"d”"kZ  ”lgh gSA 

 (3) dksbZ Hkh fu"d”"kZ lgh ugha gSA    

 (4) nksuks fu"d”"kZ lgh gSA  

 

Directions : (87) Read the following information and answer the 

question based on it : 

 In a school, there were five teachers. A and B were 

teaching Hindi and English C and B were teaching English 

and Geography. D and A were teaching Mathematics and 

Hindi. E and B were teaching History and French. 

funsZ'k : (87) fuEu lqpukvksa dks i<+dj ml ij vk/kkfjr iz'u dk mÙkj 

nhft;s& 

 ,d fo|ky; esa ik¡p v/;kid FksA A rFkk B, fgUnh vkSj vxsazth 

i<+k jgs Fks] C rFkk B, vxsazth vkSj Hkwxksy i<+k jgs FksA D rFkk A, 

xf.kr vkSj fgUnh i<+k jgs FksA E rFkk B, bfrgkl vkSj Qkjlh 

i<+k jgs FksA 

87. Who among the teachers was teaching maximum number 

of subjects ? 

 v/;kidksa esa dkSu lcls vf/kd fo"k; i<+k jgk Fkk ? 

 (1) A  (2) B  (3) C  (4) D 

 

88. If the day before yesterday was Saturday, what day will 

fall on the day after tomorrow ? 

 (1) Friday   (2) Thursday   

 (3) Wednesday  (4) Tuesday 

 ;fn chrs dy ls igys dk fnu 'kfuokj Fkk] rc vkus okys dy 

ds ckn dk fnu dkSulk gksxk \ 

 (1) 'kqØokj   (2) xq:okj   

 (3) cq/kokj   (4) eaxyokj 

89. Which of the following dices is identical to the unfolded 

figure as shown here ? 

 fuEufyf[kr esa ls dkSuls ikls dks [kksyus ij fn[kkbZ xbZ vkd`fr 

ds leku gksxk \ 

 

P

TR

S

U Q
 

 (1) 
P

S T
   (2) 

Q

T R
  

 (3) 
P

S U
   (4) 

P

T Q

 

 

Direction (90 to 92) Find the missing term. 

funsZ'k (Q.90 ls 92) % yqIr in Kkr djsaA 

90. 5, 8, 13, 22, 37, __ 

 (1) 60    (2) 64   

 (3) 68    (4) 66 
 

91. B–4, D–16, F–36, ? 

 (1) G–49   (2) H–64  

 (3) J–100   (4) H–81 

 

mailto:contact@resonance.ac.in


 

 

 

 Reg. & Corp.Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 

Website : www.resonance.ac.in | E-mail : contact@resonance.ac.in 
STPPH122MF # 28 

Toll Free : 1800 258 5555 | CIN: U80302RJ2007PLC024029 
    

SAMPLE TEST PAPER 
 
 

02 

 

92. 

286

7

16

34

?
142

 

 (1) 72    (2) 70   

 (3) 68    (4) 66 

 

93. If watch is called room, room is called bag, bag is called 

rain, rain is called air and air is called water, Which is 

used to carry the books ? 

 (1) room   (2) bag   

 (3) rain   (4) air 

 ;fn ?kM+h dks dejk dgk tk,] dejs dks FkSyk dgk tk;] FkSys 

dks o"kkZ dgk tk,] o"kkZ dks gok vkSj gok dks ikuh dgk tk;] 

rks fdldk mi;ksx fdrkcs ys tkus ds fy;s fd;k tkrk gSA 

 (1) dejk   (2) FkSyk  

 (3) o"kkZ    (4) gok 

 

94. In question no. 85 Person to the left of weak person 

possesses which of the following characteristics ? 

 (1) Intelligent  (2) Fat  

 (3) Fair   (4) Tall  

 iz'u la[;k 85 esa detksj O;fDr ds ck¡;s vksj fuEu esa ls 

dkSulk O;fä cSBk gqvk gSA  

 (1) cqf)eku   (2) eksVk  

 (3) xksjk   (4) yEck 

 
Directions (95) : In the question below are given two 

statements followed by two conclusions numbered I and 

II. You have to take the given two statements to be true 

even if they seem to be at variance from commonly known 

facts. Read the conclusion and then decide which of the 

given conclusions logically follows from the two given 

statements, disregarding commonly known facts.  

funsZ'k (95) % 

 uhps fn;s x;s iz'u esa nks dFku vkSj muds ckn nks fu"d”"kZ fn;s 

gq, gSA dFkuksa ds vuqlkj dkSuls fu"d"kZ lgh gksaxsA 

95.  Statements : All fish are tortoise. No tortoise is a crocodile. 

 Conclusions : I. No crocodile is a fish.  

      II. No fish is a crocodile.  

 (1) if only conclusion I follows     

 (2) if only conclusion II follows 

 (3) if neither conclusion I nor  II  follows   

 (4) if both conclusions  I and II follow.  

 dFku % lHkh eNfy;k¡ dNq,sa gSaA dksbZ dNqvk exjePN ugh gSA 

 fu"d”"kZ % I. dksbZ exjePN eNyh ugha gSA 

     II. dksbZ eNyh exjePN ugh gSA 

 (1) dsoy I fu"d”"kZ lgh gSA     

 (2) dsoy II  fu"d”"kZ  ”lgh gSA 

 (3) dksbZ Hkh fu"d”"kZ lgh ugha gSA    

 (4) nksuks fu"d”"kZ lgh gSA  

96. In question no. 87 Which of the following pairs was 

teaching both Geography and Hindi ? 

 (1) A and B   (2) B and C   

 (3) C and A   (4) None of these 

 iz'u la[;k 87 esa fuEu esa ls dkSulk ;qXe] Hkwxksy rFkk fgUnh 

nksuksa i<+k jgs Fks ? 

 (1) A rFkk B   (2) B rFkk C   

 (3) C rFkk A   (4) buesa ls dksbZ ugh 

97. If 1st October is Sunday then 1st November of the same 

year will be : 

 (1) Monday   (2) Tuesday   

 (3) Wednesday  (4) Thursday 

 ;fn 1 vDVwcj dks jfookj gks rks mlh o"kZ esa 1 uoEcj dks D;k 

gksxk& 

 (1) lkseokj   (2) eaxyokj   

 (3) cq/kokj   (4) xq:okj 

98. Which alphabet is opposite D ? 

 D ds foijhr dkSulk v{kj gksxk ? 

    

 (1) E    (2) C    

 (3) F    (4) A 

 

99. If E = 5 & SAFE = 31, then PINK = ? 

 ;fn E = 5 vkSj SAFE = 31, rc PINK = ? 

 (1) 51    (2) 40    

 (3) 50    (4) 52 

 

100. In question no. 85 Which of the following persons is 

sitting at the centre ? 

 (1) Intelligent  (2) Fat  

 (3) Fair   (4) Weak 

 iz'u la[;k 85 esa fuEu esa ls dkSulk O;fDr e/; esa cSBk gqvk gS \ 

 (1) cq)eku   (2) eksVk   

 (3) xksjk   (4) detksj 
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ANSWER KEY TO SAMPLE TEST PAPER-2 

  

1.  (2)   2.  (2) 3.  (2) 4. (4) 5. (3) 
6. (3)  7. (4) 8. (3) 9. (4)  10.  (3) 
11. (1)  12. (1)  13. (2) 14. (4) 15.   (3)  
16. (2)  17. (4)  18. (3) 19.  (1)  20. (4) 
21. (2)   22. (4) 23. (4)  24. (1) 25. (1) 
26. (1)  27. (3) 28. (3) 29. (1) 30. (2) 
31. (1)  32. (1) 33. (3) 34. (2) 35. (4)  
36. (2)  37. (2) 38. (4) 39. (1) 40. (1) 
41. (3)  42.  (4) 43. (3) 44. (4) 45. (2) 
46. (3)  47.  (2) 48. (1) 49.  (2) 50. (4) 
51. (2)  52. (2) 53. (2) 54. (4) 55. (3) 
56. (3)  57. (3) 58. (2) 59. (1)  60. (1) 
61. (1)  62. (2) 63. (2) 64. (2)  65. (3) 
66. (3)  67. (2) 68. (1) 69. (4) 70. (4) 
71. (3)  72. (4) 73. (2) 74. (2) 75. (1) 
76. (2)  77. (2) 78. (4)  79. (4) 80. (2) 
81. (4)  82. (3) 83. (2) 84. (3) 85. (2) 
86.  (3)   87. (2) 88. (3) 89. (4) 90. (1) 
91. (2)   92. (2) 93. (3) 94. (1) 95.  (4)  
96. (4)  97. (3) 98. (2) 99. (3) 100. (2)   
 

HINTS & SOLUTIONS TO SAMPLE TEST PAPER-2 
 

41. The current in the circuit 
3

4

15

8



  

 Now 1
3

4
 EC VV   VVE

3

4
  

42.  ,3 VH BB  also o

H

V

B

B
30

3

1
tan    

43. 71
45

360
n  

44. In stretching of wire 
4

1

r
R   

46. 

 

6m/sec 6m/sec 

I O 
 

 (3) Relative velocity of image ... trw  object 

 sec/12)6(6 m  

47.  Net current 
t

qn

t

qn
iii

)()()()( 
   

 

 

i 

Ne
+ 

+ – 

e
– 

 

  e
t

n
e

t

n
i   )()(

 

 19181918 106.1102.1106.1109.2    

  Ai 66.0  

49.  ;
uf

f

O

I


  where u = f + x   

x

f

O

I
  

 

52. Given )( 1xfu   and )( 2xfv   

 The focal length 
)()(

))((

21

21

xfxf

xfxf

vu

uv
f







  

 On solving, we get 21
2 xxf   or 21 xxf   

 

53. i = q 1519 106.6106.1   mAA 11056.10 4    
 

55. To see the container half-filled from top, water should be 
filled up to height x  so that bottom of  the container 
should appear to be raised upto height (21–x). 

 As shown in figure apparent depth )21(' xh   

  Real depth xh   

  

 

(21 – x ) 

x 

Bottom Raised bottom 

(21 – x ) 

21 cm 

  

  12
213

4

'



 x

x

x

h

h
 cm  

56. nRR max  and nRR /min    2

min

max n
R

R
  

57. 
Ci

r

r

i
DRRD

sin

1

sin

sin

sin

sin






   

 
i

i

r

i

r

i
C

cos

sin

cos

sin

)90sin(

sin
sin 


   (as i = r) 

 )(tansintansin 1 iCiC   

58.  

 

 

2 

2 

2 

2 2V 

X Y 

A 

 

 (2) Resistance across XY 
3

2  

 Total resistance 
3

8

3

2
2  

Current through ammeter A
4

3

8

6

3/8

2
    

59.  

 
 

 

t 

I ' I 

x 

 
 (1) Normal  

 shift tx 












1
1  

 and shift takes place in direction of ray.  
 
81. Series : (7 × 3) – 2, (19 × 3) – 2, (55 × 3) – 2, (163 × 3) – 2 

487 (4). 
 No. is multiplied by 3 and then subtract 2. 
 

82. First letter of each group differ by 8 letters. Second letter of each 
group differ by 8 letters. Third letter of each group differ by 8 
letters. Therefore, the next choice would be QZK. 

 

84. The letters in the word are reversed and each letter has 
preceding letter as code. 

 ORDINARY  Y R A N I D R O 

  
 X Q Z M H C Q N 
 

90.  Difference between the term-  
  5 8 13 22 37 –– 
 Diff. 3 5 9 15 23 
  2  4 6 8 
 

91. All the letters of each term are moved three steps forward 
to obtain the corresponding letters of the next term 
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SAMPLE TEST PAPER 

(For Class-X Appearing / Passed Students) 

COURSE : SAMPOORN (MD) 03 
TARGET  AIIMS/NEET  

 
 

No. of 

Questions
Correct Wrong Total

1 to 40 PART-I (Biology) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 40 4 –1 160

41 to 70 PART-II (Physics) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 30 4 –1 120

71 to 100 PART-III (Chemistry) Single Choice Questions (SCQ) (dsoy ,d fodYi lgh) 30 4 –1 120

S.No. Subject Nature of Questions
Marks to be awarded

 
 

PART - I (BIOLOGY)  Hkkx - I ¼tho foKku½ 
 

SECTION : (Maximum Marks : 160) 

[kaM  : (vf/kdre vad : 160) 


 This section contains FOURTY (40) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa pkyhl (40)  iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 
 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad  % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS 

¼vFkkZr~ iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 
1.  Wavelength of PAR is 

 PAR dh rajxnS/;Z gSA 

 (1) 200 – 400 nm   (2) 400 – 700 nm     
 (3) 700 – 900 nm   (4) 100 – 200 nm  
 
2. The breakdown of oxyhaemoglobin into oxygen and 

haemoglobin in the tissue will be increased if 
 (1) Blood pH increases     
 (2) CO2 in blood increases 
 (3) Decreasing quantity of free fatty acids in blood  
 (4) Blood pH decreases 

 Årdksa esa vkWDlh&gheksXyksfcu dk vkWDlhtu rFkk gheksXyksfcu 

esa fo[k.Mu c<+ ldrk gS ;fn 

 (1) :f/kj dk pH c<+ tk,    

 (2) :f/kj dk CO2 c<+ tk,    

 (3) :f/kj esa Lora=k olk vEyksa dh ek=kk ?kVus ij  

 (4) :f/kj dk pH ?kV tk,A 

 

 

3. What is wrong about facilitated diffusion.   
 (1) It is highly selective   
 (2) It shows uphill transport 
 (3) It requires carrier protein    
 (4) It proceeds according to concentration gradient with 

out expenditure of energy  

 lqlk/; folj.k ds ckjs esa D;k xyr gS -  

 (1) ;g vR;f/kd p;ukRed gksrk gS  

 (2) ;g vifgy ifjogu dks n'kkZrk gS  

 (3) blds fy;s okgd izksVhu dh vko';drk gksrh gS  

 (4) ;g mikip;h ÅtkZ dks [kpZ fd;s fcuk lkUnzrk izo.krk ds 

vuqlkj gksrk gS 
 

4. Waste products of protein metabolism which are excreted 
in urine by man 

 (1) Uracil, ammonia, urea  
 (2) Urea, uric acid, sodium chloride   
 (3) Urea, melanin, guanin    
 (4) Urea, uric acid, creatinine 

 euq"; ds ew=k esa izksVhu mikip; ds QyLo:i cus oT;Z inkFkZ gksrs 

gS 

 (1) ;wjsfly] veksfu;k] ;wfj;k  

 (2) ;wfj;k] ;wfjd vEy] lksfM;e DyksjkbM   

 (3) ;wfj;k] ;wfjd vEy] xqvkfuu   

 (4) ;wfj;k] ;wfjd vEy] fØ,fVfuu 
 

5. A man is admitted to a hospital. He is suffering from an 
abnormally low body temperature, loss of  appetite, and 
exterme thirst.His brain scan would probably show a tumor in   

 (1) Pons    (2) Cerebellum    
 (3) Hypothalamus  (4) Medulla oblonggata   

 ,d O;fDr vLirky esa HkrhZ gS og de 'kjhj rki] Hkw[k dh deh 

vkSj cgqr vf/kd I;kl ls ihfM+r gS mlds efLr"d dk LdSu 

fdl Hkkx esa V;wej fn[kk ldrk gSa    

 (1) ikWUl    (2) vuqefLr"d    

 (3) gkbiksFkSysel   (4) esMqyk vksCykasxsVk 
 

6. Which of the following does not require pollinator   
 (1) Ornithophily  (2) Anemophily  
 (3) Cleistogamy  (4) Hydrophily 

 fuEu esa ls fdlesa ijkxd vko';d ugha gSA  

 (1) vkWfuZFkksfQyh   (2) ,fueksfQyh  

 (3) DyhLVksxseh   (4) gkbMªksfQyh 
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7. If the blood group of son of a couple is 'O' and its mother's 

blood group is 'B'. Which of the  following blood group will 

not present in its father.      

 ;fn ,d nEirh ds iq=k dk :f/kj lewg 'O' gS rFkk bldh ekrk 

dk lewg 'B' gSA fuEu esa ls dkSulk :f/kj lewg blds firk esa 

mifLFkr ugha gksxkA 

 (1) O   (2) A  (3) B  (4) AB 
 

8. Human is considered as Omnivorous. Which of the 

following animal is also involved in this  category 

 (1) Frog (2) Hawk (3) Crow (4) Fish            

 euq"; dks lokZgkjh ekuk tkrk gS] fuEu esa ls dkSulk tUrq Hkh 

bl Js.kh esa 'kkfey gS -     

 (1) esa<d  (2) ckt  (3) dkSvk  (4) eNyh 
 

9. Ex situ conservation is carried out in: 

 (1) Sanctuary  (2) National park  

 (3) biosphere reserve (4) Zoo  

 mLFkkus laj{k.k (Ex situ conservation) fdlesa fd;k tkrk gS  

 (1) vHk;kj.;   (2) jk"Vªh; m|ku   

 (3) tSo e.My fjtoZ  (4) tUrqvky;  
 

10. Light reaction in stroma lamellae of the chlorplast results 

in the formation of  

 (1) NADPH2   (2) ATP + NADPH2  

 (3) ATP    (4) O2 

 gfjryod dh LVªksek iVfydkvksa esa gksus okyh izdk'k vfHkfØ;k 

(1) NADPH2   (2) ATP + NADPH2  

 (3) ATP    (4) O2 
 

11. Diaphram during inspiration 

 (1) Contracts  (2) Expands   

 (3) Remains unchanged (4) None of them 

 fu'olu dh voLFkk esa Mk;ÝkWe 

 (1) fldqM+rk gS  (2) QSyrk gS   

 (3) vifjofrZr jgrk gS  (4) buesa ls dksbZ ugha 
 

12. Osmotic pressure of a solution is      

 (1) More than that of pure solvent   

 (2) Less than that of pure solvent 

 (3) Variable depending upon concentration  

 (4) Equal to that of pure solvent 

 ,d foy;u dk ijklj.k nkc gSA    

 (1) 'kq) foyk;d ls vf/kd     

 (2) 'kq) foyk;d ls de  

 (3) ifjorZu 'khy] lkUærk ij fuHkZj    

 (4) 'kq) foyk;d ds cjkcj  
 

13. Maximum reabosorption of sodium and water occurs in 

 (1) Proximal convoluted tubule   

 (2) Distal convoluted tubule   

 (3) Loop of Henle     

 (4) All of them 

 lksfM;e rFkk ty dk lokZf/kd vo'kks"k.k dgk¡ gksrk gS 

 (1) lehiLFk dq.Mfyr ufydk    

 (2) nwjLFk dq.Mfyr ufydk 

 (3) gsuys dk ywi      

 (4) ;s lHkh 
 

14. Body co-ordination is exhibited by  
 (1) Blood vascular system  
 (2) Nervous system 

 (3) Endocrine system   

 (4) Nervous and endocrine system 

 

 'kjhj ds leUo; rU=k gSa    

 (1) #f/kj ifjlapj.k rU=k  

 (2) rfU=kdk rU=k  

 (3) vUr%ókoh rU=k  

 (4) rfU=kdk ,oa vUr%ókoh rU=k 
 

15.   Carrying of male gametes by pollen-tube is called  
 (1) Porogamy   (2) Zoodiogamy  
 (3) Siphonogamy  (4) Chalazogamy 

 ijkxuyh }kjk uj ;qXedksa dks ys tkuk dgykrk gSA  

 (1) iksjksxseh     (2) twfM;ksxseh  

 (3) lkbQksuksxseh   (4) dsystksxseh  
 

16. It Anitrrhinum majus, red (RR) flowered plant is crossed with 
white (rr) flowered plants. On selfing  of F1 generation, F2 
generation obtained. How many phenotypes produced & what 
was the %  production of red flowered plants respectively in 
F2 generation.    

 (1) 2, 50% (2) 3, 25% (3) 3, 50% (4) 25% 

 ,UVhfjue eStl esa yky (RR) iq"i/kkjh ikni dks 'osr iq"i/kkjh 

(rr) ikni ds lkFk ØkWl djk;k x;k gS F1 ih<+h ds Loijkx.k ls 

F2 ih<+h izkIr gksrh gSA F2 ih<+h esa Øe'k% fdrus y{k.k iz:i 

mRié gq, rFkk yky iq"i/kkjh ikniksa  dk fdrus % mRiknu 

gqvkA 

 (1) 2, 50% (2) 3, 25% (3) 3, 50% (4) 25% 
 

17. The breakdown of detritus in to smaller particles by 
detrivores. Which of the following is not detrivore? 

 (1) Earthworm  (2) Bacteria  
 (3) Fungi   (4) Sparrow 

 vijngkjh }kjk vijn dk vi?kVu lw{e d.kksa esa gksrk gS fuEu 

esa dkSu vijngkjh ugh gS\ 

 (1) dSapqvk   (2) thok.kq  

 (3) dod   (4) xkSjS;k   
 

18. Which of the following is most dangerous to wild life? 
 (1) Over exploitation   
 (2) Man made forest 
 (3) Habitat destruction   
 (4) Introduction of foreign species  

 fuEu esa ls dkSulk oU; thoksa ds fy, lcls vf/kd [krjukd gS  

 (1) vfr'kks"k.k   (2) ekuo fufeZr ou  

 (3) vkokl fo?kVu   (4) cká tkfr;ksa dk iqjLFkkiu 
 

19.  Leaves appear green because they     
 (1) Reflect green light    
 (2) Absorb green light  
 (3) Both reflect and absorb green light   
 (4) None of the above  

 ifÙk;k¡ gjh fn[kkbZ nsrh gSa] D;ksafd os  

 (1) gjs izdk'k dks ijkofrZr djrh gSA   

 (2) gjs izdk'k dks vo'kksf"kr djrh gSA  

 (3) gjs izdk'k dks ijkofrZr vkSj vo'kksf"kr nksuksa djrh gSA  

 (4) buesa ls dksbZ ugha  
 

20. Which structures are end part of the branch of trachea and 
take part in the exchange of gases  

 (1) Tracheoles  (2) Respiratory branchioles 
 (3) Terminal branchiole (4) Alveoli 

 fuEu esa ls dkSulh jpuk Qq¶Qql ds foHkktu dk vfrae Hkkx gS 

rFkk xSlh; fofue; dk LFkku gS 

 (1) Vªsfd;ksy   (2) ok;q dwidk,¡   

 (3) 'olfudk,¡  (4) ok;q dksf"Bdk 
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21. Diffusion is very important to plants since it is the only 

means for .................    
 (1) Water translocation in root    
 (2) Gaseous exchange within plants 
 (3) Mineral translocation in root    
 (4) transport from phloem to sink 

 folj.k ikni ds fy, egRoiw.kZ izfØ;k gS D;ksafd ;g ..........dh 

,d ek=k ;qfDr gS 

 (1) ewy esa ty ifjogu dh     

 (2) ikni esa xSlh; vknku&iznku dh  

 (3) ewy esa [kfut ifjogu dh   

 (4) ¶yks;e ls dqaM esa 'kdZjk ds ifjogu dh  
 

22. Which part of nephron is not situated in the cortical region 
of the kidney.     

 (1) Malpighian corpuscle (2) PCT    
 (3) DCT    (4) Loop of Henle 

 usÝksu dk dkSulk Hkkx òô ds oYdqVh; {ks=k esa fLFkr ugha gksrk gS& 

 (1) eSYih/kh nsgk.kq  (2) PCT   

 (3) DCT   (4) gsuys dk ywi 
 

23. If a person has lost his memory in an accident, the 
following part of the brain have got injured   

 (1) Diencephalon  (2) Medulla oblongata  
 (3) Cerebellum  (4) Cerebrum 

 fdlh O;fä dh ,d nq?kZVuk esa Le`fr [kRe gks tkrh gS rks fuEu 

esa ls ,d vax nq?kZVukxzLr gqvk gksxk] og gS &  

 (1) Mkb,uflQsykWu   (2) esM~;qyk vkWCyksaxsVk  

 (3) lsjhcsye  (4) lsjhcze
 

24. How does Amoeba reproduce?     
 (1) Binary fission   (2) Budding  
 (3) Fragmentation  (4) Both (1) and (3) 

 vehck] tuu fdl izdkj djrk gS ? 

 (1) f}foHkktu }kjk  (2) eqdqyu }kjk  

 (3) fo[k.Mu }kjk  (4) (1) rFkk (3) nksuksa 
 

25. Analogous organs are     
 (1) Simlilar in function   
 (2) Similar in structure 
 (3) Non functional   
 (4) Similar both in structure and function 

 le:i vax gksrs gSa 

 (1) dk;Z ds leku  (2) jpuk esa leku   

 (3) dk;Zfoghu  (4) dk;Z ,oa jpuk nksuksa esa leku 
 

26. Which of the following shows most functional 
characteristics of an ecosystem ?   

 (1) Pyramid of energy  (2) Pyramid of number 
 (3) Pyramid of biomass (4) All of the above 

 fuEu esa ls dkSulk ,d ikfjfLFkfrd rU=k dk çeq[k fØ;kRed y{k.k 

gS \ 

 (1) ÅtkZ dk fijkfeM   (2) la[;k dk fijkfeM  

 (3) tSo Hkkj dk fijkfeM  (4) mijksDr lHkh 
 

27. Soil erosion can be prevented by - 
 (1) Over grazing    
 (2) Removal of vagetation  
 (3) Afforestation (Plantation) 
 (4) Increasing bird population 

 e`nk vijnu jksdk tk ldrk gS & 

 (1) vfrpkj.k }kjk  

  (2) ouLifr dks gVkdj 

 (3) o`{kkjksi.k }kjk    

 (4) if{k;ksa dh lef"V;ka c<+kdj 

 

 

28. Physiological calorific value of protein, fat, carbohydrate is 
respectively   

 izksVhu olk rFkk dkcksZgkbMsªV dh dkf;Zdh dSyksjh ewY; Øe'k% 

gSA  

 (1) 4 k.cal ; 7 k.cal ; 4 k.cal  
 (2) 5.65 k.cal ; 7 k.cal ; 4 k.cal 
 (3) 4 k.cal ; 9 k.cal ; 4 k.cal  
 (4) 4 k.cal ; 5.65 k.cal ; 4 k.cal 
 

29. How many molecules of oxygen (O2) are used during the 
glycolysis of one glucose molecule? 

 (1) 0   (2) 1   (3) 36  (4) 8 

 ,d Xywdkst v.kq ds Xykbdksfyfll ds nkSjku vkWDlhtu ds 

fdrus v.kq mi;ksx fd;s tkrs gSa & 

 (1) 0   (2) 1   (3) 36  (4) 8 
 

30. Which of the following has the thickest walls ?  
 (1) Right ventricle  (2) Left ventricle   
 (3) Right auricle   (4) Left auricle   

 fuEu es ls fdldh fHkfÙk lokZf/kd eksVh gksrh gS \ 

 (1) nka;s fuy;    (2) cka;s fuy;     

 (3) nka;s vkfyUn    (4) cka;s vkfyUn    
 

31. Main excretory product in the urine of frog   
 (1) Urea   (2) Ammonia   
 (3) Allantoin   (4) Uric acid 

 esa<d ds ew=k esa eq[; mRlthZ inkFkZ gksrk gS 

 (1) ;wfj;k   (2) veksfu;k   

 (3) ,sysUVkW;u   (4) ;wfjd vEYk 
 

32. Which one of the following growth regulators is known as 
stress hormone?   

 (1) Abscissic acid   (2) Ethylene  
 (3) GA3    (4) Indole acetic acid  

 fuEufyf[kr esa ls dkSu&lk o`f) fu;=kd çfrcy gkeksZu ds uke 

ls tkuk tkrk gS\       

 (1) ,Clhfld vEy   (2) ,fFkfyu   

 (3) GA3    (4) baMksy ,lhfVd vEy 
 

33. Cells of Leydig are found in     
 (1) Connective tissue of testes    
 (2) Kidneys    
 (3) Seminiferous tubules    
 (4) Islets of Langerhans 

 yhfMx dksf'kdk,¡ dgk¡ fLFkr gksrh gS 

 (1) o`"k.k dk la;ksth Ård     

 (2) o`ô    

 (3) lsehfuQsjl ufydk     

 (4) ySxajgSal }hi lewg 
 

34. Which of the following exhibit analogy 
 (1) Paddles of whale and hands of man   
 (2) Wings of pigeon and  wings of butterfly 
 (3) Wings of birds and wings of butterfly   
 (4) None of them 

 fuEu esa ls dkSu letkrrk iznf'kZr djrs gSa 

 (1) àsy ds pIiw o euq"; ds gkFk   

 (2) dcwrj ds ia[k o pexknM+ ds ia[k  

 (3) i{kh ds ia[k o frryh ds ia[k    

 (4) buesa ls dksbZ ugha 
 

35. Which of following cannot place at specific trophic level in 
a food chain?   

 (1) Quaternary consumers (2) Saprophytes  
 (3) Parasites   (4) (2) & (3) both    

 fuEu esa ls dkSuls [kk| J`a[kyk esa fdlh fof'k"V iks"k Lrj ij 

ugha j[ks tk ldrs gSa\  

 (1) prqFkZd miHkksDrk   (2) e`rksithoh   

 (3) ijthoh     (4) (2) rFkk (3) nksuksa  
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36. Which method is most effective in controlling floods  
 (1) Digging deep canals  
 (2) Reforestation  
 (3) Deforestation  
 (4) Constructing dams 

 ck<+ dks fu;af=kr djus esa lcls vf/kd izHkkoh dkSulh fofèk gS & 

 (1) xgjh dsuky [kksnuk 

 (2) iqu% ouhdj.k (Reforestation)  

 (3) vouhdj.k (deforestation)  

 (4) cka/kksa dk fuekZ.k djuk 
 

37. If we take food rich in lime juice then  
 (1) Action of ptyalin on starch is enhanced  
 (2) Action of plyalin on starch is reduced  
 (3) Action of plyalin on starch is unafected  
 (4) Action of plyalin on starch is stopped.  

 ;fn ge Hkkstu esa uhacw ikuh dk mi;ksx djs rks D;k gksxk \ 

 (1) LVkpZ ij VkbZfyu dh fØ;k c<+ tk,xhA  

 (2) LVkpZ ij VkbZfyu dh fØ;k ?kV tk,xhA 

 (3) LVkpZ ij VkbZfyu dh fØ;k ogh jgsxhA  

 (4) LVkpZ ij VkbZfyu dh fØ;k :d tk,xhA 
 

38. What is the ratio of CO2 liberation between anaerobic and 
aerobic respiration   

 vok;oh; rFkk ok;oh; 'olu ds chp CO2 foeqfDr dk vuqikr 

D;k gSA 

 (1) 3 : 1 (2) 2: 4 (3) 2 : 2 (4) 1 : 3 
 

39. Enucleated blood cell is/are–  
 (1) RBC   (2) WBC  
 (3) Platelets   (4) (1) & (3) both 

 fodsUnzhÑr(Enucleated) jä dksf'kdk gS@gSa& 

 (1) RBC   (2) WBC  

 (3) IysVysV~l   (4) (1) rFkk (3) nksuksa 
 

40. In diuresis 
 (1) Quantity of urine decreases  
 (2) Quantity of urine decreases     
 (3) Urine becomes concentrated    
 (4) Urine contains extra sugar 

 Mkblqjhfll¼ew=kyrk½ esa D;k gksrk gS 

 (1) ew=k dh ek=kk c<+ thrh gS    

 (2) ew=k dh ek=kk de gks tkrh gS   

 (3) ew=k dh lkUnzrk c<+ tkrh gS    

 (4) ew=k esa 'kdZjk dh ek=kk c<+ tkrh gS 

 

PART - II (PHYSICS) Hkkx - II ¼HkkSfrd foKku½ 
 

SECTION : (Maximum Marks : 120) 

[kaM  : (vf/kdre vad : 120) 


 This section contains THIRTY (30) questions. 

 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  

 For each question, darken the bubble corresponding to the 

correct option in the ORS  

 Marking scheme : 

 Full Marks : +4  If only the bubble corresponding to the 

correct option is darkened 

 Zero Marks :  0  If none of the bubble is darkened 

 Negative Marks : –1 In all other cases 
 bl [kaM esa rhl (30) iz'u gSaA  

 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 

 iw.kZ vad % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 

 'kwU; vad % 0  ;fn dksbZ Hkh fodYi ugha pquk x;k gS 

¼vFkkZr~ iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
 

 

41. Internal forces can change :    

 (1) the linear momentum but not the kinetic energy of the 
system.  

 (2) the kinetic energy but not the linear momentum of the 
system. 

 (3) linear momentum as well as kinetic energy of the 
system. 

 (4) neither the linear momentum nor the kinetic energy of 
the system. 

 vkUrfjd cy ifjofrZr dj ldrk gS &  

 (1) fudk; dk jSf[kd laosx fdUrq xfrt ÅtkZ ugha  

 (2) fudk; dh xfrt ÅtkZ fdUrq jSf[kd laosx ugha 

  (3) fudk; dk jSf[kd laosx o lkFk gh xfrt ÅtkZ Hkh  

 (4) fudk; dk u rks jSf[kd laosx] u gh xfrt ÅtkZ 
 

42. A force )ĵ4î5(F   N acts on a body and produces a 

displacement )k̂3ĵ5î6(S  m. The work done will b 

 ,d cy N)ĵ4î5(F   fdlh oLrq esa foLFkkiu 

m)k̂3ĵ5î6(S   mRiUu djrk gS, rks fd;k x;k dk;Z gS 

 (1) 10 J (2) 20 J (3) 30 J (4) 40 J 
 

43. In a vertical circle of radius r, at what point in its path a 
particle has tension equal to zero- 

 (1) Highest point  (2) Lowest point (3) Any point  
 (4) At a point horizontally from the centre of circle of radius r. 

 r f=kT;k ds Å/oZòÙk ds iFk esa fdl fcUnq ij ruko 'kwU; ds cjkcj 

gksxk & 

 (1) mPpre fcUnq ij (2) fuEure fcUnq ij 

 (3) fdlh Hkh fcUnq ij     

 (4) r f=kT;k ds o`Ùk ds dsUnz ls {kSfrt ,d fcUnq ij 
 

44. An object of height 7.5 cm is placed in front of a convex 
mirror of radius of curvature 25 cm at a distance of 40 cm. 
The height of the image should be:   

 (1) 2.3 cm (2) 3.40 cm  (3) 1 cm (4) 0.8 cm 

 7.5 lseh Å¡pkbZ dk ,d fcEc mÙky niZ.k ftldh oØrk f=kT;k 

25 lseh gS] ds lkeus 40 lseh dh nwjh ij j[kk x;k gS] rks 

izfrfcEc dh Å¡pkbZ gksuh pkfg, & 

 (1) 2.3 lseh (2) 3.40 lseh  (3) 1 lseh (4) 0.8 lseh 
 

45. A copper wire ring is suspended vertically, on bringing a 
bar magnet towards ring, the ring will : 

 (1) move towards magnet    
 (2) move away from magnet 
 (3) remains stationary     
 (4) rotate with respect to suspension fibre 

 
 ,d rk¡cs ds rkj dh oy; ¼fjax½ Å/okZ/kj yVdkbZ xbZ gS] ,d 

NM+ pqEcd dks mlds fudV ykus ij oy; % 

 (1) pqEcd dh rjQ xfr'khy gksxh    

 (2) pqEcd ls nwj gVsxh 

 (3) fLFkj jgsxh     

 (4) vkWycu fcUnq ds lkis{k ?kwesxh 
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46. The radius of curvature of the path of the charged particle 

in a uniform magnetic field is directly proportional to  
 (1) The charge on the particle    
 (2) The momentum of the particle 
 (3) The energy of the particle    
 (4) The intensity of the field 

 fdlh vkosf'kr d.k dh ,dlkj pqEcdh; {ks=k esa o`Ùkh; iFk dh 

oØrk f=kT;k lekuqikrh gS  

 (1) d.k ij vkos'k ds  

 (2) d.k ds laosx ds 

 (3) d.k dh ÅtkZ ds     

 (4) {ks=k dh rhozrk ds 
 

47. What is the de-Broglie wavelength of the  particle 
accelerated through a potential difference V  

 ;fn  d.k dks V  foHkokUrj ls Rofjr fd;k tk;s rks Mh-

czksXyh rjaxnS/;Z dk eku gksxk   

 (1) 
V

287.0
Å  (2) 

V

27.12
Å   

 (3) 
V

101.0
Å  (4) 

V

202.0
Å 

48. The energy of a photon is hvE   and the momentum of  

photon 



h

p , then the velocity of photon will be  

 QksVkWu dh ÅtkZ hvE  ,oa QksVkWu dk laosx 



h

p gS] rks 

QksVkWu dk osx gksxk    

 (1) E/p   (2) Ep  

 (3) 

2

p

E








   (4) 3 × 108 m/s 

 

49. Two circular coils A and B are facing each other as shown 
in figure. The current i through A can be altered  

 (1) There will be repulsion between A and B if i is 
increased 

 (2) There will be attraction between A and B if i is 
increased 

 (3) There will be neither attraction nor repulsion when i is 
changed 

 (4) Attraction or repulsion between A and B depends on 
the direction of current. If does not depend whether the 
current is increased or decreased 

 

i 

A B 

 
 nks o`Ùkkdkj dq.Mfy;k¡ A o B fp=kkuqlkj ,d nwljs ds lkeus 

fLFkr gS A esa çokfgr /kkjk i dks ifjofrZr fd;k tk ldrk gS 

 (1) ;fn i dks c<+k;k tkrk gS] rc A o B ds chp çfrd"kZ.k gksxk 

 (2) ;fn i dks c<+k;k tkrk gS] rc A o B ds chp vkd"kZ.k gksxk 

 (3) tc i dks ifjofrZr fd;k tkrk gS rc u rks vkd"kZ.k gksxk u 

gh çfrd"kZ.k gksxk 

 (4) A vkSj B ds chp vkd"kZ.k ;k çfrd"kZ.k /kkjk dh fn'’kk ij fuHkZj 

djrk gSA ;g /kkjk ds c<+us ;k ?kVus ij fuHkZj ugha djrk gS 
 

50. The energy levels of the hydrogen sspectrum is shown in 
figure. There are some transitions A, B, C, D and E. 
Transition A, B and C respectively represent  

 (1) First member of Lyman series, third spectral line of 
Balmer series and the second spectral line of Paschen 
series 

 (2) Ionization potential of hydrogen, second spectral line of 
Balmer series and third spectral line of Paschen series 

 (3) Series limit of Lyman series, third spectral line of 
Balmer series and second spectral line of Paschen series 

 (4) Series limit of Lyman series, second spectral line of 
Balmer series and third spectral line of Paschen series 

 n= 

n=6 

n=5 
n=4 

n=3 

n=2 

n=1 

– 0.00 eV 

– 0.36 eV 
– 0.54 eV 

– 0.85 eV 
– 1.51 eV 

– 3.39 eV 

– 13.5 eV 

A 

B 

C 

D 

E 

 
 gkbMªkstu ijek.kq dk ÅtkZ Lrj fp=k esa fn[kk;k x;k gS] ftlesa 

dqN laØe.k A, B, C, D rFkk E gSaA laØe.k  A, B rFkk  C Øe'k% 

iznf'kZr djrs gSa        

 (1) ykbeu Js.kh dh izFke LisDVªe js[kk] ckej Js.kh dh rhljh 

LisDVªe js[kk dks rFkk ik'pu Js.kh dh nwljh LisDVªe js[kk dks 

 (2) gkbMªkstu ds vk;uu foHko dks] ckej Js.kh dh nwljh LisDVªe 

js[kk dks rFkk ik'pu Js.kh dh rhljh LisDVªe js[kk dks 

 (3) ykbeu Js.kh dh Js.kh lhek dks] ckej Js.kh dh rhljh LisDVªe 

js[kk dks rFkk ik'pu Js.kh dh nwljh LisDVªe js[kk dks 

 (4) ykbeu Js.kh dh Js.kh lhek dks] ckej Js.kh ds nwljh LisDVªe 

js[kk dks rFkk ik'pu Js.kh dh rhljh LisDVªe js[kk dks 
 

51. In a hydrogen atom, which of the following electronic 
transitions would involve the maximum energy change  

 (1) From n = 2 to n = 1 (2) From n = 3 to n = 1 
 (3) From n = 4 to n = 2 (4) From n = 3 to n = 2 

 gkbMªkstu ijek.kq esa bysDVªkWu ds fuEu laØe.kksa esa ls fdlesa 

ÅtkZ ifjorZu vf/kdre gksxk  

 (1) n=2 ls n=1 rd  (2) n=3 ls n=1 rd 

 (3) n=4 ls n=2 rd  (4) n=3 ls n=2 rd 

52. In which of the following circuit is the current maximum 
just after the switch S is closed   

 (1) (i)    (2) (ii)    
 (3) (iii)   (4) Both (ii) and (iii)  

 

(i) 

R 

E 
L 

S 

(ii) 

R 

E 
L 

S 

R 

(iii) 

R 

E 
L 

S 

R 

 
 fuEu esa ls fdl ifjiFk esa] fLop S dks cUn djus ds rqjUr ckn 

/kkjk vf/kdre gS 

 (1) (i)    (2) (ii)   

 (3) (iii)   (4) (ii) ,oa (iii) nksuksa 
 

53. A charge q is placed at the centre of the line joining two 

equal charges Q. The system of the three charges will be 

in equilibrium, if q is equal to       

 nks leku vkos’'k Q ijLij dqN nwjh ij j[ks gSa budks feykus 

okyh js[kk ds dsUæ ij q vkos’'k j[kk x;k gSA rhuksa vkos'’kksa dk 

fudk; lUrqyu esa gksxk ;fn q dk eku gks  

 (1) 
2

Q
  (2) 

4

Q
  (3) 

4

Q
  (4) 

2

Q
  
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54. The meter-bridge wire AB shown in figure is 50 cm long. 

When  AD = 30 cm, no deflection occurs in the 

galvanometer. Find R. 

 ehVj&lsrq rkj AB, 50 lseh0 yEck gSA tc AD = 30 lseh0 gS] 

rks xsYosuksehVj esa dksbZ fo{ksi izkIr ugha gksrk gSA R dk eku gS 

 
 

 (1) 1   (2) 2   (3) 3   (4) 4   

 

55. A transformer is used to light a 140 watt, 24 volt lamp from 

240 V AC mains. The current in the main cable is 0.7 amp. 

The efficiency of the transformer is :    

 140 watt, 24 volt ds ySEi dks çdkf'kr djus ds fy, VªkalQkeZj 

dk mi;ksx djrs gq, 240 V çR;korhZ /kkjk lzksr ls tksM+k tkrk 

gSA eq[; dscy ¼rkj½ esa /kkjk 0.7 amp gS rks VªkalQkeZj dh 

n{krk gSA   

 (1) 48% (2) 63.8% (3) 83.3% (4) 90%  

 

56. If 2 bulbs rated 2.5 W – 110 V and 100 W – 110 V are 

connected in series to a 220 V supply then 

 (1) 2.5 W bulb will fuse      

 (2) 100 W bulb will fuse  

 (3) both will fuse      

 (4) both will not fuse  

 ;fn 2.5 W – 110 V rFkk 100 W – 110 V ds nks cYcksa dks 220 

V dh vkiwfrZ ds lkFk Js.khØe esa tksM+rs gS rks &  

 (1) 2.5 W dk cYc ¶;wt gks tk;sxkA   

 (2) 100 W dk cYc ¶;wt gks tk;sxkA 

 (3) nksuksa ¶;wt gks tk;saxsA     

 (4) nksuksa ¶;wt ugha gksaxsA 

57. An uncharged sphere of metal is placed in between two 
charged plates as shown. The lines of force look like  

 /kkrq dk ,d vukosf'kr xksyk nks vkosf'kr IysVksa ds chp fp=k ds vuqlkj 

j[kk x;k gS oS|qr cy js[kkvksa dh çÑfr fdl izdkj dh gksxh  

 

 

– – – – – – – 

+ + + + + + + 

A  

 

– – – – – – – 

+ + + + + + + 

B  

 

 

C 

– – – – – – – 

+ + + + + + + 

  

 

D 

– – – – – – – 

+ + + + + + + 

 
 
 (1) A  (2) B  (3) C  (4) D 
 

58. When a resistance wire is passed through a die the cross–
section area decreases by 1%, the change in resistance of 
the wire is     

 (1) 1% decrease  (2) 1% increase   
 (3) 2% decrease  (4) 2% increase 

 izfrjks/k rkj dks MkbZ ls xqtkjus ij vuqizLFk dkV ds {ks=kQy esa 

1% dh deh gks tkrh gS rks rkj ds izfrjks/k esa& 

 (1) 1% dh deh gksxh (2) 1% dh o`f) gksxh  

 (3) 2% dh deh gksxh (4) 2% dh o`f) gksxh 
 

59. A thick plane mirror shows a number of images of the 
filament of an electric bulb. Of these, the brightest image 
is the-   

 (1) First (2) Second (3) Last (4) Fourth 

 ,d eksVk lery niZ.k ,d fo|qr cYc ds rUrq ds cgqr ls 

izfrfcEc fn[kkrs gSa] rks lcls pedhyk izfrfcEc gksxk& 

 (1) izFke (2) f}rh; (3) vfUre (4) prqFkZ 
 

60. In the set up shown in Fig the two slits, S1 and S2 are not 
equidistant from the slit S. The central fringe at O is then 

 (1) Always bright  
 (2) Always dark  
 (3) Either dark or bright depending on the position of S 
 (4) Neither dark nor bright. 

 

S2 

S1 

O S 

 
 fuEu fp=k esa nf'kZr O;oLFkk esa nks f>Æj;k¡ S1 ,oa S2 f>jÊ S ls 

leku nwjh ij ugha gSA O ij çkIr dsUæh; fÝat  

 (1) lnSo pedhyh gksxh  

 (2) lnSo dkyh gksxh  

 (3) dkyh ;k pedhyh gksxh tks fd S dh fLFkfr ij fuHkZj gksxk 

 (4) u dkyh vkSj u gh pedhyh 
 

61. Total internal reflection of a ray of light is possible when 
the (ic = critical angle, i = angle of incidence) 

 (1) Ray goes from denser medium to rarer medium and i < ic 
 (2) Ray goes from denser medium to rarer medium and i > ic 

 (3) Ray goes from rarer medium to denser medium and i > ic 

 (4) Ray goes from rarer medium to denser medium and i < ic 

 izdk'k dh fdj.k dk iw.kZ vkUrfjd ijkorZu lEHko gS] tcfd  

(ic = Økafrd dks.k] i = vkiru dks.k) 

 (1) fdj.k l?ku ek/;e ls fojy ek/;e esa tkrh gS ,oa i < ie gksA 

 (2) fdj.k l?ku ek/;e ls fojy ek/;e esa tkrh gS ,oa i > ic gksA 

 (3) fdj.k fojy ek/;e ls l?ku ek/;e esa tkrh gS ,oa i > ic gksA 

 (4) fdj.k fojy ek/;e ls l?ku ek/;e esa tkrh gS ,oa i < ic gksA 

 
62. In a hydrogen atom, an electron moves in a circular orbit 

of radius 
115.2 10 m  and produces a magnetic 

induction of 12.56 T at its nucleus. The current produced 
by the motion of the electron will be (Given 

7
0 4 10 Wb / A m)       

 (1) 
36.53 10 ampere  (2) 1013.25 10 ampere  

 (3) 69.6 10 ampere   (4) 31.04 10 ampere  

 gkbMªkstu ijek.kq esa ,d bysDVªkWu 
115.2 10 m  f=kT;k dh 

,d o`Ùkh; d{kk esa ?kwerk gS vkSj ukfHkd ij 12.56 T pqEcdh; 

çsj.k mRiUu djrk gSA bysDVªkWu dh xfr ds dkj.k mRiUu 

fo|qr /kkjk dk eku gksxk (fn;k gS 7
0 4 10 Wb / A m)     

 (1) 36.53 10 ,sfEi;j  (2) 1013.25 10 ,sfEi;j  

 (3) 69.6 10 ,sfEi;js  (4) 31.04 10 ,sfEi;j 
 

63. There are two charges +1 microcoulombs and                  
+5 microcoulombs. The ratio of the forces acting on them 
will be  

 nks vkos’'k +1µC ,oa +5µC ,d nwljs ls dqN nwjh ij fLFkr gSaA 

mu ij yxus okys cyksa dk vuqikr gksxk 

 (1) 1 : 5 (2) 1 : 1 (3) 5 : 1 (4) 1 : 25 
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64. The ratio of momenta of an electron and an  particle 

which are accelerated from rest by a potential difference 
of 100 V is   

 bysDVªkWu o  d.k dks fojke ls 100 V foHkokUrj }kjk Rofjr 

djus ij muds laosxksa dk vuqikr gksxk  

 (1) 1  (2) 

m

m2 e  (3) 

m

me   (4) 

m2

me  

 
 

65. The magnetic induction at centre O due to the 
arrangement shown in fig.- 

 fp=kkuqlkj fn[kk, x, izcU/k ds dsUæ ij pqEcdh; {ks=k dk eku 

gSA  

r

0

R

Q P

 

 (1) 0i
(1 )

4 r


 


   (2) 0i

4 r




  

 (3) 0i
(1 )

4 r


 


   (4) 0i

r


   

 

66. ABC is an equilateral triangle. Charges +q are placed at 
each corner. The electric intensity at O will be 

 (1) 
2

0

1 q

4 r

   (2) 

0

1 q

4 r
   

 (3) Zero   (4) 
2

0

1 3q

4 r

 

  

 

+q +q 

+q 

r 

r r 

A 

B C 

O 

 
 ABC ,d leckgq f=kHkqt gSA izR;sd 'kh"kZ ij +q vkos'k j[kk x;k 

gSA fcUnq O ij oS|qr {ks=k dh rhozrk gksxh  

 (1) 
2

0

1 q

4 r

   (2) 

0

1 q

4 r
   

 (3) 'kwU;   (4) 
2

0

1 3q

4 r
 

67. Which of the following could not produce a virtual image 
 (1) Plane mirror    
 (2) Convex mirror  
 (3) Concave mirror   
 (4) All the above can produce a vritual image 

 fuEu esa ls dkSulk niZ.k vkHkklh izfrfcEc ugh cukrkA 

 (1) lery niZ.k      

 (2) mÙky niZ.k 

 (3) vory niZ.k      

 (4) lHkh vkHkklh izfrfcEc cukrs gSA 
 

68. Total internal reflection occurs in waves, when wave 
enters-  

 (1) Glass from air  (2) Air from vaccum  
 (3) Water from air  (4) Air from water 

 fdlh rjax esa iw.kZ vkUrfjd ijkorZu mifLFkr gksxk tcfd 

rjax&  

 (1) ok;q ls dkap esa izos'k djrh gSA    

 (2) fuokZr ls ok;q esa izos'k djrh gSA 

 (3) ok;q ls ikuh esa izos'k djrh gSA    

 (4) ikuh ls ok;q esa izos'k djrh gSA 

 

69. A capacitor is charged by using a battery which is then 
disconnected. A dielectric slab is then slipped between the 
plates, which results in  

 (1) Reduction of charge on the plates and increase of 
potential difference across the plates 

 (2) Increase in the potential difference across the plate, 
reduction in stored energy, but no change in the charge on 
the plates 

 (3) Decrease in the potential difference across the 
plates, reduction in the stored energy, but no change in 
the charge on the plates 

 (4) None of the above 

 ,d la/kkfj=k dks cSVjh }kjk vkosf'kr djds cSVjh dks foPNsn dj 

nsrs gSaA la/kkfj=ksa ds ifêdkvkasa ds chp Mkb-bySfDVªd ¼ijkoS|qr½ 

iê ljdkrs gSa, ftlds QyLo:i     

 (1) la/kkfj=k ifêdkvksa ij vkos'k esa deh rFkk ifêdkvksa ij 

foHkokarj esa o`f) gksrh gSS 

 (2) ifêdkvksa ij foHkokarj esa o`f), lafpr ÅtkZ esa deh, ijUrq 

ifêdkvksa ij vkos'k esa dksbZ ifjorZu ugha gksrk 

 (3) ifêdkvksa ij foHkokarj esa deh, lafpr ÅtkZ esa deh, ijUrq 

ifêdkvksa ds vkos'k ij dksbZ ifjorZu ugha gksrk 

 (4) mijkssä esa ls dksbZ ugh 
 

70. A condenser of capacity 50 F is charged to 10 volts. Its 
energy is equal to  

 (1) 2.5 × 10–3  Joule  (2) 2.5 × 10–4  Joule  
 (3) 5 × 10–2  Joule   (4) 1.2 × 10–8  Joule  

 50 F  /kkfjrk ds ,d la/kkfj=k dk 10 oksYV foHkokUrj rd 

vkosf’kr fd;k x;k gS, rks mldh ÅtkZ gksxh 

 (1) 32.5 10 twy  (2) 
42.5 10 twy  

 (3) 
25 10 twy   (4) 

81.2 10 twy 

 

PART - III (CHEMISTRY) Hkkx - III ¼jlk;u foKku½ 

 Atomic masses (ijek.kq Hkkj) : [H = 1, D = 2, Li = 7, C = 12, N = 

14, O = 16, F = 19, Na = 23, Mg = 24, Al = 27, Si = 28, P = 31, 

S = 32, Cl = 35.5,  K = 39, Ca = 40, Cr = 52,  Mn = 55, Fe = 56, 

Cu = 63.5,  Zn = 65, As = 75, Br = 80, Ag = 108, I = 127,  

Ba = 137, Hg = 200, Pb = 207] 

SECTION : (Maximum Marks : 120) 

[kaM  : (vf/kdre vad : 120) 


 This section contains THIRTY (30) questions. 
 Each question has FOUR options (1), (2), (3) and (4). 

ONLY ONE  of these four option is correct.  
 For each question, darken the bubble corresponding to the 

correct option in the ORS  
 Marking scheme : 

 Full Marks  : +4  If only the bubble corresponding to 
the correct option is darkened 

 Zero Marks  :   0  If none of the bubble is darkened 
 Negative Marks : –1 In all other cases 

 bl [kaM esa rhl (30) iz'u gSaA  
 izR;sd iz'u esa pkj fodYi (1), (2), (3) rFkk (4) gSaA bu pkj 

fodYiksa esa ls dsoy ,d fodYi lgh gSaA 

 izR;sd iz'u esa] lgh fodYi ds vuq:i cqycqys dks vks- vkj- ,l- 

esa dkyk djsaA 

 vadu ;kstuk : 
 iw.kZ vad  % +4 ;fn flQZ lgh fodYi gh pquk x;k gSA 
 'kwU; vad % 0 ;fn dksbZ Hkh fodYi ugha pquk x;k gS ¼vFkkZr~ 

iz'u vuqÙkfjr gS½A 

 _.k vad % –1 vU; lHkh ifjfLFkfr;ksa esaA 
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71. Rate of formation of SO3 in the following reaction  

2SO2 + O2  2SO3  is 100 g min–1. Hence rate of 
disappearance of O2 is :  

 fuEu vfHkfØ;k esa 2SO2 + O2  2SO3 , SO3 ds cuus dh nj 

100 xzke feuV–1 gS vr% O2 ds foyqIr gksus dh nj D;k gksxh: 

 (1) 50 g min-1  (2) 40 g min–1   
 (3) 200 g min–1  (4) 20 g min–1 

 

72. The increase in volume of air, when temperature of 600 ml 
of it, is increased from 27°C to 47°C under constant 
pressure, is  

 ;fn gok ds 600 ml dk rkieku] fu;r nkc ij 27°C ls 

c<kdj 47°C dj fn;k rks blds vk;ru esa o`f} gksxhA  

 (1) 20 mL   (2) 80 mL   
 (3) 40 mL   (4) 500 mL 
 

73. The molality of a sulphuric acid solution is 0.2. Calculate 
the total weight of the solution having 1000 gm of solvent. 

 lY¶;wfjd vEy foy;u dh eksyyrk 0.2 gSaA foy;u dk dqy 

Hkkj ifjdfyr dhft, ftlesa 1000 gm foyk;d gksA   

 (1) 1000 g   (2) 1098.6 g  
 (3) 980.4 g   (4) 1019.6g 
 

74. Solution having osmotic pressure nearer to that of an 
equimolar solution of K4[Fe(CN)6] is: 

 og foy;u ftldk ijklj.k nkc K4[Fe(CN)6] ds leeksyj 

foy;u ds yxHkx cjkcj gksxk %& 

 (1) Na2SO4    (2) BaCl2  
 (3) Al2(SO4)3   (4) C12 H22O11 
 

75. Moles of neutron present in 1.8 g H2O is  

 1.8 g xzke ty es] U;wVªkWu (neutron) ds fdrus eksy gksaxsA 

 (1) 0.1 mole   (2) 1 mole   
 (3) 0.8 mole   (4) 16 mole 
 

76. How many moles of potassium chlorate need to be heated 
to produce 11.2 litre oxygen at N.T.P.  

 N.T.P. ij 11.2 yhVj vkWDlhtu cukus ds fy, ikSVsf'k;e 

DyksjsV ds fdrus eksy vko';d gSa \  

 KClO3    KCl + 3

2
O2 

 (1)  
2

1
 mol   (2)  

3

1
  (3) 

4

1
 mol         (4) 

3

2
 mol 

 

77. Hydrogen was collected in one case over water and in 
another over mercury in the same condition. In both 
cases, the volume of the gas was the same. Then select 
correct statement :  

 (1) Same amount of hydrogen collected in both case. 
 (2) The amount of hydrogen collected over the mercury is 

greater. 
 (3) The amount of hydrogen collected over water is 

greater.   
 (4) Can’t be predictable. 

 gkbMªkstu dks ty ds Åij ,d fLFkfr esa laxzfgr fd;k tkrk gS 

o leku ifjfLFkfr esa vU; fLFkfr esa gkbMªkstu dks edZjh ds 

Åij laxzfgr fd;k tkrk gSA nksuksa fLFkfr;ksa esa xSl dk vk;ru 

leku gSA rc lgh dFku dk p;u dhft,& 

 (1) nksuksa ifjfLFkfr esa gkbMªkstu dh leku ek=kk laxzfgr gksrh gSA 

 (2) edZjh ij laxzfgr gkbMªkstu dh ek=kk vf/kd gSA 

 (3) ty ij laxzfgr gkbMªkstu dh ek=kk vf/kd gSA 

 (4) dgk ugha tk ldrk gSA 
 

78. In the equilibrium reaction 2HI (g)  H2 + I2 which of 

the following expressions is true ? 

 lkE; vfHkfØ;k 2HI (g)  H2 + I2 esa] fuEu esa ls dkSulk 

O;atd lgh gSA 

 (1) Kp = Kc (2) Kc = 2Kp    (3) Kp > Kc   (4) Kc = Kp (RT)2 

 

79. 64 gm of an organic compound has 24 g carbon and 8 g 
hydrogen and the rest is oxygen. The empirical formula of 
the compound is   

 dkcZfud ;kSfxd ds 64 gm esa dkcZu ds 24 g, gkbMªkstu ds 8 g 

rFkk 'ks"k vkWDlhtu xSl mifLFkr gS rks ;kSfxd dk ewykuqikrh 

lw=k Kkr djksA  

 (1) CH4O  (2) CH2O   

 (3) C2H4O  (4) None of these (buesa ls dksbZ ugha) 
 

80. The value of Planck’s constant is 6.63 × 10–34 Js. The 
velocity of light is 3 × 108 m/sec. Which value is closest to 
the wavelength of light with frequency of 8 × 1015 sec–1? 

 Iykad fLFkjkad dk eku 6.63 × 10–34 Js  gSA izdk'k dk osx  

3 × 108 ehVj@lSd.M gSA dkSulk rjaxnS/;Z eku izdk'k dh 

vko`fr 8 × 1015 lSd.M–1 ds lehi gS ?  

 (1) 5 × 10–18 m  (2) 4 × 10–8 m   
 (3) 3 × 107 m  (4) 2 × 10–25 m 
 
 

81. Select correct statement  
 (1) In the decomposition of an oxide into oxygen and 

solid/liquid metal, entropy increases.  
 (2) Decomposition of an oxide is an endothermic change.   

 (3) To make G° negative, temperature should be high 

enough so that T S° > H°.     
 (4) All are correct statements.  

 lgh dFku dks pqfu;s \ 

 (1) ,d vkWDlkbM dk fo?kVu vkWDlhtu rFkk Bksl@nzo /kkrq esa 

gksrk gS rFkk ,UVªkWih c<+rh gSA   

 (2) ,d vkWDlkbM dk fo?kVu ,d Å"ek'kks"kh ifjorZu gSA  

 (3) G° dks _.kkRed djus ds fy,] rkieku i;kZIr mPp gksuk 

pkfg, ftlls T S° > H° gksA      

 (4) mijksDr lHkh dFku lgh gSA 
 

82. Three faradays of electricity was passed through an 

aqueous solution of iron (II) bromide. The mass of iron 

metal (at. mass = 56 u) deposited at the cathode is :  

 vk;ju (II) czksekbM ds ,d tyh; foy;u esa ls 3 QSjkMs dh 

fo|qr izokfgr dh xbZA dSFkksM ij vk;ju /kkrq dk fu{ksfir 

nzO;eku fuEu gS % ¼Fe dk ijek.kq Hkkj = 56 u½  

 (1) 56 g   (2) 84 g   

 (3) 112 g   (4) 168 g 
 

83. A substance on treatment with dilute H2SO4 liberates an 

irritating colurless gas which produces a blue colour on a 

filter paper moistened with potassium iodate and starch 

solution and white precipitate with baryta water. These 

reactions indicate the presence of :  

 ,d inkFkZ] ruq H2SO4 ds lkFk mipkfjr djus ij ,d cSpsuh 

mRiUu djus okyh jaxghu xSl mRiUu gksrh gSA tksfd ikSVsf'k;e 

vk;ksMsV rFkk LVkpZ foy;u ls Hkhxs fQYVj i=k dks uhyk djrh 

gS rFkk csjkbVk ty ds lkFk lQsn vo{ksi cukrh gS ;s 

vfHkfØ;k,sa fuEu esa ls fdl dh mifLFkfr dks n'kkZrh gSA 

 (1) CO3
2–   (2) SO3

2–   

 (3) S2–   (4) NO2
– 

 

84. Which of the following structure is most expected for the 

molecule XeOF4 ?  

 (1) Tetrahedral  (2) Square pyramidal 

 (3) Square planar  (4) Octahedral 

 XeOF4 v.kq ds fy, fuEu esa ls dkSulh vf/kd ekU; lajpuk 

gksxh ?  

 (1) prq"Qydh;   (2) oxkZdkj fijkfefM;y 

 (3) lery oxkZdkj  (4) v"VQydh; 
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85. Which of the following facts about the complex 

[Cr(NH3)6]Cl3 is wrong ? 
 (1) The complex involves d2sp3 hybridisation and is 

octahedral in shape. 
 (2) The complex is paramagnetic. 
 (3) The complex is an outer orbital complex. 
 (4) The complex gives white precipitate with silver nitrate 

solution.    

 dkWEIysDl Cr(NH3)6]Cl3 ds laca/k esa fuEu rF;ksa esa ls dkSu rF; 

xyr gS \  

 (1) dkWEIysDl dk d2sp3 ladj.k gS o bldk v"VQydh; vkdkj 

gSA   

 (2) dkWEIysDl vuqpqEcdh; gSA   

 (3) dkWEIysDl ,d cká vkfcZVy dkWEIysDl gSA   

 (4) dkWEIysDl flYoj ukbVªsV ds foy;u ds lkFk lQsn vo{ksi nsrk gSA 
 

86. Which is most stable oxidation state of Pb ? 

 Pb dh lokZf/kd LFkk;h vkWDlhdj.k voLFkk dkSulh gS ? 

 (1) +4  (2) +3  (3) +2  (4) +5 
 

87. The correct order of size of the gaseous ions is :  

 xSlh; vk;uk s a  d s vkdkj dk lgh Øe g S %  

 (1) Li+  > Be2+  > Na+  > K+    

 (2) Na+  > K+  > Li+  > Be2+ 
 (3) K+  > Be2+  > Na+  > Li+     

 (4) K+  > Na+  > Li+  > Be2+  

 

88. Which of the following pairs of elements belongs to 
representative group of elements in the periodic table?  

 (1) Aluminium and Magnesium    
 (2) Chromium and Zinc 
 (3) Argentum and Astatine    
 (4) Lanthanum and Thorium 

 fuEu esa ls rRoksa dk dkSulk ;qXe] vkorZ lkj.kh esa rRoksa ds 

izfrfuf/k lewg ls lacaf/kr gS ? 

 (1) ,yqfefu;e rFkk eSXuhf'k;e  (2) Øksfe;e rFkk ftad  

 (3) vtsZUVe rFkk ,LVkVhu  (4) ysUFksue rFkk Fkksfj;e  
 

89. The correct order of the increasing ionic character is : 

 c<rs gq, vk;fud y{k.k dk lgh Øe gS % 

 (1) BeCl2 < MgCl2 < CaCl2 < BaCl2   
 (2) BeCl2 < MgCl2 < BaCl2 < CaCl2 
 (3) BeCl2 < BaCl2 < MgCl2 < CaCl2   
 (4) BaCl2 < MgCl2 < CaCl2 < BeCl2 
 

90. Which of the following molecule will not show zero dipole 
moment : 

 fuEu esa ls fdldk f}/kqzo vk?kw.kZ 'kwU; ugha gksrk % 

 (1) CH4 (2) CCl4  (3) CO2 (4) CH2Cl2 
 

91. The beta and alpha glucose have different specific 
rotations. When either is dissolved in water, their rotation 
changes until the some fixed value results. This is called : 

 (1) epimerisation  (2) racemisation   
 (3) anomerisation  (4) mutarotation  

 chVk ,oa ,YQk Xywdksl esa foHksnu fof'k"V ?kw.kZu ds dkj.k ik;k 

tkrk gSaA tc fdlh ,d dks ty esa ?kksyk tkrk gSa] rks buds 

?kw.kZu esa rc rd ifjorZu gksrk jgrk gS tc rd ,d fd dqN 

fuf'pr eku ds ifj.kke ¼mRikn½ izkIr u gks tk;sA bl izØe 

dks dgrs gSaA 

 (1) ,ihejhdj.k  (2) jslsehdj.k   

 (3) ,suksejhdj.k  (4) E;wVkjksVs'ku 
 

92. Product of Gabriel pthalamide reaction is : 
 (1) 1º Amine  (2) 2º Amine   
 (3) 3º Amine  (4) Amide 

 xsfczy FkSykekbM vfHkfØ;k dk mRikn gS & 

 (1) 1º ,ehu   (2) 2º ,ehu   

 (3) 3º ,ehu   (4) ,ekbM 

93. Which of the following will react fastest with Lucas 
reagent? 

 fuEu esa ls dkSu Y;wdkWl vfHkdeZd ls rhozrk ls fØ;k djsxk\ 

 (1) 

 

CH3–C–CH2–OH 

CH3 

CH3 

 

(2) 

 

CH3–CH–CH3 

OH 

  

 (3) 
 

CH3–C–CH3 

CH3 

OH 
  (4) CH3–OH 

94. Reaction of hydrogenbromide with propene in presence of 
peroxide gives: 

 (1) 1-Bromopropane  (2) 2-Bromopropane 
 (3) 1,2-Dibromopropane  (4) 2,2-Dibromopropane 
 ijkWDlkbM dh mifLFkfr esa gkMªkstu czksekbM dh izksihu ds lkFk 

fØ;k ij D;k cukrk gS & 

 (1) 1-czkseksizksisu  (2) 2-czkseksizksisu 

 (3) 1,2-MkbZczkseksizksisu (4) 2,2-MkbZczkseksizksisu 
 

95. Which of the following compound will not give haloform 
reaction with l2 / KOH ? 

 (1) acetaldehyde  (2) 2-propanol   
 (3) pentane-3-one  (4) acetone 
 fuEu esa ls dkSulk ;kSfxd l2 / KOH ds lkFk gSyksQkWeZ vfHkfØ;k 

ugha nsrk gS \ 

 (1) ,sflVsYMhgkbM  (2) 2-izksisukWy   

 (3) isUVsu-3&vksu  (4) ,slhVksu 
 

96. On heating calcium propionate, the product formed is 
 (1) 3-Pentanone  (2) 2-Pentanone 
 (3) 3-Methyl-2-butanone  (4) Propanone 
 dSfY'k;e izksfivksusV dks xeZ djus ij] fufeZr mRikn gS % 

 (1) 3-isUVsukWu  (2) 2-isUVsukWu   

 (3) 3-esfFky-2-C;wVsukWu (4) izksisukWu 
 

97. Which can be obtained as a product directly from aldol 
condensation 

 fuEu essa ls dkSulk mRikn ,YMksy la?kuu vfHkfØ;k ls izR;{k 

izkIr gksrk gSaA 

 (1)  CH3–C 

H 

O 

  (2) 

 
O 

  

 (3)  
O 

CH3–CH=CH–C 

H 

 (4)

 

 O 

CH3 

 

98.  

 In above compound total number of 2º hydrogen atoms 
are : 

 mijksDr ;kSfxd esa 2º gkbMªkstu ijek.kqvksa dh dqy la[;k gS % 

 (1) 3    (2) 18    
 (3) 6    (4) 9 
 

99. Order of Ka of following acids is : 
 fuEufyf[kr vEyksa dks Ka ds Øe esa O;ofLFkr djks % 

 2HC C – CH – COOH

(I)

    2 2CH CHCH COOH

(II)

  3 2CH CH COOH

(III)

 

 (1) I > II > III  (2) II > I > III  
 (3) III > II > I  (4) I > III > II 
 

100. Which of the following can be oxidised to ketone ?  
 (1) t–butyl alcoho l (2) 2–butanol   
 (3) 1–butanol  (4) 2–Propanol 
 fuEu esa ls fdlds vkWDlhdj.k }kjk dhVksu dk la'ys"k.k gksrk gS \ 

 (1) t–C;qVhy ,YdksgkWy (2) 2–C;wVsukWy   

 (3) 1–C;wVsukWy  (4) 2–izksisukWy 
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ANSWER KEY TO SAMPLE TEST PAPER-3 

 
1.  (2)   2.  (2) 3.  (2) 4. (4) 5. (3)  
6. (3)  7. (4) 8. (3) 9. (4)  10.  (3)  
11. (1)  12. (1)  13. (2) 14. (4) 15.   (3)   
16. (2)  17. (4)  18. (3) 19.  (1)  20. (4)  
21. (2)   22. (4) 23. (4)  24. (1) 25. (1)  
26. (1)  27. (3) 28. (3) 29. (1) 30. (2)   
31. (1)  32. (1) 33. (3) 34. (2) 35. (4)  
36. (2)  37. (2) 38. (4) 39. (1) 40. (1) 
41. (2) 42. (1) 43. (1) 44. (2) 45. (2)  
46. (2) 47. (3) 48. (1) 49. (1) 50. (3)  
51. (2) 52. (2) 53. (2) 54. (4) 55. (3)  
56. (1) 57. (3) 58. (4) 59. (2) 60. (3)  
61. (2) 62. (4) 63. (2) 64. (4) 65. (1)  
66. (3) 67. (4) 68. (4) 69. (1) 70. (1) 
71. (4) 72. (3) 73. (4) 74. (3) 75. (3)  
76. (2)  77. (2) 78. (1) 79. (1) 80. (2)  
81. (4)  82. (2) 83. (2) 84. (2) 85. (3)  
86. (3) 87. (4)  88. (1) 89. (1)  90. (4)  
91. (4) 92. (1) 93. (3) 94. (1) 95. (3)  
96. (1) 97. (3) 98. (3) 99. (1) 100. (2) 
  

HINTS & SOLUTIONS TO SAMPLE TEST PAPER-3 
 

41. Internal forces canot change velocity but can do work. 

 vkarfjd cy osx dks ifjofrZr ugh djrs gSa ysfdu dk;Z dj 

ldrs gSA 

42. )k̂3ĵ5î6).(ĵ4î5(s.FW  J102030   

 
49. With rise in current in coil A flux through B increases. 

According to Lenz's law repulsion occurs between A and 
B.  

 dq.Myh A esa /kkjk c<+us ij B ls lEc) pqEcdh; ¶yDl c<+sxk 

rc ysUt ds fu;ekuqlkj A vkSj B ds chp çfrd"kZ.k gksxkA 

 

52. At t = 0 current through L is zero so it acts as open circuit. 
The given figures can be redrawn as follow. 

 t = 0 ij L ls çokfgr /kkjk 'kwU; gksxh blfy, ;g [kqys ifjiFk 

dh rjg O;ogkj djsxk fn;s x;s fp=ksa dks iqu% cukus ij 

 

(i) 

S 

R 

E 

(ii) 

E 

R 

S 

R 

(iii) 

E 

R 

S 

R 

 

 1i 0           2

E
i

R
                  3

E
i

2R
  

 Hence vr% i2 > i3 > i1. 

 

54. 
6

R x –
  

6 30

R 20
   R = 4  

 
 

55. % =
11

22

E

E




  × 100 

 
 
57. Electric lines of force never intersect the conductor. They 

are perpendicular and slightly curved near the surface of 
conductor. 

 fo|qr cy js[kk;sa pkyd dks dkVrh ugha gSaA ;s lnSo pkyd dh 

lrg ds yEcor~ ,oa lrg ds utnhd FkksM+h lh oØh; gksrh gSaA   

 

59. A thick mirror forms a number of images. Image is formed 
by front surface which is unpolished and hence, reflects 
only a small part of light, while second image is formed by 
polished surface which reflects most of intensity. Hence 
second image is brightest. 

 ,d eksVk niZ.k cgqr lkjs izfrfcEc cukrk gS izFke izfrfcEc 

izFke (front) lrg ls curk gS ftldh iksfy'k ugh gksrh gS vr% 

izdk'k dk FkksMk lk Hkkx ijkofrZr gksrk gS] tcfd f}rh; 

izfrfcEc iksfy'k lrg ls curk gS ftlls rhozrk dk vf/kdka'k 

Hkkx ijkofrZr  gksrk gS vr% f}rh; izfrfcEc pedhyk gksrk gSA  

 

60. If path difference  = (SS1 + S1O) – (SS2 + S2O) = n  
n = 0, 1, 2, 3, .... the central fringe at O is a bright fringe 

and if the path difference 
1

n
2

 
   

 
, n = 1, 2, 3, ..... 

the central bright fringe will be a dark fringe.   

 ;fn iFkkUrj  = (SS1 + S1O) – (SS2 + S2O) = n       n = 0, 

1, 2, 3, .... rks O ij dsUæh; fÝat pedhyh gksxh vkSj ;fn 

iFkkUrj 
1

n
2

 
   

 
, n = 1, 2, 3, ..... dsUæh; fÝat dkyh 

gksxhA  

 

62. 
70

11

2 i 2 i
B . 12.56 10

4 r 5.2 10





  
   

 
  

 
3i 1.04 10 A    

 
63. The same force will act on both bodies although their 

directions will be different. 

 nksuksa oLrqvksa ij leku cy vkjksfir gksxk tcfd mudh fn’'kk 

vyx vyx gksxhA  

 

65. 
0 0.i i

. .
4 R 4 R

 


 
  

0 i
. ( 1)

4 R


 


 

 
 
68. For TIR medium at refraction must be rarer. 

 iw.kZ vkarfjd ijkorZu ds fy;s viorhZ ek/;e fojy gksuk 

vko';d gS& 
 

69. q CV  and ,oa 

2
21 q

U CV
2 2C

   

 

70. 
2 6 2 31 1

U CV 50 10 (10) 2.5 10 J
2 2

         

 

71. 
d

d t
 [SO3] = 100 gram / min  

 = 
100

80
 mole / min = 1.25 mole/min. 

 
–1

2
 

d

d t
  [SO2] = 

– d

dt
 [O2] = 

1

2
 

d

d t
  [SO3]  

 
– d

dt
 [O2] = 

1.25

2
 mole/min  

 = 
1.25

2
 × 32 gram/min = 20 gram/min 
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72. 
1

1

V

T
 = 

2

2

V

T
 

 so V2 = 
2

1

T

T
. V1 = 

320

300
 × 600 ml = 640 ml 

 so increment (vr% o`f)) = (640 – 600)ml = 40 ml 

 

73. m = 0.2 mole / kg 

 weight of solvent     =   1000 gram 

 weight  of solute  = 0.2 × 98 = 19.6 gram 

 Total weight of solution = 1000 + 19.6 = 1019.6 ml. 

 

 m = 0.2 eksy / kg 

 foyk;d dk Hkkj =   1000 xzke 

 foys; dk Hkkj = 0.2 × 98 = 19.6 xzke 

 foy;u dk dqy Hkkj = 1000 + 19.6 = 1019.6 ml 

 

74. Osmotic pressure will be same for equimolar solutions if 

Van't Hoff factor is same. 

 leku okUV gkWQ xq.kkad okys leeksyj foy;uksa dk ijklj.k 

nkc leku gksxkA 

 K4[Fe(CN)6]   i = 1 + (n–1)  = 1 + 4 = 5  

 Al2(SO4)3    i = 1 + (n–1)  = 1 + 4 = 5 

  

76. KClO3    KCl + 
3

2
 O2 

 mole or 33.6 litre O2 from 1 mole KClO3  
 11.2 litre of O2 formed by  mole KClO3  

 KClO3    KCl + 
3

2
 O2 

 
3

2
 eksy ;k 33.6 yhVj O2 1 eksy KClO3  ls curk gSA  

 11.2 yhVj O2 curh gS = 
3

2
 eksy KClO3  ls  

 

78.  2HI (g)  H2 + I2 

  n = 2 – 2 = 0 

  Kp = Kc (RT)n 

  Kp = Kc (RT)0 

  Kp = Kc 

 
 

 
79.    C H O 
 mass  24 8 32  

 moles  
24

12
 

8

1
 

32

16
 

 ratio  2 8 2 
    1 4 1  

 Hence emperical formula is CH4O 

gy.    C H O 

 nzO;eku   24 8 32  

 eksy   
24

12
 

8

1
 

32

16
 

 vuqikr  2 8 2 

    1 4 1  

 bl izdkj eqykuqikrh lw=k CH4O gSA 

 

80. 

8

15

c 3 10

8 10


  

 
 = 3.75 × 10–8 m. 

 
81. (1) When the oxide undergoes a phase change, there will 

be an increase in the entropy of the oxide. 

 (2) It is true statements, HgO 


  Hg + 1/2O2  
 (3) For a reduction process the change in the free energy, 

G0 must be negative and to make G0 negative 

temperature should be high enough so that TS0 > H0.  
  

 (1) tc ,d vkWDlkbM voLFkk ifjorZu ls xqtjrk gS rc 

vkWDlkbM dh ,UVªkWih esa o`f) gksxhA  

 (2) ;g ,d lgh dFku gSaA HgO 


  Hg + 1/2O2  

 (3) ,d vip;u çØe ds fy, eqDr ÅtkZ ifjorZu G0 

_.kkRed gksuk pkfg, rFkk G0 dks _.kkRed cukus ds fy, 

rkieku i;kZIr mPp gksuk pkfg, ftlls  TS0 > H0 gksA    

 

82. Mole of Fe deposited = 
1

2
 × 3 = 1.5 mole 

 WFe = 1.5 × 56 = 84 gm.  

 Fe ds fu{ksfir eksy = 
1

2
 × 3 = 1.5 eksy 

 WFe = 1.5 × 56 = 84 gm.  
  = 1.59V Ans. 
 

83. SO3
2– + 2H+   SO2

 + H2O 

 5SO2 + 2O3
– + 4H2O   2 + 5SO4

2– + 8H+ 

 Ba(OH)2 + SO2   BaSO3 + H2O 
 
84. Steric number of Xe = 5 + 1 (bond pair + lone pair) 
 Hence hybridization will be sp3d2 and shape will be square 

pyramidal.  

 Xe dh LVhfjd la[;k (Steric number) = 5 + 1 (ca/k ;qXe + 

,dkdh ;qXe) 

 vr% ladj.k sp3d2 gksxk rFkk vkd`fr oxkZdkj fijkfefMy gksxhA 

 

 

87. When we move along a group the size increases and 
across a period size decreases.  

gy % tc ge ,d lewg ¼oxZ½ esa Åij ls uhps tkrs gS rc vkdkj 

c<+rk gS rFkk ,d vkorZ esa ck;sa ls nk;sa tkus ij vkdkj ?kVrk 

gSA 

 
88. The elements of s-block and p-block are collectively 

known as representative elements. 
 Al – p-block element and Mg – s-block element.  
 Cr – d-block element and Zn – d-block element. 
 Ag – d-block element and At – p-block element.  
 La – f-block element and Th – f-block element. 

 s-CykWd rFkk p-CykWd ds rRoksa dks la;qDr :i ls izfrfuf/k rRo 

dgrs gSaA  

 Al – p-CykWd rRo rFkk Mg – s-CykWd rRo   

 Cr – d-CykWd rRo rFkk Zn – d-CykWd rRo  

 Ag – d-CykWd rRo rFkk At – p-CykWd rRo   

 La – f-CykWd rRo rFkk Th – f-CykWd rRo 
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89. As size of cations increase, their polarising power 

decrease and thus ionic character increase.  

 /kuk;u dk vkdkj c<+us ls mldh /kqzoh;dj.k {kerk ?kV tkrh 

gS vr% vk;fud y{k.k c<+ tkrk gSA   

 
90. CH2Cl2 will have resultant dipole moment. Rest all have 

symmetrical structure and so , zero dipole moment. 

 CH2Cl2 ifj.kkeh f}/kqzo vk?kw.kZ j[ksxkA 'ks"k lHkh lefer lajpuk 

j[krs gS rFkk blfy, 'kwU; f}/kqzo vk?kw.kZ gksxkA 

 

91. The  and -glucose have different  rotations. When either 
is dissolved in water, their rotation changes until the some 
fixed values results. This is called mutarotation. 

  - D - glucose (+111°)  open chain at equilibrium             

(+ 52.5°)   - D - glucose (+19.2°)  

  rFkk -Xywdksl fHkUu ?kw.kZu n'kkZrs gSaA tc budks ty esa 

?kksyk tkrk gS budk ?kw.kZu dqN fLFkj eku ds lkFk ifjofrZr 

gksrk gSA ftls ifjorhZ ?kw.kZu (mutarotation) dgrs gSA  

  - D - Xywdksl (+111°)  lkE; ij [kqyh Ja`[kyk dk fof'k"V 

?kw.kZu (+ 52.5°)   - D - Xywdksl (+19.2°) 

 
92. Only 1º Amine is produced by Gabriel pthalamide reaction. 

 dsoy 1º ,ehu xsfczy FkSykekbM vfHkfØ;k nsrk gSA 

 
93. Lucas reagent react with alcohol order of rate of reaction 

is 3º > 2º > 1º Alcohal. 

 Y;wdkWl vfHkdeZd ,YdksgkWy ls fuEu vfHkfØ;k dh nj ds Øe 

esa fØ;k djrk gSA 3º > 2º > 1º ,YdksgkWyA 

 
95. pentane-3-one does not give haloform reaction with Cl2/ 

KOH. 

 isUVsu-3&vksu  Cl2/KOH ds lkFk gSyksQkWeZ vfHkfØ;k ugha nsrk 

gSA 

 

96. 223 O–C–CHCH
||
O















Ca


 3223 CH–CH–C–CH–CH
||
O

+CaCO3 

 
 

97. Aldol condensation reaction yield -hydroxy 

aldehyde/ketiones or ,-unsaturated carbonyl 
compounds. 

 

98. 

 
 

99. On the basis of I effect. ¼I izHkko ds vk/kkj ij½ 

 
100. 2º  alcohol on oxidation gives ketone.  

 2º ,YdksgkWy ds vkWDlhdj.k ls dhVksu izkIr gksrk gSA  
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